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ljlzi6Ls/0f tflnsf -;}4flGts d"Nofª\sg_ 

ljifo M clgjfo{ ul0ft sIff M 9 and 10

k"0ff{ª\s M 75 ;do M 3 306f

S.N. Areas 

Total 

working 

hour 

Knowledge Understanding Application Higher ability Total 

number 

of items 

Total 

number 

of 

questions 

Total 

Marks Number 

of items 
Marks 

Number 

of items 
Marks 

Number 

of items 
Marks 

Number 

of items 
Marks 

1. Sets 12 1 1 1 1 1 3 1 1 4 1 6 

2. Arithmetic 28 2 2 2 3 3 5 2 3 9 3 13 

3. Mensuration 28 2 2 2 3 2 5 2 3 8 3 13 

4. Algebra 32 2 2 2 4 3 7 1 2 8 3 15 

5. Geometry 28 2 2 2 3 2 5 2 3 8 3 13 

6. 
Statistics and 

Probability 
24 2 2 2 3 2 4 2 2 8 2 11 

7. Trigonometry 8 1 1 1 1 1 1 1 1 4 1 4 

160 12 18 30 15 49 16 75 

b|i6Jo 

▪ k|Zgkq lgdf{0f ubf{ k|To]s If]qdf / ;du|df 1fg, af]w, k|of]u / pRr bIftfsf nflu tf]lsPcg';f/sf ef/ ldn]sf] x'g'kb{5 . t/ ;+1fgfTds txdf @ cª\s;Dd

36a9 x'g ;Sg] 5 .

▪ ;Gbe{ lbP/ k|Zgx¿ lgdf{0f ug'{kg]{ 5 . k|To]s k|Zgdf PseGbf a9L ;+1fgfTds txsf pkk|Zgx¿ ;dfj]z ug{ ;lsg] 5 .

▪ Application / higher ability txsf k|Zg lgdf{0f ubf{ ;DalGwt If]qsf cnfjf cGo If]qsf ljifoj:t';Fu ;DalGwt k|Zgx klg /xg ;Sg] 5g\ .

▪ x/]s If]qcGtu{t /x]sf ;a} pkIf]qsf ljifoj:t' ;dfg'kflts ¿kdf ;dfj]z x'g] u/L k|Zgx¿ lgdf{0f ug'{kg]{ 5 .
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Model Question Paper 

2080 

Subject: Mathematics Full Marks:75 

Time: 3 hrs. Grade: Ten 

;a} k|Zgx? clgjfo{ 5g\ . (All the questions are compulsory.) 

1.  >L zf/bf dfWolds ljBfnosf] sIff 10 df cWoog/t ljBfyL{x?nfO{ kf]v/f, n'lDagL / OnfddWo] s'g 7fpFdf
z}lIfs e|d0f hfg pko'St x'G5 egL ul/Psf] ;j]{If0fdf 40 hgfn] kf]v/f, 30 hgfn] n'lDagL / 45 hgfn]
Onfd hfg pko'St x'g] atfP . pSt sIffsf 15 hgf ljBfyL{x?n] tLg} cf]6f 7fFp pko'St x'g] atfpFbf 5
hgfn] s'g} /fo g} AoSt u/]gg\ .
-s_ P, L / I n] j|mdzM kf]v/f, n'lDagL / Onfd pko'St x'G5 eGg] ljBfyL{x?sf] ;ª\VofnfO{ hgfpF5 eg]
;a} 7fpF pko'St x'G5 eGg] ljBfyL{sf] ;d"xnfO{ u0fgfTdstf ;ª\s]tdf n]Vg'xf];\ . [1K] 
-v_ dfflysf] hfgsf/LnfO{ e]g lrqdf k|:t't ug'{xf];\ .  [1U]       
-u_ zf/bf dfWolds ljBfnodf sIff 10 df slt hgf ljBfyL{ cWoog/t /x]5g\ < u0fgf ug'{'xf];\ .

[3A] 
-3_ olb ;j]{If0fdf /fo g} AoSt gu/]sf 5 hgf ljBfyL{n] n'lDagL pko'St :yfg xf] eg]sf] eP kf]v/f dfq 
pko'St :yfg eGg] / n'lDagL dfq pko'St :yfg eGg] ljBfyL{x?sf] cg'kft slt x'g] lyof] <  [1HA] 

2. lalkgn] 2 jif{sf nfuL ? 1,00,000 s'g} Pp6f a}+sdf hDdf ug{ rfx]sf 5g\ . a}+sn] k|ltjif{ 10% rlqmo
Jofhb/sf b/n] lalkgnfO{ tLgcf]6f ljsNkx? -aflif{s rj|mLo Aofh, cw{aflif{s rj|mLo Aofh / q}dfl;s
rj|mLo Aofh_ lbPsf] 5 .
-s_ dflysf tLg ljsNkdWo] s'g ljsNk k|of]u ubf{ lalkgnfO{ a9L Aofh k|fKt x'G5 < n]Vg'xf]; .   [1K]
-v_ pgn] 2 jif{sf] cGTodf cw{jflif{s rs|Lo Aofh cg';f/ slt rlj|mo ld>wg k|fKt ug{ ;S5g\ <     [2U]
-u_ lalkgn] 1 jif{sf] cGTodf cw{jflif{s rs|Lo Aofh cg';f/ k|fKt ePsf] hDdf /sd lems]/ k'g q}dfl;s
rs|Lo Aofh kfpg] u/L afFsL cjlwsf] nflu hDdf u/]5g\ eg] cGTodf slt /sd kfpF5g\ < [2A] 

3.  ;fhgn] cfFkm";Fu ePsf]] ? 1,00,00,000 af6 ?= 30,00,000 sf] sf/ / ?= 70,00,000 sf] hUuf lsg]5g\ .
2 jif{;Dd sf/sf] d"No jflif{s 5 % sf b/n] rs|Lo x|f; x'Fb} uP5 eg] hUufsf] d"No lglZrt k|ltztsf]
rlj|mo j[l4 x'b} uPsf] 5 .
-s_ rs|Lo x|f; lgsfNg] ;"q n]Vg'xf];\ . [1K] 
-v_ 2 jif{kl5 pQm sf/sf] d"No slt k'U5, kQf nufpg'xf];\ .  [1U] 
-u_ 2 jif{kl5 sf/ / hUufsf] hDdf d"No ?= 1,05,72,700 eof] eg] hUufsf] d"Nodf slt k|ltztsf] rs|Lo

a[l4 ePsf] /x]5 < u0fgf ug'{xf];\ . [2HA] 

4.  k|ljgn] ljb]z hfgsf nflu cd]l/sL 8n/ ;f6\g a}ª\s uof] . pSt lbgsf] d'›f ljlgdo b/ cg';f/ cd]l/sg
8n/ 1 sf] vl/b b/ g]=? 131.05 / ljs|L b/ g]=?= 131.65 5 .
-s_ k|ljgn] g]kfnL ?k}ofF 1,57,980 sf] cd]l/sL 8n/ ;f6\bf slt 8n/ kfp5g\ <   [2A]
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-v_ k|ljg 3/fo;L sf/0fn] ljb]z hfg g;Sg] ePkl5 ;f]xL lbg pgLn] ;f6]sf] 8n/af6 slt g]kfnL ?k}of 
k|fKt ub{5g\ <             [1A] 

-u_ k|ljgn] u/]sf] sf/f]jf/af6 pgnfO{ slt ?lkofF gfkmf jf gf]S;fg s] x'G5 sf/0f ;lxt k'li6 ug'{{xf];\ . 
[1HA] 

5. ju{ cfwf/ ePsf] lk/fld8sf] prfO 12 cm / cfwf/ e'hfsf] gfk 10 cm 5 .

-s_ ju{ cfwf/ ePsf] lk/fld8df sltcf]6f lqe'hfsf/ ;txx? x'G5g\ < [1K] 

-v_ pQm lk/fld8sf] cfotg slt x'G5, kQf nufpg'xf];\ .  [1U] 

-u_ lqe'hfsf/ ;txx?df k|ltju{ ;]dL 1.50 k};fsf b/n] /ª nufpFbf hDdf slt vr{ nfU5, kQf nufpg'xf];\

. [2A] 

6. cw{uf]nf / ;f]nL ldn]/ ag]sf] wft'sf] 7f]; j:t' lbOPsf] 5 . ;f]nLsf] prfO 10 cm
/ cfwf/sf] Jof; 6 cm 5 . [π = 3.14]

-s_ ;f]nLsf] prfO / cfwf/sf] cw{Jof; lbPsf] cj:yfdf 58s] prfO s;/L kQf 
nufOG5 < n]Vg'xf];\ . [1K] 

-v_ pSt 7f]; j:t'sf] cfotg kQf nufpg'xf];\ .  [2U] 

-u_ pSt wft'sf] 7f]; j:t'nfO{ kufn]/ 3 cm cw{Jof; ePsf] a]ngfsf/ j:t'df 
kl/0ft ul/of] eg] pQm a]ngfsf] prfO slt x'G5 < u0fgf ug'{xf];\ . [1HA] 

7. b'O{ kl/jf/n] kfgL lkpgsf nflu agfOPsf] cfotsf/ 6\ofª\sLsf] leqL nDafO, rf}8fO / prfO j|mdzM
3 m, 1.5 m / 1.6 m 5 . 

 -s_ pQm 6\ofª\sLsf] leqL rf/cf]6f leQfdf k|lt 3 ju{ld6/ ?= 100 sf b/n] /ª nufpFbf hDdf slt vr{ 
nfU5 < u0fgf ug'{xf];\ .         [3A] 

-v_ pSt el/Psf] 6\ofª\sLsf] kfgL pkef]u u/]afkt b'j} kl/jf/n] a/fa/ /sd lt5{g\ . k|ltln6/ 50 k};fsf 
b/n] Ps kl/jf/n] slt /sd ltg'{knf{ <       [2HA] 

8. cGh'n] 5f]/Lsf] v'q's]df cl3Nnf] lbgsf] bf]Aa/ x'g] u/L /sd hDdf ul5{g\ . pgLn] klxnf] kfFr lbgdf hDdf
u/]sf] /sd tnsf] tflnsfdf b]vfOPsf] 5 .

klxnf] lbg 
First day 

bf];|f] lbg 
Second day 

t];|f] lbg 
Third day 

rf}yf] lbg 
Forth day 

kfrf} lbg 
Fifth day 

?= 5 ?= 10 ?= 20 ?= 40 ?= 80 
-s_ cGh'n] 5f]/Lsf] v'q's]df hDdf u/]sf] /sdaf6 ag]sf] cg'j|md ;dfgfGt/Lo jf u'0ff]Q/ s'g xf] <[1K] 
-v_ oxL j|mddf /sd hDdf ub}{ hfg] xf] eg] 10 cf}F lbg ;Dd v'q's]df slt /sd hDdf x'G5 < [2U] 
-u_ Dfflys} cg's|d cg';f/ /sd hDdf ug]{ xf] eg] v'q's]df ?= 20000 k'of{pg 10 cf}F lbgkl5 yk 2 lbg 

eP k'Unf < sf/0f ;lxt n]Vg'xf];\ .       [2HA] 
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9. Pp6f cfotfsf/ v]tsf] nDafO rf}8fOsf] bf]Aa/ 5 / To;sf] If]qkmn 72 ju{ ld6/ 5 .

-s_ ju{ ;lds/0fsf] :t/Lo :j?k n]Vg'xf];\ .    [1K] 

-v_ pQm v]tsf] nDafO / rf}8fO kQf nufpg'xf];\ .  [3A] 

-u_ pQm cfotfsf/ v]tdf (6×3) ju{ ld6/sf slt cf]6f 6\s|fx? tof/ ug{ ;lsPnf < u0fgf ug{'xf];\ . 
[1A] 

10. -s_ xn ug'{xf];\ (Solve.):

25x - 6 ´ 5x + 5 = 0 [3A]
     -v_ ;/n ug'{xf];\ (Simplify.): 

 !"#
!$#

+ %$&
%"&

− %!"&!

%!$&!
 [2U] 

11. ;Fu}sf] lrqdf lqe'h LMZ, ;dfgfGt/ rt'e'{hx? XYZM / NLZM Pp6} cfwf/ MZ / pxL ;dfgfGt/
/]vfx? MZ / XL sf aLrdf ag]sf 5g\ .

-s_ ;dfgfGt/ rt'e'{h XYZM / ;dfgfGt/ rt'e'{h 

NLZM sf] If]qkmn aLrsf] ;DaGw n]Vg'xf];\ . [1K] 
-v_  lqe'h MLZ sf] If]qkmn ;dfgfGt/ rt'e'{h NLZM 

sf] If]qkmnsf] cfwf x'G5 egL k|dfl0ft ug'{xf];\ . 
[2U] 

-u_ ;Fu}sf] lrqdf AB//CE / AC//DE 5 . olb AB sf] 

dWolaGb' D 5 eg] DDBC sf] If]qkmn DCDE  sf] 
If]qkmn;Fu a/fa/ x'G5 egL k|dfl0ft ug'{xf];\ .  
[2HA]  

12.  s]Gb|ljGb' O ePsf] j[Qdf Pp6} rfk LP df cfwfl/t s]lGb|o sf]0f ÐLOP , kl/lwsf sf]0fx? ÐLMP / 
ÐLNP 5g\ .  

-s_ kl/lwsf sf]0fx? ÐLMP / ÐLNP larsf] ;DaGw n]Vg'xf];\ .     [1K] 

-v_ s]lGb|o sf]0fsf] gfk (9x+2)º / kl/lw sf]0fsf] gfk (4x+5)º eP x sf] dfg kQf nufpg'xf];\ .  [1U] 

-u_ kl/lwsf sf]0fx? ÐLMP / ÐLNP larsf] ;DaGw k|of]ufTds ?kdf k'li6 ug'{xf];\ . 
-slDtdf 3 cm cw{Jof; ePsf b'O{cf]6f j[Qx? cfjZos 5g\ ._ [2A] 

A 

C 

D B 

E 

X Y 

M Z 

N L 
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13. -s_ e'hf PQ = 7 cm, QR = 5 cm / ÐPQR = 120º  x'g] lqe'h PQR sf] /rgf u/L pSt lqe'hsf] 
If]qkmn;Fu a/fa/ If]qkmn x'g] lqe'h SQR sf] /rgf ug'{xf];\ .    [3A]
-v_ lbOPsf] lrqdf BC = CD / AE//BD 5 eg] lqe'h ABC

/ lqe'h BDE larsf] ;DaGw sf/0f ;lxt n]Vg'xf];\ . 
[1HA] 

14. lrqdf b]vfPcg';f/ AB = 10.45m prfOdf /x]sf] afFb/n] CD = 1.45 m prfO ePsf] s]6fnfO{ x]bf{
cjgtL sf]0f 45o ag]sf] 5 .
-s_ s]6fn] afFb/sf] b[li6laGb'df x]bf{ pGgtfz+ sf]0f slt

kfpF5 < 
 [1K] 

-v_ afFb/sf] b[li6laGb' s]6fsf] prfO eGbf slt ld6/n] 
dfly 5, kQf nufpg'xf];\ .  [1U] 

-u_ ?vb]lv s]6f;Ddsf] b'/L kQf nufpg'xf];\ . 
[1A] 

-3_ afFb/n] s]6fnfO{ x]bf{ cjgtLsf]0f 30o  agfpg afFb/ 
clxn]sf] :yfgaf6 slt ld6/ tn jf dfyL hfg' k5{ <

[1HA] 

15. hgtf dfWolds ljBfnosf 40 hgf ljBfyL{n] ul0ft ljifodf k|fKt u/]sf] k|fKtfª\snfO{ tnsf] tflnsfdf
lbOPsf] 5 .

-s_ dlWosf kQf nufpg] ;"q (Md)  = L +  
!
" 	"	#.%

%
	× i	 df i n] s] hgfpF5 . [1K] 

-v_ lbOPsf] tYofª\saf6 dlWosf kQf nufpg'xf];\ . [2U] 
-u_ lbOPsf] tYofª\saf6 cf}ift k|fKtfª\s u0fgf ug'{xf];\ .  [2A] 
-3_ ljBfyL{x?sf] cf};t k|fKtfª\s 30 agfpg 50-60 juf{Gt/sf ljBfyL{ ;ª\Vof slt x'g' k5{ < u0fgf u/L 

n]Vg'xf];\ . [1HA] 
16. /fd|f];Fu lkml6Psf] 52 kQL tf;sf] u8\8Laf6 gx]l/sg b'O{cf]6f tf;x? Pskl5 csf]{ u/L k'g: g/fvLsg

lemlsPsf] 5 .

k|fKtfª\s (Marks) 0 -10 10-20 20-30 30-40 40-50 50-60 
ljBffyL{ ;ª\Vof (No of Students)    4    6 8    5    7  10 

E 

10
.4

5m
 

A 

C 
D B 

E 

A 

B 

E 

C 

D 

1.
45

 m
 

45º 

10
.4

5 
m
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-s_ olb A / B b'O{ cf]6f cgfl>t 36gfx¿ x'g\ eg] P(AÇB) kQf nufpg] ;"q s] x'G5, n]Vg'xf];\ . [1K] 

-v_ b'j} tf; cg'xf/ ePsf] kg]{ ;DefJotf slt x'G5, kQf nufpg'xf];\ .  [1U] 

-u_ cg'xf/ ePsf] tf; kg]{ / gkg]{ ;a} ;Defljt kl/0ffdx?sf] ;DefAotfnfO{ j[Iflrqdf b]vfpg'xf];\ . 
[2A] 

-3_ olb b'O{cf]6f tf;x? Pskl5 csf]{ u/L k'g: /fVbf b'j} tf; cg'xf/ ePsf] kg]{ ;DefJotf b'j} tf; PSsf 
kg]{ ;DefJotf eGbf slt u'0ff a9L x'G5 <      [1HA] 
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ljlzi6Ls/0f tflnsf @)*) 

sIff !) 

 ljifo M g]kfnL 

k"0ff{ª\s M &%            ;do M # 306f 

 

j|m=;= If]q -k9fO / 

n]vfO_ 

k/LIf0fLo kIf 1fg af]w k|of]u pRr 

bIftf 

k|Zg ;ª\Vof / cª\sef/ 

 

:ki6Ls/0f 

 

 

 

 

k|Zg 

;ª\Vof 

pQ/ 

n]Vg'kg]{  

k|Zg 

;ª\Vof 

 

cª\s 

ef/ 

 

!=  zAbe08f/ zAbfy{ 

 

 

 

!    ! ! @ kf7df k|of]u ePsf s'g} $ cf]6f zAb  

-tT;d @, tb\ej !, cfuGt's !_ / ltgsf] cy{ 

lbO{ hf]8f ldnfpg nufpg] 

 

zAb klxrfg 

!    ! ! @ cg'R5]baf6 kof{ojfrL zAb !, ljk/LtfyL{ zAb ! 

cg]sfyL{÷>'lt;dleGgfyL{ zAbdWo] ! / l;ª\uf] 

zAb÷;d"xjfrL÷n3'tfjfrL zAbdWo] ! zAb 

klxrfg u/L n]Vg nufpg] 

jfSo /rgf 

 

 

  !  ! ! @ cg'R5]baf6 pvfg jf 6'SsfdWo] s'g} ! / 

cg's/0ffTds jf k|fljlws÷kfl/eflifsdWo] ! zAb 

klxrfg u/L cg'R5]bsf] eGbf km/s jfSodf 

k|of]u ug{ nufpg] 

@= j0f{ljGof; z'4 zAb 

klxrfg 

 

!    ! ! ! kf7df k|of]u ePsf a÷j, z÷if÷;, k~rd j0f{, 

…/Ú sf ljljw ¿k k|of]u ePsf zAb ;d"xdWo] 

s'g} @ cf]6f zAb ;d"xaf6 zAb klxrfg u/L 

n]Vg nufpg] 
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jfSo ;Dkfbg 

 

 

  !  ! ! @ Pp6f zAbdf Pp6f dfq cz'l4 kg]{ u/L x|:j !, 

bL3{ !, n]Vo lrx\gdWo]af6 !, kbof]u÷kbljof]u, 

rGb|laGb'÷lz/laGb', o÷P, 5\o÷If, UoF÷1 dWo] ! 

kg]{ u/L cz'4 jfSo lbO{ z'4 kf/]/ n]Vg nufpg] 

#= eflifs 

;+/rgf 

kbju{ klxrfg 

 

!    ! ! # a9Ldf $ jfSo lbP/ gfd, ;j{gfd, ljz]if0f, 

lj|mofkbaf6 $ / lj|mofof]uL, gfdof]uL, ;+of]hs, 

lj:doflbaf]ws, lgkftaf6 @ cf]6f zAb kg]{ u/L 

/]vfª\lst u/L kbsf] ju{ klxrfg ug{ nufpg]  

-o;df s'g} Ps zAb kbju{ ljrng ePsf] lbg]_ 

zAblgdf{0f   !  @ @ $ -s_ a9Ldf # jfSo;Ddsf] cg'R5]b lbO{ 

cg'R5]baf6 @ cf]6f pk;u{ / @ cf]6f k|Too 

Jo'TkGg zAb klxrfg u/L lgdf{0f k|lj|mof;d]t 

b]vfpg nufpg]  

-o;/L k|Zg lgdf{0f ubf{ kf7\oj|mdn] lgb]{z u/]sf 

pk;u{ / k|Tooleqaf6 kg]{ u/L ;f]Wg]_ 

-v_ a9Ldf # jfSo;Ddsf] cg'R5]b lbO{ 

cg'R5]baf6 Pp6f ;d:t zAb klxrfg u/L lju|x 

ug]{ / Pp6f lju|x kbfjnL klxrfg u/L ;d:t 

zAb agfpg] / låTj eP/ ag]sf s'g} @ zAb 

klxrfg u/L lgdf{0f k|lj|mof b]vfpg nufpg]  

sfn / kIf   !  ! ! @  sfnsf s'g} Ps kIfsf $ jfSosf] cg'R5]b lbO{ 

lgb]{zgcg';f/ kl/jt{g ug{ nufpg]  

efj÷cy{   !  @ !  @ s'g} @ k|Zg ;f]wL ! sf] pQ/ n]Vg nufpg] 

-s_ zLif{s lbP/ lj|mofsf] efj÷cy{  

-;fdfGofy{, OR5fy{, ;ª\s]tfy{, ;Defjgfy{ / 

cf1fy{_ dWo] s'g} Pssf] k|of]u u/L $ jfSodf 

j0f{g ug{ nufpg]  

 

-v_ lnª\u, jrg, k'?if / cfb/dWo] s'g} ! af6 

cg'R5]b lbO{ lgb]{zgcg';f/ cg'R5]b k'gn]{vg ug{ 

nufpg]  
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jfSofGt/0f 

 

 

  !  ! ! $ ;+Zn]if0f÷ljZn]if0f !, jfRoaf6 !, k|]/0ffy{saf6 

!, k|ToIf syg÷ck|ToIf sygaf6 ! jfSo kg]{ 

u/L $ k|Zg lbO{ sf]i7ssf] lgb]{zgsf cfwf/df 

jfSo kl/jt{g ug{ nufpg] 

 $= k7gaf]w  Efflifs ;+/rgf 

klxrfg / k|of]u 

-b[i6f+z_ 

  !  ! ! $ kf7\ok':tsdf ;dflji6 uB ljwfaf6 a9Ldf !@% 

zAb;Ddsf] cg'R5]b lbO{  

-s_ uBf+zaf6 s/0f jf cs/0f jfSo lbO{ jfSo 

kl/jt{g ug{ nufpg] 

-v_ sf/s / ljelSt k|of]u ePsf] s'g} zAbnfO{ 

/]vfª\sg u/L sf/s / ljelSt b'j} klxrfg ug{ 

nufpg]  

-u_ uBf+zsf] s'g} jfSo lbO{ p2]Zo / ljw]o 

klxrfg ug{ nufpg] jf s'g} cfnª\sfl/s 

jfSo÷c+z lbO{ Jofs/l0fs kbj|mddf kl/jt{g ug{ 

nufpg] jf Jofs/l0fs kbj|md ldn]sf] jfSo lbO{ 

cfnª\sfl/s kbj|mddf jfSo kl/jt{g ug{ nufpg]  

-3_ uBf+zsf] s'g} Pp6f jfSo lbO{ ;/n, ;+o'St / 

ld>dWo] j'mg} Psdf kl/jt{g ug{ nufpg]  

 

 

af]w k|Zgf]Q/ 

-cb[i6f+z_ 

 !   ! ! $ a9Ldf !%) zAb;Ddsf] cg'R5]b  

-cb[i6f+z_ lbO{ ! jf @ jfSodf pQ/ cfpg] 

tYok/s, ;Gbe{af]ws, k|ltlj|mofaf]wsaf6 

sDtLdf !÷! k|Zg kg]{ u/L $ cf]6f k|Zg;f]w]/ 

pQ/ n]Vg nufpg]  

%= lgb]{lzt 

/rgf  

syf÷hLjgL  jf 

jfbljjfb÷ 

;+jfb÷dgf]jfb 

   

 

 

! 

 

 

@ 

 

! 

 

$ 

a'Fbfsf cfwf/df syf÷hLjgLaf6 ! /  

jfbljjfb÷;+jfb÷dgf]jfb dWo]af6 ! u/L @ cf]6f 

k|Zg ;f]wL s'g} ! k|Zgsf] pQ/ n]Vg nufpg] 

^= Jofjxfl/s 

n]vg 

sfof{noLo 

lr7L÷lgj]bg÷J

ofj;flos 

lr7L÷;Dkfbsnf

O{ lr7L,  

;dfrf/ n]vg÷ 

  !  @ ! $ sfof{noLo lr7L÷lgj]bg÷Jofj;flos 

lr7L÷;DkfbsnfO{ lr7LdWo]af6 ! / ;dfrf/ 

n]vg÷ lj1fkg÷lgdGq0ffkq n]vgaf6 ! u/L @ 

cf]6f k|Zg ;f]wL s'g} ! k|Zgsf] pQ/ n]Vg 

nufpg] 
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lj1fkg÷ 

lgdGq0ffkq 

&= a'Fbf l6kf]6  

-b[i6f+z_ 

a'Fbf l6kf]6     ! ! ! @ kf7\ok':tsdf ;dflji6 uB ljwfsf kf7af6 

a9Ldf !)) zAb;Ddsf] uBf+z lbO{ $ cf]6f a'Fbf 

l6kf]6 ug{ nufpg]  

*= ;f+/fz n]vg 

 -b[i6f+z_ 

;f+/fz n]vg    ! ! ! # kf7\ok':tsdf ;dflji6 uB ljwfsf kf7af6 

a9Ldf !)) zAb;Ddsf] uBf+z lbO{  

Ps t[tLof+zdf ;f/f+z n]Vg nufpg]  

(= kf7ut af]w af]w pQ/ n]vg  !   @ @ $±$ -s_ kf7\ok':tssf syf jf sljtf ljwfaf6 s'g} 

c+z lbP/ ;Gbe{, ljifoj:t', kl/j]z, ;Gb]z, ts{, 

kfqsf] rl/q, t'ngf cflbdf cfwfl/t %÷^ 

jfSodf pQ/ cfpg] vfnsf @ cf]6f k|Zg ;f]wL 

pQ/ n]Vg nufpg]  

-v_ kf7\ok':tssf lgaGw jf hLjgL jf ¿ks 

ljwfaf6 s'g} k|;ª\usf] Ps cg'R5]b lbP/ ;Gbe{, 

ljifoj:t', kl/j]z, ;Gb]z, ts{, rl/q tyf 

:jefjdf cfwfl/t %÷^ jfSodf pQ/ cfpg] 

vfnsf @ cf]6f k|Zg ;f]wL pQ/ n]Vg nufpg]  

tfls{s pQ/ 

n]vg 

   ! ! ! $ kf7\ok':tsdf k|o'St kf7sf zLif{s÷kfq÷rfl/lqs 

ljz]iftf÷ 

;Gbe{÷36gf÷kl/j]z÷;d:of÷cg'dfgdf 

cfwfl/t s'g} ! k|Zg ;f]wL tfls{s pQ/ n]Vg 

nufpg]  

!)=  efjlj:tf/÷ 

JofVof 

Effj lj:tf/÷ 

JofVof 

   ! @ ! $ kf7\ok':tsdf ePsf kf7af6 s'g} @ cf]6f kª\lSt 

lbO{ s'g} ! sf] efj lj:tf/ jf JofVof ug{ 

nufpg] 

 

!!= ;dLIffTds 

pQ/ 

;dLIffTds pQ/ 

n]vg 

   ! @ ! & kf7\ok':tsdf k|o'St syf, sljtf, hLjgL, lgaGw 

/ Psfª\sL ljwfsf kf7dWo] km/s km/s @ 

ljwfaf6 ;Gbe{ lbO{ ;dLIffTds pQ/ cfpg] @ 
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cf]6f k|Zg ;f]w]/ s'g} ! k|Zgsf] pQ/ n]Vg 

nufpg] 

!@= lgaGw n]vg 

lgaGw n]vg    ! # ! & cfTdk/s ! / j:t'k/s @ kg]{ u/L s'g} # zLif{s 

lbO{ s'g} ! zLif{sdf !%) zAb;Ddsf] lgaGw 

n]Vg nufpg]  

k|Zg agfpFbf kf7 gbf]xf]l/g] u/L agfpg'kg]{ 5 .  

sIff ( sf nflu k|Zgkq lgdf{0f ubf{ sIff !) sf] ljlzi6Ls/0f tflnsfnfO{ cfwf/ dfgL sIff ( sf ;a} ljifoIf]q ;d]6\g] u/L k|Zg lgdf{0f ug'{kg]{ 5 . 

 

b|i6Jo  

-s_ 1fg M ljlzi6 tYo, k|fKt ;"rgf, k'gM :d/0f / k|ltlj|mofsf] d"Nofª\sg ug]{ vfnsf k|Zg o;cGtu{t ;f]lwg] 5g\ . 

-v_ af]w M ljBfyL{n] l;sfOsf j|mddf af]w u/]sf s'/fsf] d"Nofª\sg ug]{ vfnsf k|Zg o;cGtu{t ;f]lwg] 5g\ . 

-u_ k|of]u M o;df k|of]u ug]{, ;+of]hg ug]{ / Jofjxfl/s Ifdtf;DaGwL k|Zg ;f]lwg] 5g\ . 

-3_ pRr bIftf M JofVof, ljZn]if0f, ts{ / ;dLIff h:tf Ifdtf;DaGwL k|Zg o;cGtu{t ;f]lwg] 5g\  
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        gd'gf k|Zg 

sIff M !) 

ljifo M g]kfnL       

    k"0ff{ª\s M &%  

    ;do M # 306f  

lbOPsf ;a} k|Zg clgjfo{ 5g\ . 

!= ;d"x …sÚ df lbOPsf zAbsf] cy{ ;d"x …vÚ af6 klxrfg u/L hf]8f ldnfpg'xf];\ M  -@_ 

;d"x …sÚ ;d"x …vÚ 

nah k|ltzf]wsf efjgfn] dgdf p7\g] å]if 

Jou| v/fa glthf 

Ov cg's/0f, xfpefp 

cfef Jofs'n, ljx\jn 

 s'g} j:t' cflbdf b]vf kg]{ rds 

 af]nL  

 

@= lbOPsf] cg'R5]baf6 pko'St zAb klxrfg u/L vfnL 7fpF eg'{xf];\ M  -@_ 

xfdL a;f]af; ub}{ cfPsf] o; hut\df klg gbL, j[If, ;"o{, rGb| ;a}n] s;}nfO{ s]xL g s]xL lbO{ k/f]ksf/L sfo{ u/]/ st{Jo k"/f 

u/]sf 5g\ . gbLn] hn lbP/, j[Ifn] kmnk"mn lbP/, ;"o{n] tfk lbP/ / rGb|dfn] zLtntf lbP/ cfk\mgf] st{Jo k"/f u/]sf 5g\ . 

o;af6 st{Jokfng k|fs[lts, g};lu{s / dxfg\ s'/f xf] eGg] k'li6 x'G5 . clwsf/sf] df]ntf]n t sdhf]/sf] em'G8df dfq x'G5 .  

 -s_ …;+;f/Ú sf] kof{ojfrL zAb =============== xf] . 

 -v_ …t'R5Úsf] ljk/LtfyL{ zAb =============== xf] . 

 -u_ …JolSt jf j:t'sf] hdftÚ a'emfpg] zAb =============== xf] . 

 -3_ cg]sfyL{ zAb===============xf] . 
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#= lbOPsf] cg'R5]baf6 Pp6f pvfg / Pp6f kfl/eflifs zAb klxrfg u/L ltgnfO{ jfSodf k|of]u ug'{xf];\ M  -@_ 

 uª\ufw/ cfFvfdf /fv] klg glaemfpg] vfnsf dflg; lyP . pgL cfk"m enf] t hut\ enf] eGg] ;f]r /fVg] dflg; lyP . ufpFdf 

s;}n] cGofo u¥of] eg] jl/kl/ bz ufpFsf b'lgofF pg}sf] 9f]sfdf lkm/fb ug{ cfOk'Uy] . pgsf] zf;gsfndf s;}n] s;}nfO{ ;tfpg 

kfPg .   

 

 

$= -s_ lbOPsf zAb ;d"xaf6 z'4 zAb 5fgL n]Vg'xf];\ M  -!_ 

-s_ -c_ ;Ltf]i0f  -cf_ zLtf]Z0f -O_ zLtf]i0f  -O{_ zLtf]:0f 

-v_ -c_ a'na'n -cf_ a'nj'n -O_ j'na'n  -O{_ j'nj'n 

  

-v_ lbOPsf] jfSonfO{ z'4 kf/L n]Vg'xf];\ M       -@_ 

k|flrg Clifd'lgn] cg]sf}F ;Eotf ;+:s[lt, k"jL{o bz{g / 1fgsf] Hof]tL ;+;f/ e/ lkFmhfP / d]/f] b]zsf] lzIffnfO{ cfnf]lst kf/] . 

 

%= lbOPsf] cg'R5]bdf /]vfª\sg ul/Psf zAbsf] zAbju{ klxrfg ug'{xf];\\ M-#_ 

laxfg gf:tf u/]/ d sfof{no lg:sGy]F . ksfpg] sfd k"0f{tof cfdfsf efudf k/]sf] lyof] . d sfof{noaf6 kms{Fbf ;fFem ca]/ x'GYof] 

. z/b\ / lzlz/sf 5f]6f lbgdf t /ft g} kYof]{  

 

^= lbOPsf k|Zgsf] pQ/ lbg'xf];\ M -@±@ Ö $_ 

 

-s_ lbOPsf] cg'R5]baf6 b'O{cf]6f pk;u{ / b'O{cf]6f k|Too nfu]/ ag]sf zAb klxrfg u/L lgdf{0f k|lj|mof;d]t b]vfpg'xf];\ M   

cfo'j]{b lrlsT;f;DaGwL cWoog, cWofkg / cg';Gwfg x'Fb} cfPsf] 5 . o;nfO{ Jofks / Jofjxfl/s agfpg] p2]Zosf ;fy ljleGg 

z}lIfs ;+:yf :yfkgf ePsf 5g\ . ToxfF pkrf/ ug{ ufpFn] / ;xl/of dflg; cfpF5g\ .  

 

-v_lbOPsf] cg'R5]baf6 Pp6f ;d:t zAb klxrfg u/L lju|x ug'{xf];\, Pp6f lju|x kbfjnL klxrfg u/L ;d:t zAb agfpg'xf];\ 

 / låTj eP/ ag]sf b'O{cf]6f zAb klxrfg u/L lgdf{0f k|lj|mof;d]t b]vfpg'xf];\ M 

 xfdL ;a} bfh' / efO, lbbL / alxgL tyf cfdfa'af ldn]/ cfcfk\mgf 3/ tyf s/];faf/Lsf] /fd|f];Fu ;/;kmfO u/]gf}F eg] 3/df 

nfdv'6\6] nfUg ;S5 . nfdv'6\6]sf] 6f]sfOaf6 ljleGg /f]u nfUg ;S5g\ . o;sf] 6f]sfOaf6 aRg 3/leq / 3/aflx/ kfgL hDg 
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lbg' x'Fb}g . e\mofn / 9f]sfdf hfnL /fVg], e'mnsf] k|of]u ug]{ tyf nfdf nfdf afx'nf ePsf sk8f nufpg] xf] eg] nfdv'6\6]sf] 

6f]sfOaf6 s]xL dfqfdf aRg ;lsG5 .  

 

&= lbOPsf] cg'R5]bnfO{ ck"0f{ eljiot\ sfndf kl/jt{g ug'{xf];\ M   -@_ 

ljgf]b ;a]/} p7\5g\ . pgL cfk\mgf] lgTosd{ ;s]/ s]xLa]/ kqklqsf k9\5g\ . pgL cfdfnfO{ efG5fsf] sfddf ;3fpF5g\ .pgL vfgf 

vfP/ ;dod} ljBfno hfG5g\ . 

 

*= j'mg} Ps k|Zgsf] pQ/ lbg'xf];\ M -@_ 

-s_ ;Defjgfy{ssf km/s km/s lj|mofkb k|of]u u/L rf/ jfSodf cfkm"n] eljiodf ug]{ e|d0fsfaf/]df j0f{g ug'{xf];\ .  

 

-v_ lbOPsf k|yd k'?ifsf jfSonfO{ t[tLo k'?ifdf kl/jt{g u/L cg'R5]b k'gn]{vg ug'{xf];\ M 

d ljBfyL{ x'F . d]/f w]/} ;fyL 5g\ . xfdL ljBfnodf ljleGg ljifo cWoog u5f}{F . dnfO{ ;fdfGo 1fgtkm{ ljz]if ?lr 5 . 

(= sf]i7sdf lbOPsf ;ª\s]tsf cfwf/df jfSokl/jt{g ug'{xf];\ M  -$_ 

 -s_ b'O{ lbg 3'd]kl5 d 3/ kms{G5' .  -jfSo ljZn]if0f_  

 -v_ cfk"m t b]zsf 8fF8fsfF8f 3'ldG5 . -st[{jfRo_ 

 -u_ ltdL syf k9\b} 5f} .  -k|]/0ffy{s_ 

 -3_ ;a}n] c;n sfd ug'{k5{ egL u'?n] eGg'eof] .  -k|ToIf syg_ 

 

!)=lbOPsf] cg'R5]b k9L ;f]lwPsf k|Zgsf] pQ/ n]Vg'xf];\ M  -$_ 

 

 

efiff s'g} klg b]zsf] cd"No ;Dkbf xf] . Pp6f efiff nf]k x'g' eg]sf] Tof] b]zsf] Pp6f ;Dkbf gfl;g' xf] . To;}n] cfk\mgf] b]zsf] 

eflifs ;Dkbf hf]ufpg /fHon] klg kxn ug'{k5{ . ljleGg dft[efiffsf] k|of]uaf6 To; b]zdf ax';f+:s[lts / ax'eflifs ;f}Gbo{ 

lelqG5 . efiffnfO{ hLljt agfpg /fHosf] kxn / pSt efiffsf jStfdf efiffk|ltsf] ;r]ttf / k|of]u ug]{ OR5fzlSt cfjZos 

x'G5 . o;sf] cfzo efiff hLjGt x'g ;DalGwt jStf jf ;d'bfon] cfk\mgf] dft[efiff af]Ng} k5{ eGg] xf] . o;/L x/]s JolStn] 

cfcfk\mgf] dft[efiff af]Nbf dfq Tof] efiff afFR5 . x/]s dft[efiff efifL jStfx¿n] c¿ efiffsf] k|efjdf k/]/ cfk\mgf] efiff af]Ng Curr
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5f8] eg] Tof] efiff j|mdzM x/fpFb} hfG5 . Tof] efiff nf]k x'g] vt/f /xG5 . dft[efifLn] cfk\mgf] efiff af]Ng 5f8]/ csf]{ efiff af]Nb} 

hfFbf ;+;f/sf w]/} efiff nf]k ePsf 5g\ . o:tf] cj:yfdf efiffsf] k|of]u lj:tf/, zAbsf]z tyf Jofs/0f lgdf{0f u/]/ ;DalGwt 

dft[efiffnfO{ ;d[4 agfpg ;lsG5 .   

k|Zgx¿  

-s_ …cfk\mgf] efiff af]Ng 5f8] eg] Tof] efiff j|mdzM x/fpFb} hfG5 .Ú o; jfSonfO{ cs/0fdf abNg'xf];\ . 

-v_ /]vfª\lst …jStfdfÚ zAbsf] sf/s / ljelStsf] gfd n]Vg'xf];\ .  

-u_ …x/]s JolStn] cfcfk\mgf] dft[efiff af]Nbf Tof] efiff afFR5 .Ú o; jfSosf] p2]Zo / ljw]o n]Vg'xf];\ . 

-3_ …jStf jf ;d'bfon] cfk\mgf] dft[efiff af]Ng} k5{ .Ú o; jfSonfO{ ;+o'St jfSodf kl/jt{g ug'{xf];\ .  

!!= lbOPsf] uBf+z k9L ;f]lwPsf k|Zgsf] pQ/ n]Vg'xf];\ M -$_ 

afnaflnsf zf/Ll/s tyf dfgl;s ¿kdf kl/kSj gx'g] x'Fbf pgLx¿nfO{ ljz]if :ofxf/ / ;'ljwfsf] cfjZostf k5{ . pgLx¿nfO{ 

;+/If0f / afFRgsf nflu rflxg] cfwf/e"t s'/fsf] Joj:yf ug'{k5{ . pgLx¿nfO{ lzIff k|bfg ug'{sf ;fy} :jf:Yo ;]jf k'¥ofpg'k5{ 

.o;sf ;fy} v]n, dgf]/~hg / cf/fd ug{ klg lbg'k5{ . pgLx¿nfO{ dfof :g]x lbg'k5{ clg x]nf b'Jo{jxf/ / zf]if0faf6 hf]ufpg'k5{ 

. zflGt, ;dembf/L / ;'/Iffk"0f{ jftfj/0fdf c;n lzIff xfl;n ub}{ :j:y eP/ cfk\mgf] afNosfn latfpg kfpg' k|To]s 

afnaflnsfsf] g};lu{s clwsf/ xf] . afnclwsf/ eg]sf] afnaflnsfnfO{ ;fdflhs c;'/Iff, clzIff, cjx]ngf, lt/:sf/, zf]if0f / 

pTkL8gaf6 ;+/If0f k|bfg ub}{ ltgsf] afnfkg ;'lglZrt ug'{ xf] . afnaflnsf :jod\n] cfk\mgf clwsf/ lng g;Sg] x'Fbf pgLx¿sf] 

clwsf/ ;+/If0f ug'{ jo:sx¿sf] bfloTj xf] . ;ª\If]kdf eGg'kbf{ afnclwsf/ eg]sf] afnaflnsfsf] afFRg kfpg] clwsf/, ;+/If0f 

kfpg] clwsf/, ljsf;sf] clwsf/ / cfk\mgf af/]df ul/g] gLlt lgdf{0f tyf ;fdflhs ultljlwdf ;xefuL x'g kfpg] clwsf/sf] 

;dli6ut ¿k xf] . ;f]xLcg';f/ afnclwsf/;DaGwL dxf;lGw /fi6«/fi6«larsf] Ps ;Demf}tfkq klg xf] . 

  

 k|Zgx¿  

 -s_ afnaflnsfnfO{ lsg ljz]if ;'ljwf cfjZos k5{ < 

 -v_ afnclwsf/ eg]sf] s] xf] < 

 -u_ afnaflnsfsf g};lu{s clwsf/ s] s] x'g\ < 

 -3_ afnclwsf/sf] ;+/If0f s;/L ug{ ;lsG5 < 

  

 

 

 

Curr
icu

lum
 D

ev
elo

pm
en

t C
en

tre



 

 

 

!@= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ M -$_ 

  

-s_ lbOPsf a'Fbfsf cfwf/df hLjgL tof/ kf/L zLif{s;d]t n]Vg'xf];\ M 

 

gfd  M tf/fb]jL >]i7  

hGd  M lj=;+= @))@ df3 @  

hGd:yfg M OGb|rf]s, sf7df8f}F   

dftflktf M /fwf sfsL{ / s[i0faxfb'/ sfsL{  

lzIff M Onfxfjfbaf6 ;ª\uLtdf lj;f/b k|fKt u/]sL  

— ;ª\uLtsf/ e}/jaxfb'/ yfkfsf] ;ª\uLtdf …ltd|f] Ps gh/sf] l;sf/ x'FÚ uLt ufP/ ufog ofqf ;'? u/]sL  

—  /]l8of] g]kfndf uflosfsf ¿kdf nfdf] ;do sfd u/]sL  

—  y'k|} s0f{lk|o uLt ufP/ g]kfnLsf dgdf a:g ;kmn ePsL 

—  /fli6«o uf}/j / hftLo :jfledfg a9fpg] vfnsf uLt ufPsL  

— sfnhoL uLt ufPsf sf/0f hLjg ;fy{s / cd/ t'NofPsL 

—  l5Ggntf k'/:sf/, hubDaf>L k'/:sf/af6 ;Ddflgt  

— lj=;+= @)^@ df3 * ut] sf7df8f}Fdf lgwg  
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-v_dflg; anjfg\ ls k|s[lt anjfg\ < eGg] zLif{ssf] k|s[lt anjfg\ eGg] kIfdf jfbljjfbsf] gd'gf tof/ kfg'{xf];\ . 

 

!#= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ M-$_ 

 

 -s_ ;fj{hlgs :yndf y'lk|Psf] kmf]xf]/ ;dod} Joj:yfkg ug{ cg'/f]w ub}{ cfk\mgf] j8fsf j8fWoIfnfO{ n]Vg] lgj]bgsf] gd'gf tof/ 

kfg'{xf];\ .  

 -v_ cfk\mgf] ljBfnon] cfof]hgf u/]sf] s'g} v]ns'b sfo{j|mdsf] ;dfrf/ tof/ kfg'{xf];\ .  

 

 

!$= lbOPsf] cg'R5]baf6 rf/cf]6f a'Fbf l6Kg'xf];\ M       -@_ 

 gful/sn] cfcfˆgf 3/ jl/kl/ ;kmf u/] eg] l;ª\uf] ufpF jf ;x/ ;kmf x'G5 . s[ifsn] em/L, afbn gegL u/]sf] ldlxg]tn] ;a}n] 

 vfg] cGg pTkfbg x'G5 . ;dfhdf a:g] gful/sn] Pscsf{sf] cl:tTjsf] ;Ddfg / cfb/ ub}{ cfˆgf] bfloTj lgjf{x u/]sf] ;dfh 

 cfbz{ ;dfh x'G5 . lzIfsn] k];fk|ltsf] lgi7f ;DemFbf / ;f]cg';f/sf] cfr/0f ubf{ lzIfssf] st{Jo k"/f x'G5 . ;/sf/L 

 sfof{noaf6 ;]jfu|fxLn] d':sfg;lxtsf] ;]jf kfpFbf sd{rf/Lsf] st{Jo k"/f ePsf] 7x5{ . o;/L Pscsf{n] cfcfˆgf] :yfgaf6 

 st{Jo lgjf{x ubf{ ;dfh ;Eo / Jojl:yt x'G5 . To;}n] st{Jokfng clwsf/k|flKtsf] nIoeGbf ljlzi6 5 .  

!%= lbOPsf] cg'R5]baf6 Ps t[tLof+zdf ;f/f+z n]Vg'xf];\ M     -#_ 

 k/fk"j{ sfnb]lv o; kljq e"lddf /x]sf] 1fgnfO{ cfw'lgs lj1fg;Fu xft]dfnf] ub}{ d]/f] b]zsf] lzIffn] ;'Gb/ ofqf  

 u/]s} 5 . g]kfnL df6fdf ;'g kmnfpg o;/L k|frLg sfnb]lv 1fgsf] vfgL /x]sf] d]/f] b]zsf] lzIff cfh cfw'lgs j}1flgs lzIff 

 k|bfg ug{ cft'/ 5 . To;f] t d]/f] b]zn] cfkm"df k/fk"j{ sfnb]lv /x]sf] 1fgnfO{ cfw'lgs lj1fg;Fu Ps};fy ;xofqf u/]s}  

 5 . g]kfnL df6fdf ;'g kmnfpg] u/L Jofj;flos / cfw'lgs s[lif lzIff lbg d]/f] b]zsf] lzIffdf cem}F nufgL / kx'Fr lj:tf/df 

 hf]8 lbg'k5{ . d'n'ssf pTkfbgnfO{ ljZjahf/df k:sg] u/L xfd|f ljBfyL{ pTkfbgnfO{ ;+;f/df lrgfpg ;Ifd x'g] kl/l:ylt 

 k}bf ug{' h?/L 5 . 
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!^= lbOPsf k|Zgsf] pQ/ lbg'xf];\ M -$±$ Ö *_ 

-s_ lbOPsf] sljtf+z k9L ;f]lwPsf k|Zgsf] pQ/ lbg'xf];\ M   

= kxf8 eG5 kl;gf kfP d :ju{ e'nfpFy]F  

 t/fO{ eG5 l;FrfO kfP d ;'g e'mnfpFy]  

 s] 5 / ufx|f] xf]:6]df x}F;] ;a}n] ldnfP  

 ;a}n] rf]vf] >d / l;k :jb]zd} nufP . 

k|Zgx¿  

-c_ xfdL s;/L b]z ljsf; ug{ ;S5f}F < 

-cf_ dflysf] sljtf+zsf] d"n efj n]Vg'xf];\ . 

 

-v_ lbOPsf] hLjgLsf] c+z k9L ;f]lwPsf k|Zgsf] pQ/ lbg'xf];\ M  

nIdLk|;fb b]jsf]6f #$ jif{sf] pd]/df g]kfnL efiffg'jfb kl/ifb\df g]kfnL k':ts n]vssf ¿kdf hflu/] eP . of] hflu/] cjlw 

pgsf] n]vg ofqfsf] :j0f{sfn /x\of] . o;} ;dodf pgn] pTs[i6 vfnsf dxfsfJo / v08sfJosf ;fy} y'k|} sljtf, uLt, 

afnsljtf, syf, lgaGw /rgf u/] . b]jsf]6fsf] dxf;fu/h:tf] k|ltef /f0ffx¿sf] lg/ª\s'ztfsf] ;fF3'/f] ;'?ªleq s;/L aUg 

;SYof] / < d'n'sdf hlt j]nf k|hftGq k|flKtsf nflu j|mflGtsf] cfuf] ;NsFb} lyof], Tolt j]nf pgn] klg ljb|f]xsf] af6f] ;dft], 

pgL lj=;+= @))$ df k|hftflGqs cfGbf]ngdf ;+nUg eP . pgL 3/kl/jf/ s;}nfO{ yfxf glbO{ jgf/;tk{m k|afl;P . ToxfFaf6 

lg:sg] o'ujf0fL klqsfdfk{mt lg/ª\s'ztflj?4 o'un] rfx]sf] ljb|f]xsf] jf0fL k'ms] .    

k|Zgx¿  

-c_ b]jsf]6fsf] hflu/] cjlwnfO{ lsg :j0f{sfn elgPsf] xf] < 

-cf_ lg/ª\s'ztflj?4sf] cfGbf]ngnfO{ b]jsf]6fn] s;/L ;xof]u u/] < 

 

!&= g]kfndf cfo'j]{b lrlsT;f k4ltnfO{ Jojl:yt Pjd\ nf]slk|o agfpg s] s] ug'{knf{ <ts{ lbg'xf];\ .  -$_ 

 

!*=s'g} Ps p4/0fsf] JofVof ug'{xf];\ M       -$_ 

 -s_ ;dlk{t ePsf 5g\ hf] ;bf Gofovflt/  

     ;+;f/df p7]sf 5g\ ltg}sf ljhoL lz/ . 

 -v_ b'j} 5fs ef]s} eP/ ef]sef]s} dg'{k/] klg cfk\mg} ufpFdf dg'{ hftL . 
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!(= s'g} Ps k|Zgsf] ;dLIffTds pQ/ lbg'xf];\ M-&_ 

-s_ lbOPsf] syf+z k9L ;f]lwPsf] k|Zgsf] pQ/ lbg'xf];\ M 

s[i0f /fon] w]/};Fu ;ª\ut u/]gg\ t/ hlt;Fu ;ª\ut u/] ;a}nfO{ ltgL;Fu afkj}/L ;fFWg] s'g} g s'g} lgx'F lbP . s:tf] crDd, 

lgbf]{if s'/fdf klg ljiffn' ;fFk h:tf] a}/L agfpg] ;fwg n'ls/x]sf] b]lvG5 . ef]lnkN6 o; 36gfsf] hfFr x'Fbf k'ln;sf] OG:k]S6/n] 

ltgnfO{ ;f]Wof], …tkfO{FnfO{ s;}dfly zª\sf 5 <Ú s[i0f /fon] uDeL/ eP/ pQ/ lbP, …/fd], s]bf/, o'js, uf]ljGb kl08t, sGx}of 

df:6/, a'w], nLnf, k'ik/fh, /fdrGb| k/fh'nL === .Ú   

k|Zg 

-c_ s[i0f /fosf dgdf pTkGg dfgl;s ptf/r9fjnfO{ …zq'Ú syfsf cfwf/df ;dLIff ug'{xf];\ . 

 

-v_ lbOPsf] lgaGwf+z k9L ;f]lwPsf] k|Zgsf] pQ/ lbg'xf];\ M 

xfdL b'j} rfxG5f}F, Pp6f To:tf] b'lgofF l;h{gf u/f}F hxfF s;}n] s;}nfO{ s'/fn] dfq 6fg{ g;sf];\ . e'mNofP/ k'mNofpg], nsf{P/ 

kvf{pg] o:tf] hfn]dfn] k/Dk/f gxf];\ t/ ;d:of t pxL xf], hlt;'s} alnof];Fu rfx] klg xfd|f] of] rfxgf rfxg]lalQs} k"/f x'Fb}g, 

kv{g'k5{ . To;}n] t d n:ofªn';'ª u/]/ eP klg 3/L otf wfpF5', 3/L ptf wfpF5', 3/L otf x'G5', 3/L ptf x'G5', hD:ofªh'D;'ª 

u/]/ eP klg klv{/x]5' / tkfO{FnfO{ klg eGb} 5', kv{g'b]lv k6\6fpg' knfogjflbtf xf] . 

k|Zg 

-c_ …kVgf];\Ú lgaGwdf g]kfnL ;dfhsf s:tf kIfdfly Joª\Uo ul/Psf] 5, ;dLIff ug'{xf];\ .  

 

@)= s'g} Ps zLif{sdf sDtLdf !%) zAb;Ddsf] lgaGw n]Vg'xf];\ M-&_ 

 -s_ d]/f] st{Jo 

 -v_ ljB'tLs/0f / pBf]u 

 -u_ h}ljs ljljwtf 
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pQ/k'l:tsf k/LIf0f s'l~hsf 

 

k|:t't k/LIf0f s'l~hsf pQ/k'l:tsf k/LIf0fsf nflu dfu{ lgb]{zg dfq xf] . pQ/k'l:tsf k/LIf0fsf nflu of] s'l~hsf d"n cfwf/ eP 

klg k/LIfsn] pQ/sf] :t/ x]/L ljBfyL{n] lbPsf] pQ/df df}lnstf ePdf ljj]s k'¥ofO{ cª\s k|bfg ug'{xf];\ . 

 

!= zAbfy{ M lbOPsf zAbsf] ;xL hf]8f ldnfPdf k|ltzAb )=% sf b/n] @ cª\s k|bfg ug{'xf];\ M 

 nah af]nL  

 Jou|  Jofs'n, ljx\jn 

 Ov  k|ltzf]wsf efjgfn] dgdf p7\g] å]if 

 cfef s'g} j:t' cflbdf b]vf kg]{ rds  

  

@= zAb1fg M sf]i7sdf lbOPsf zAbdWo] ldNg] zAb 5fg]/ vfnL 7fpF e/L k"/f ul/Psf] z'4 jfSonfO{ )=% sf b/n] @ cª\s k|bfg 

 ug'{xf];\ . 

 -s_ …;+;f/Ú sf] kof{ojfrL zAb hut\ xf] . 

 -v_ …t'R5Úsf] ljk/LtfyL{ zAb dxfg\ xf] . 

 -u_ …JolSt jf j:t'sf] hdftÚ a'emfpg] zAb e'mG8 xf] . 

 -3_ cg]sfyL{ zAb tfkxf] . 

 

#= jfSodf k|of]u  

 lbOPsf] cg'R5]baf6 cfkm" enf] t hut\ enf] pvfg /cGofo tyf lkm/fbdWo] s'g} Ps kfl/eflifs zAb klxrfg u/]/ cy{ :ki6 x'g] 

u/L jfSodf k|of]u u/]sf] eP / jfSosf] agf]6 / z'4tf ljrf/ u/L z'4 jfSosf nflu Ps cª\ssf b/n] hDdf @ cª\s k|bfg ug{'xf];\ 

. j0f{ljGof;df b]lvPsf cz'l4df :jljj]s k|of]u ug'{xf];\ . 
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$= z'4Ls/0f  

 -s_ ;xL z'4 zAb lrg]/ n]v]sf] cj:yfdf k|ltz'4 zAb )=% sf b/n] ! cª\s lbg'xf];\ . 

  -c_  zLtf]i0f -cf_ a'na'n 

  

 

-v_ k|ltcz'l4 ;RofPafkt )=% sf b/n] @ cª\s k|bfg ug'{xf];\ . 

pQ/ M k|frLg Clifd'lgn] cg]sf}F ;Eotf, ;+:s[lt, k"jL{o bz{g / 1fgsf] Hof]lt ;+;f/e/ lkFmhfP / d]/f] b]zsf] lzIffnfO{ cfnf]lst kf/] 

. 

  

%= zAbju{ M /]vfª\lst zAbsf] zAbju{ 5'6\ofO{ z'4;Fu n]v]df k|To]ssf] )=% cª\ssf b/n] # cª\s k|bfg ug'{xf];\ . 

d   M ;j{gfd 

lg:sGy]F  M lj|mofkb 

sfof{noaf6  M lj|mofljz]if0f÷lj|mofof]uL 

/   M ;+of]hs 

5f]6f  M ljz]if0f 

/ft  M gfd 

 

^= -s_ cg'R5]baf6 lbOPsf h:t} pk;u{ / k|Too nfu]/ ag]sf b'O{ b'O{ zAb lrg]/ agf]6;d]t b]vfO{ z'4;Fu n]v]sf] cj:yfdf k|ltzAb 

)=% sf b/n] @ cª\s k|bfg ug'{xf];\ . pk;u{ nfu]sf / k|Too nfu]sf eg]/ tf]s]sf] eg] x'g'kg]{ 5 . 

pk;u{ nfu]sf zAb -s'g} b'O{ zAb / ltgsf] agf]6 b]vfPsf] x'g'kg]{_  

cWoog  M clw ± cog 

cWofkg M clw ± cfkg 

cg';Gwfg M cg' ± ;Gwfg 

Jofks M lj± cfks 

p2]Zo M pt\ ± b]Zo 

ljleGg M lj ± leGg 
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pkrf/ M pk ± rf/ 

 k|Too nfu]sf zAb -s'g} b'O{ zAb / ltgsf] agf]6 b]vfPsf] x'g'kg]{_ M  

 Jofjxfl/s  M Jojxf/ ± Os 

 z}lIfs  M lzIff ± Os 

 ufpFn]  M ufpF ± n] 

;xl/of  M ;x/ ± Oof 

 

-v_ cg'R5]baf6 Pp6f ;d:t zAb vf]hL lju|x u/]sf] / Pp6f lju|lxt zAb klxrfg u/L ;d:t zAb agfPdf z'4;Fu ;df; / lju|x 

ul/Psf zAbnfO{ k|ltzAb )=% sf b/n] @ cª\s k|bfg ug'{xf];\ . 

 ;d:t zAb -s'g} Ps_M  

 cfdfa'af  M cfdf / a'af  

 3/aflx/  M 3/sf] aflx/ 

 nfdv'6\6]  M nfdf v6\6f 5g\ h;sf 

 

 lju|lxt cj:yfsf] zAb M -s'g} Ps_ 

 bfh' / efO  M bfh'efO 

 lbbL / alxgL M lbbLalxgL 

 e\mofn / 9f]sf  M e\mofn9f]sf 

 nfdf nfdf afx'nf ePsf] sk8f M nfdafx'n] 

 låTj eP/ ag]sf zAb M  

 ;/;kmfO M ;kmfO ± ;kmfO 

 cfcfk\mgf] M cfk\mgf] ± cfk\mgf] 
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&= lbOPsf jfSonfO{ lgb]{zg u/]adf]lhd kl/jt{g u/]sf] cj:yfdf k|ltjfSo )=% sf b/n] @ cª\s k|bfg ug'{xf];\ . 

ljgf]b ;a]/} p7\b} x'g] 5g\ . pgL cfk\mgf] lgTosd{ ;s]/ s]xLa]/ kqklqsf k9\b} x'g] 5g\ . pgL cfdfnfO{ efG5fsf] sfddf ;3fpFb} 

x'g] 5g\ . pgL vfgf vfP/ ;dod} ljBfno hfFb} x'g] 5g\ . 

 

*= -s_ eljiodf cfkm"n] ug]{ e|d0fsf af/]dfrf/ jfSodf j0f{g u/]df j0f{ljGof; tyf jfSo u7gsf] cj:yf x]/]/ k|ltjfSo )=% sf b/n] 

@ cª\s k|bfg ug'{xf];\ .  

-v_ k|yd k'?if stf{nfO{ t[tLo k'?if -pm, pgL, pxfF_df kl/jt{g u/L cg'R5]b k'gn]{vg u/]sf] eP j0f{ljGof; tyf jfSo u7gsf] cj:yf 

x]/]/ k|ltjfSo )=% sf b/n] cª\s k|bfg ug'{xf];\ .  

pm ljBfyL{ xf] . p;sf w]/} ;fyL 5g\ . pgLx¿ ljBfnodf ljleGg ljifo cWoog u5{g\ . p;nfO{ ;fdfGo 1fgtkm{ ljz]if ?lr 5 . 

(= jfSo kl/jt{g M sf]i7sdf lbOPsf ;ª\s]tsf ;xfotfn] jfSo kl/jt{g ul/Psf z'4 jfSonfO{ ! cª\ssf b/n] $ cª\s k|bfg ug'{xf];\ 

. 

 pQ/  

 -s_ d b'O{ lbg 3'D5' . d 3/ kms{G5' .  

 -v_ d t b]zsf 8fF8fsfF8f 3'D5' . 

 -u_ lzIfs ltdLnfO{ syf k9fpFb} x'g'x'G5 . 

 -3_ u'?n] eGg'eof], æ;a}n] c;n sfd ug'{k5{ .Æ 

  

!)= cg'R5]b cWoog u/]/ eflifs ;+/rgf;DaGwL ;f]lwPsf k|Zgsf] ;xL pQ/ lbPdf Pp6f pQ/sf] ! cª\ssf b/n] $ cª\s k|bfg ug'{xf];\ 

. 

 gd'gf pQ/  

-s_ cfk\mgf] efiff af]Ng 5f8]gg\ eg] Tof] efiff j|mdzM x/fpFb} hfFb}g . 

-v_ …jStfdfÚ M clws/0f sf/s / ;KtdL ljelSt  

-u_ p2]Zo M JolStn]  

 ljw]o M afFR5  

-3_ jStf jf ;d'bfosf] dft[efiff 5 To;}n] pgLx¿n] af]Ng} k5{ . 
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!!= af]w k|Zgf]Q/ -cb[i6f+z_  

cg'R5]baf6 ;f]lwPsf k|Zgsf] d"Nofª\sg ubf{ lbOPsf] cg'R5]bd} cfwfl/t eO{ k|Zgcg';f/ ;xL pQ/ n]v]sf] eP k|To]s ;xL pQ/sf 

nflu ! cª\ssf b/n] hDdf $ cª\s k|bfg ug'{xf];\ pQ/sf] jfSo u7g, eflifs z'4tf / j0f{ljGof; gldn]sf] eP :jljj]s k|of]u ug'{xf];\ 

.  

  

!@= -s_ hLjgL n]vg  

 hLjgL n]vgsf] d"Nofª\sgsf nflu lgDglnlvt kIfdf Wofg lbg'xf];\ M  

 -c_ ljifoj:t'sf] cflb, dWo / cGTosf] j|mlds ;+of]hg / zLif{s  M ! 

 -cf_ ljifoj:t'sf] df}lns k|:t'tLs/0f z}nL / jfSo u7g  M @ 

 -O_ eflifs z'4tf -j0f{ljGof;, n]Vo lrx\g tyf kb;ª\ult cflb_ M! 

 

 -v_ jfbljjfb n]vg 

 jfbljjfb n]vgsf] d"Nofª\sgsf nflu lgDglnlvt kIfdf Wofg lbg'xf];\ M  

 -c_ ;Daf]wg, cf}krfl/stf Pjd\ ljifo k|j]z     M ! 

 -cf_ ljifoj:t'sf] ljZn]if0f, tfls{stf tyf k':6\ofOF / ljkIfLsf ts{sf] v08g M @ 

 -O_ jfSo u7g Pjd\ eflifs z'4tf      M ! 

!#=-s_ lr7L n]vg 

 lr7L n]vgsf] d"Nofª\sgsf nflu lgDglnlvt kIfdf Wofg lbg'xf];\ M  

 -c_ ;Daf]wg, ldlt, ljifo;lxt lr7Lsf] cf/De, gfd, 7]ufgf / vfdsf] gd'gf M ! 

 -cf_ lr7Lsf] dWoefudf ;DalGwt ljifoj:t'sf] ;+of]hg / k':6\ofOF   M @ 

 -O_ jfSo u7g tyf eflifs z'4tf -j0f{ljGof;, n]Vo lrx\g tyf kb;ª\ult cflb_ M ! 

-v_ ;dfrf/ n]vg 

 ;dfrf/ n]vgsf] d"Nofª\sgsf nflu lgDglnlvt kIfdf Wofg lbg'xf];\ M  

 -c_ ;dfrf/ n]vssf] gfd-afO nfOg_, ldlt -8]6 nfOg_, ;dfrf/sf] zLif{s  M ! 

 -cf_ zLif{ jfSo, ;dfrf/ n]vgsf] z}nL, 36gfj|mdsf] ;+of]hg tyf k|:t'tLs/0f  M @ Curr
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 -O_ jfSo u7g tyf eflifs z'4tf -j0f{ljGof;, n]Vo lrx\g tyf kb;ª\ult cflb_  M ! 

 

!$= a'Fbf l6kf]6  

lbOPsf] uBf+zsf d'Vo d'Vo s'/f ;d]6L n]lvPsf rf/cf]6f a'Fbfsf nflu k|lta'Fbf )=% sf b/n] @ -b'O{_ cª\s k|bfg ug'{xf];\ . ;fdfGo 

eflifs q'l6nfO{ :jljj]s k|of]u ug'{xf];\ .   

!%= ;f/f+z n]vg 

lbOPsf] uBf+zsf] d"nefj ;d]6L n]lvPsf] ;f/f+znfO{ z'4tf / jfSo u7g;d]t ljrf/ u/L # -tLg_ cª\s k|bfg ug'{xf];\ . ;fdfGo 

eflifs q'l6nfO{ :jljj]s k|of]u ug'{xf];\ .   

 

!^= kf7ut af]w  

  -s_ ;Gbe{sf ¿kdf lbOPsf] sljtf+z cWoog u/L lbOPsf k|Zgsf] %÷^ jfSodf ;xL pQ/ n]v]sf] eP k|To]s k|Zgsf] ;xL  

  pQ/sf nflu @÷@ cª\ssf b/n] $ cª\s k|bfg ug'{xf];\ . pQ/sf] jfSo u7g, eflifs z'4tf / j0f{ljGof; gldn]sf] eP  

  :jljj]s k|of]u ug'{xf];\ . 

-v_  ;Gbe{sf ¿kdf lbOPsf] lgaGwf+z cWoog u/L lbOPsf k|Zgsf] %÷^ jfSodf ;xL pQ/ n]v]sf] eP k|To]s k|Zgsf] ;xL  

  pQ/sf nflu @÷@ cª\ssf b/n] $ cª\s k|bfg ug'{xf];\ . pQ/sf] jfSo u7g, eflifs z'4tf / j0f{ljGof;gldn]sf]   

  eP :jljj]s k|of]u ug'{xf];\ . 

 

!&= tfls{s pQ/  

 o; k|Zgsf] pQ/ d"Nofª\sgsf nflu lgDglnlvt kIfdf Wofg lbg'xf];\ M 

 -s_ kf7ut ;Gbe{ / ljifoj:t' af]w     ! 

 -v_ l;h{gzLntf, sNkgfzLntf tyf ljifoj:t'sf] tfls{s k':6\ofOF   @ 

 -u_ jfSo u7g tyf eflifs z'4tf -j0f{ljGof;, n]Vo lrx\g tyf kb;ª\ult cflb_ ! 

 

!*= JofVof  

 -s_ ljifoj:t' af]w / df}lnstf     ! Curr
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 -v_ cy{ lj:tf/, kf7sf] ljifoj:t';Fu JofVo]o c+zsf] tfnd]n tyf lgisif{ @ 

 -u_  jfSo u7g tyf eflifs z'4tf -j0f{ljGof;, n]Vo lrx\g tyf kb;ª\ult_  ! 

 

!(= ;Gbe{df cfwfl/t nfdf] pQ/sf nflu syf÷sljtfdWo] s'g} Ps / hLjgL÷lgaGw÷Psfª\sLdWo] s'g} Ps ljwfaf6 kf7ut c+z lbO{ 

k|Zg ;f]lwg] ePsfn] lbOPsf] c+znfO{ d"n cfwf/ dfg] klg ;du| kf7sf] ljifoj:t'df cfwfl/t eP/ lbOPsf] pQ/nfO{ ljj]sk"0f{ 

9ª\un] d"Nofª\sg ug'{kg]{ x'G5 . t;y{, ;Gbe{df cfwfl/t nfdf] pQ/sf] d"Nofª\sgsf nflu lgDg kIfdf Wofg lbg'xf];\ M    

 -s_ kl/ro v08  -ljwf, ljifo k|j]z_   ! 

 -v_ ljifoj:t'sf] 1fg, ljZn]if0f / lgisif{   # 

 -u_ k|:t'tLs/0f z}nL / df}lnstf   @ 

 -3_ jfSo u7g, eflifs z'4tf -j0f{ljGof;, n]Vo lrx\g tyf kb;ª\ult_ ! 

 

@)= lgaGw n]vg 

 lgaGw n]vgsf] d"Nofª\sgsf nflu lgDg kIfdf Wofg lbg'xf];\ M 

 -s_ kl/ro Pjd\ ljifo k|j]z      ! 

 -v_ ljifoj:t'sf] 1fg, cflb, dWo / cGTosf] j|mda4 ;+of]hg tyf lgisif{ # 

 -u_ k|:t'tLs/0f, df}lnstf      @ 

 -3_ jfSo u7g, eflifs z'4tf -j0f{ljGof;, n]Vo lrx\g tyf kb;ª\ult cflb_  !   
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sIff (–!) sf] kl/dflh{t kf7\oj|md, @)&* df cfwfl/t 
ljlzi6Ls/0f tflnsf 

  

 
-sIff !) sf] gd'gf k|Zgkq;d]t_ 

 

 
English 

 

 
 
 

 
 
 
 

 
g]kfn ;/sf/  

lzIff, lj1fg tyf k|ljlw dGqfno 
kf7\oj|md ljsf; s]Gb|  
;fgf]l7dL, eStk'/
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Test Specification Chart 

Compulsory English 

Grades 9 -10 

External Assessment (Written Examination)  

Reading and writing skills will be assessed through a written test. Grammar is included in the 

writing section. The test will be based on the specification chart given below. 

Reading (40 marks) Writing (35 marks) 

The assessment of reading skill follows the 

following structure: 

1. Reading 1: One short reading text from the 

textbook with one type of comprehension 

question                                         (5 marks) 

Text length: about 100 words  

2. Reading 2: One short reading text from the 

textbook with two types of comprehension 

questions                                      (10 marks) 

Text length: about 200 words  

3. Reading 3: One short reading text not given 

in the textbook with two types of 

comprehension questions            (10 marks) 

     Text Length: about 200 words 

4. Reading 4: One short reading text not given 

in the textbook with three types of 

comprehension questions            (15 marks) 

Text length: about 300 words  

Notes: 

 

 Text type for reading 3: story, notice, 

advertisement, product guide, letters, news 

story, brochure, instruction/ manual, diary 

entry, interview, letter, recipe  

 Text types for Reading 4: biography, 

autobiography, essay, newspaper/magazine 

article, science article, book/film review, 

travelogue, editorial, report, BlogSpot 

 Total number of test items = 40  

 Question types: True/False, Fill in the Gaps, 

Multiple Choice, Matching, Ordering and 

Short Answer Questions 

 Except for short answer questions, the same 

types of questions should not be repeated in 

the two seen passages. This applies to the two 

unseen passages as well. 

 Only Reading 4 should contain a test type for 

testing vocabulary. 

The assessment of writing skill follows the 

following structure: 

1. Guided writing I: paragraph, description of 

tables/charts/diagrams, a set of instructions, 

recipe, advertisement, notice and a set of 

rules and regulations.                      (5 marks) 

Number of words: about 100 words 

2. Guided writing II: news story, skeleton 

story, message of condolence, message of 

congratulations, invitation letter, thank you 

letter, biography.                             (5 marks) 

Number of words: about 100 words 

3. Free writing I: paragraph (presenting views, 

opinion, experience, feeling), leave 

application, job application, dialogue 

                                                         (6 marks) 

Number of words: about 150 words 

4. Free writing II: personal/official letter, letter 

to the editor, email, short essay (narrative, 

argumentative, descriptive), diary, newspaper 

article, book review/film review  

                                                         (8 marks) 

Number of words: about 200 words 

Notes: 

 Organisation, coherence and cohesion, subject 

matter, appropriateness and correctness of 

language, range of vocabulary and layout will 

be assessed in the writing section. 

 The type of writing task should not be similar to 

any of the reading text given in the test paper. 

5. Grammar                                         (11 marks) 

The grammar section should contain the 

following areas. 

1. Articles                                    

2. Prepositions 

3. Tense  

4. Connectives 

5. Question tags                            
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 The comprehension questions (except 

questions for vocabulary) should cover 

Literal Comprehension (LC), Reorganization 

(R), Inference (I) and Evaluation (E).  

 The distribution of comprehension questions 
should be based on the following table: 
 

Type of comprehension Number of 

questions 

Literal comprehension 16 

Reorganization 8 

Inference 8 

Evaluation and reflection 3 
 

6. Reported speech 

7. Voice                                     

8. Conditional sentences 

9. Subject-verb agreement           

10. Interrogation and negation 

11. Causatives       

12. Modals  

13. Relative pronouns 

14. Adjectives and adverbs 

Types of questions: 

1. Reproduction/Transformation: This should 

cover tense, question tag, reported speech, 

voice, and interrogation ('wh' question)  and 

negation (6X1=6 marks) 

2. Multiple choice (in a contextual passage): 

This can contain the following areas of 

grammar:  

articles, prepositions, tense, question tag, voice, 

reported speech, connectives, conditional 

sentence, subject verb agreement, causative verbs, 

modals, adjectives and adverbs, and relative 

pronouns(10X0.5=5) 

Note: Multiple choice items should contain four 

alternative choices 

The time for written test is 3 hours. 
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COMPULSORY ENGLISH 

Reading and Writing  

(Written Test) 

Grade: 10    Full Marks: 75   Time: 3 hours 

Candidates are required to give answer according to the given instructions. 

 

1. Read the text given below and do the tasks.  

The Voice of the Rain 

And who art thou? said I to the soft-falling shower, 

Which, strange to tell, gave me an answer, as here translated: 

I am the Poem of Earth, said the voice of the rain, 

Eternal I rise impalpable out of the land and the bottomless sea, 

Upward to heaven, whence, vaguely form'd, altogether changed, and 

yet the same, 

I descend to lave the droughts, atomies, dust-layers of the globe, 

And all that in them without me were seeds only, latent, unborn; 

And forever, by day and night, I give back life to my own origin, 

and make pure and beautify it; 

(For song, issuing from its birth-place, after fulfilment, wandering, 

Reck'dorunreck'd, duly with love returns.) 

- Walt Whitman 

A. Choose the correct answer.           (5×1 =5) 

a. The poem is a conversation between ............ 

i. the speaker and the rain. 

ii. the rain and the nature. 

iii. the speaker and the Earth. 

iv. the Earth and the road. 

b. Mother Earth is given happiness by............ 

i. the sea. 

ii. the rain. 

iii. the music. 

iv. atomies. 
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c. The speaker says that like nature, the rain is.......... 

i. difficult to understand. 

ii. easy to understand. 

iii. always the same. 

iv. not changing its shape. 

d. The raindrops pour down to wash away............... 

i. the land. 

ii. the globe. 

iii. the dust layer. 

iv. the seeds. 

e. The rain and a song are similar because.............. 

i. both produce a melodious sound. 

ii. both give happiness to the Earth. 

iii. the rain can change its form and so does a song. 

iv. the rain has a power to heal the Earth; and a song can heal human heart. 

2. Read the text given below and do the tasks. 

Thanksgiving around the World 

Festivals are not just the means of entertainment or rejoice. They also reflect our heritage, culture 

and traditions. Thanksgiving is celebrated around the world to extend thanks for the harvest, 

enjoying bountiful food, and spending time with family and friends. Even though Thanksgiving 

seems to be uniquely American, the tradition is followed in different countries in various forms.   

Thanksgiving, USA 

Celebrated on the fourth Thursday of November, Thanksgiving in the USA is a national holiday 

that commemorates the feast the Pilgrims held after the first harvest in 1621. The first 

celebration was attended by 90 Native Americans and 53 pilgrims. Thanksgiving has been 

celebrated intermittently ever since. 
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Thanksgiving dinner with family plays a central role in the celebrations, with Americans eating 

more food on Thanksgiving Day than any other day of the year, including Christmas. Roast 

turkey is essential – approximately 45 million of them are consumed every year – as well mashed 

potatoes, sweet potatoes, sweet corn and assorted fall vegetables, all food that is native to the 

Americans. 

Parades are a big part of the celebrations too. They range from small town affairs featuring the 

local marching band to Macy‘s Thanksgiving parade through the streets of New York. Billed as 

the world‘s largest parade, it features parade floats and huge balloons, usually based on cartoon 

characters, current Broadway shows and other topical themes. 

A. Match the information that begins in Column A with its correct ending in Column B. 

There is one extra ending that you may not use.      (5×1 =5) 

Column A      Column B 

a. Extending thanks for the harvest   i. is about 45 million in number. 

b. Thanksgiving    ii. is one of the largest parade in the world. 

c. Consumption of roast turkey  iii. is a main reason of celebrating Thanksgiving. 

d. Food items like sweet potatoes  iv. is celebrated in different ways. 

e. Macy's Thanksgiving parade  v. will be performed by 53 pilgrims. 

vi. are truly American origin. 

B. Answer the following questions.       (5×1= 5) 

a. What do festivals show about people? 

b. When is Thanksgiving celebrated in the USA? 

c. What is the main part of the celebration? 

d. Mention the two variations in the parades, 

e. Why do you think Americans celebrate this festival with rejoice even today? 
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3. Read the text given below and do the tasks. 

Dodhara Chandani dry port gets environmental approval 

Kathmandu, May 23 

The proposed Dodhara Chandani dry port and check post in far western Nepal has moved a step 

forward with the government‘s approving the environmental impact assessment (EIA) report. 

The Rs15 billion construction project is located in Dodhara Chandani Municipality, Kanchanpur 

district, and is listed as a national priority project by the government.The construction site is 

spread over 250 bighas (189 hectares). On April 30, the cabinet cleared the use of 63 hectares 

inside Gaurishankar community forest, a buffer zone of Suklaphanta National Park, for the dry 

port. 

According to the EIA, 15,057 trees need to be felled and; as per the Forest Clearance Guidelines, 

10 compensatory trees must be planted for every tree cut for development projects. Project 

officials say that 150,525 compensatory trees need to be planted.―The dry port will be built under 

an Indian grant. A memorandum of understanding will be signed soon between the two 

neighbours,‖ said Anish KC, a civil engineer at the Nepal Intermodal Transport Development 

Board. ―Discussions are at an advanced stage,‖ he said. 

Dodhara Chandani dry port will be the first business gateway to India from Nepal's far west. The 

site is 245 km from India‘s capital New Delhi and 1,200 km from Gujarat state. The dry port will 

facilitate trade with other Indian states like Rajasthan, Uttarakhanda, Punjab and Haryana. The 

project is expected to lower transportation costs and the time taken to import goods from India. 

The World Bank conducted a feasibility study for a dry port at Kanjabhoj in Dodhara Chandani 

Municipality a decade ago, and the Nepal Intermodal Transport Development Board prepared 

another report in 2016. 

A. Fill in the blanks with the correct words from the text above.      (5×1= 5) 

a. Dodhara Chadani dry port will occupy ……….. of area in Kanchanpur.  

b. The Forest Clearance Guidelines directs the government to plant ………….trees to replace a 

felled tree.  

c. The project will go ahead with ………… funding.  

d. New Delhi is ………… far from Dodhara Chadani dry port site.  

e. From the textabove, it is seen that Nepal ………… necessary things and materials from India.  
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B. Answer the following questions.      (5×1= 5) 

a. What is the estimated construction cost of Dodhara Chadani dry port?  

b. When was it approved to utilize 63 hectares area of Gaurishankar community forest? 

c. What does ‗the two neighbours‘ in paragraph 3 refer to?  

d. Do you think this project will affect positively in nation‘s economic growth? Why?  

e. Is this the first attempt of Nepal Government to set up a dry port in the far-western Nepal?  

4. Read the book review given below and do the tasks. 

Seto Dharti 

Amar Neupane's Seto Dharti is a fantastic piece of artwork. Tara, Pabitra, and other child 

widows are central characters in this book.  

The main plot revolves around Tara's life. She married when she was seven years old. She had 

no idea what love was then. Her own parents lied to her and forced her to remain in the Jaggya 

(wedding pavilion) claiming that they were worshipping God at home. She was taken to her 

home and told that she needed to go to the temple. She didn't find out until the day after her 

wedding that she was marrying to someone she had never met before. She was sound asleep 

when it came time to execute the marriage rites. It was as if she were in a dream. She cried a lot 

as she thought of her mother. Her mother advised her on the dos and don'ts of becoming a 

daughter-in-law. She had to stay in her husband's house for a year. It was very painful for her to 

stay there. After a year, she moved into her maternal home. She lost her husband when she was 

nine years old. She was invited to her home without being informed of her husband's demise. 

She learned that her husband had died as soon as she arrived home.  Despite the fact that he was 

a stranger in her life, she had to observe all the funeral rites. That was the first time she'd seen 

her husband's face on his deathbed. Then she was taken to the ghatthat was on fire. Her jewelry 

as well as her clothingwas taken away. Her head was shaved and she had to remain in mourning 

for thirteen days.  

Towards the end of her life, she arrived in Devghat where she dedicated her life to God. She saw 

Govind's image in the Swamiji there. Gobind was one of her childhood friends. He had taught 

her how to read and write.  

Once a lady called Gangeswari visited DevghatAshram. She became popular as a result of her 

experience and the wealth she took with her. Gangeswari visited Tara's hut one night and 

unveiled her identity.  She was Pabitra, Tara's childhood friend. Pabitra told her how she went 

through various stages of life before becoming Gangeswari. 

The novel depicts the difficulties Tara faced in her life. The novel tells her life from the time she 

was born till she turned 87. My throat choked several times while reading this book. It portrays 
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an image of social evil and its negative effects on the lives of many Taras and Pabitras in Nepali 

society. 

A. Match the words from the text in Column A with their meanings in Column B. (5×1= 5) 

Column A   Column B 

a. execute   i. a person's death  

b. demise   ii. reveal or uncover something 

c. rites    iii. put completely into effect 

d. mourning   iv. the feeling or expression of reverence for a deity 

e. unveil   v. social customs or conventional acts 

    vi. the expression of sorrow for someone's death 

B. Write ‘True’ for the true statements and ‘False’ for the false ones.  (5×1= 5) 

a. Tara is a main character in the novel Seto Dharti. 

b. Tara had learnt that she was marriedwhen Tara went to her husband‘s home. 

 

c. Tara first saw her husband a year after her marriage. 

 

d. Tara started teaching people the meaning of life in Debghat. 

 

e. Gangeswori was the false name of Pabitra. 

C. Answer the following questions.      (5×1= 5) 

a. Write the names of characters in Seto Dharti as mentioned in the review. 

 

b. How long did Tara have to stay in her husband‘s house? 

 

c. What rituals did Tara have to follow after her husband‘s death? 

 

d. Why do you think Tara saw the image of Gobind in Swamiji?  

e. Why did the writer feel choked while reading the novel? 
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5. Write a set of rules and regulations for the visitors of a park. Write it in about 100 words 

using the clues given below.          (5)  

Opening time : 9am-5pm--- no glass containers ---littering prohibited--- no alcohol--- pet  

animals not allowed  

 

6. Write a formal message of congratulations to your friend who has won the title of 'Best 

Player' in an inter-school volleyball tournament organized by your municipality/rural 

municipality. Write the message in about 100 words using the clues given below.  (5)  

 

Sanskriti Chaudhary ---- the best volleyball player--- hardworking and disciplined --- happy 

and proud—congratulations--- best wishes for future endeavour 

 

7. Nowadays many young people are found increasingly involved in various video games in 

their mobile phones. Write a paragraph in around 150 words expressing your views 

about the mental and social impacts of excessively playing such games.  (6)  

8. Write an essay describing one of your favourite food items. Write it in about 200 words 

mentioning its look, smell, taste, feel, etc.      (8) 

9. Reproduce the following sentences as instructed in the brackets.   (6x1=6) 

 a. The accident cost Krishna a lot, ...............? (Add a question tag.) 

 b. Does Garima study in this school? (Change into an affirmative sentence.) 

 c. Yamuna danced beautifully in the party. (Change into 'how' question) 

 d. Raima ............. (finish) all her homework before her teacher asked her  to do it.  

  (Use correct tense of the verb 'finish') 

 e. Everybody should follow the rules sincerely. (Change into passive voice.) 

 f. Bhim inquired, "How will you make the payment?" (Change into indirect speech) 

 

10. Choose and copy the best answer for the numbered blanks below. Rewriting is not 

compulsory.     (10x0.5=5) 

A man came into (a)………..(a, an, the, no article)  wood one day with an axe in his hand. He 

(b)………  (begs, begged, was begging, had begged) a tree, (c) ……....(please give me, to give 

him, that give him, whether give him)  a small branch. He wanted the branch (d)…….. (because, 

so that, although, since) he could make a walking stick from it. The tree was (e)…… (with, of, 

by, on)  kind nature. He thought the man (f) …… (will, may, might, must) make good use of the 

branch. Hence, he gave the man one of his branches, (g)…… …... (did he, didn't he, hadn't he, 

wouldn't he)? The woodcutter had the branch (h) …..(fix, to fix, fixed, fixing) into his axe head. 

Soon the woodcutter was set to work. He cut down branch after branch. The tree had never been 

(i) .......... (foolish, as foolish as, more foolish, the most foolish) this in giving his enemy the 

means of destroying himself. Had the tree not permitted the man to cut a branch, he 

(j)….…….(doesn't probably fell, won't probably fell, wouldn't probably fell, wouldn't have 

probably felled) so many branches. 

*** 
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gd'gf k|Zg -Model Question) 

sIff M !)         k"0ff{ª\s M &% 

ljifo M lj1fg tyf k|ljlw       ;do M # 306f 

;a} k|Zg clgjfo{ 5g\ . (All questions are compulsory.) 

v08 -s_ (Section A) 
ax'a}slNks k|Zgx¿ . Multiple choice question.     10  1 = 10 

1. tnsf k|Zgsf] l7s ljsNkdf uf]nf] lrx\g (0) nufpg'xf];\ . (Circle the correct alternative of the 

following questions.) 

a= l;Ugn l/l;e/kl6\6 x'g] klxnf] r/0f tnsf dWo] s'g xf] <(Which of the following is first stage 

towards signal receiver?)  

 i.   l8sf]8/ (Decoder)              ii. OGsf]8/ (Encoder)  

 iii. l8df]8\o'n]6/ (Demodulator)  iv. df]8\o'n]6/ (Modulator) 

b. ;fOs;nfO{ lsg lhDgf]:kd{df /flvPsf] xf] < (Why is cycas kept in gymnosperm?)   

i. km"n km'N5 / lap pTkfbg u5{ . (It bears flower and produces seed.)   

ii. km"n km'N5 / o;sf kft ltvf x'G5g\ . (It bears flower and has pointed leaf.) 

iii. km"nsf] ;6\6f sf]0f x'G5 / kmnleq lap x'G5 . (It has cone instead of flower and seed is present 

inside fruit) 

iv. km"nsf] ;6\6f sf]0f x'G5 / kmnlagfsf] gfª\uf] lap x'G5 . (It has cone instead of flower and seed 

is naked)  

c.  ;Gh'n] k|of]uzfnfdf hLjx¿sf] :k]l;d]g cjnf]sg ubf{ b'j} hLj nfdf] / a]ngfsf/ kfOg\ . pgLn] hLj 

A sf] z/L/ v08 v08 k/]sf] / hLj B sf] z/L/ v08 v08 gk/]sf] klg kfOg\ . dflysf ljz]iftf cWoog 

u/L pSt hLjx¿;DaGwL tnsf dWo] s'g syg ;xL 5 < (When Sanju observed specimen in the 

laboratory, she found that both the organisms were long and cylindrical. She also found that 

organism A has cylindrical segmented body and organism B has not segmented body. By 

studying the above characteristics, which statement is true for these organisms?)     

i. hLj A peolnª\uL xf] eg] hLj B Pslnª\uL xf] . (Organism A is hermaphrodite whereas 

organism B is unisexual)   

ii. hLj A Pslnª\uL xf] eg] hLj B peolnª\uL xf] . (Organism A is unisexual whereas organism 

B is hermaphrodite) 

iii. hLj A l8Knf]Anfl:6s xf] eg] eg] hLj B l6«Knf]Anfl:6s xf] . (Organism A is diploblastic 

whereas organism B is triploblastic)   

iv. hLj A l6«Knf]Anfl:6s xf] eg] hLj B l8Knf]Anfl:6s xf] . (Organism A is triploblastic whereas 

organism B is diploblastic) 

d.  lrqdf em'l;lNs/f] / kmGhfO{sf] ldngaf6 ag]sf] hLJf ofrf{u'Daf b]vfOPsf] 5 . o; k|lj|mofdf em'l;lNs/f] 

/ kmGhfO{sf] lardf s:tf] cGt/;DaGw x'G5 < (Cordyecep formed by the fusion 

of caterpillar and fungi is shown in the figure. What is the interrelation 

between caterpillar and fungus in this process?)  

 i. l;Dafof]l6s (Symbiotic) ii. k/hLjL (Parasitic) 

 iii. :ofk|f]6«lkms  (Saprotrophic) iv. sd]G;lnHd  (Commensalism) 
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e. k[YjLsf] lk08 6 10 24 kg 5 .  o;sf] s]Gb|af6 10000 km prfOdf vl;/x]sf] pNsflk08sf] u'?Tjk|j]u 

slt x'G5 < What would be the acceleration due to gravity of the meteor falling from 10000 

km height  from the centre.     

 i. 4.2 m/s2
  ii. 4.002 m/s2         iii. 4 m/s2

  iv.  4.02 m/s2 

f. gbLdf eGbf ;d'b|sf] kfgLdf j:t' ;lhn} t}/Gf'sf] sf/0f s] xf] < (Why do objects float more easily 

in sea water than in river?)   

     i.    gbLsf]] eGbf ;d'b|sf] kfgLsf] 3gTj a9L x'G5 . (Density of sea water is more than that of 

river.) 

      ii.   gbLsf] eGbf ;d'b|sf] kfgLsf] 3gTj sd x'G5 . (Density of sea water is less than that of river.) 

     iii.  gbLsf]] eGbf ;d'b|sf] kfgLsf] tfkj|md a9L x'G5 . (Temperature of sea water is more than that 

of river.) 

      iv.   gbLsf] kfgLsf] eGbf ;d'b|sf] kfgLsf] tfkj|md sd x'G5 . (Temperature of sea water is less than 

that of river.) 

g. ;fy{sn] lk|Hdaf6 x'g] k|sfzsf] ljR5]bgsf j|mddf b]lvg] /ftf], xl/of], a}hgL / lgnf] /ªsf k|sfzsf] 

ls/0fsf] lk|Hdleqsf] j]unfO{ j|mdzM 𝑣𝑟 , 𝑣𝑔, 𝑣𝑣/𝑣𝑏 gfds/0f u/] . p;n] tL /ªsf j]ux¿sf] j|md 

ldnfpFbf s'g j|md ;xL x'G5 < (Sarthak named red, green, violet and blue coloured ray in 

dispersion of speed in prism as 𝑣𝑟 , 𝑣𝑔, 𝑣𝑣and 𝑣𝑏 respectively. Which is correct order of 

speed made by him.)                    

i. 𝑣𝑔 < 𝑣𝑏 > 𝑣𝑟 < 𝑣𝑣   ii. 𝑣𝑟 > 𝑣𝑦 > 𝑣𝑏 < 𝑣𝑣   

 iii.𝑣𝑔 < 𝑣𝑦 < 𝑣𝑟 > 𝑣𝑣   iv. 𝑣𝑟 < 𝑣𝑦 > 𝑣𝑟 < 𝑣𝑣  

h. a|x\df08sf] pTklQaf/] ;a}eGbf tYok/s l;4fGt s'gnfO{ dflgG5 < (Which is the most realistic 

theory about origin of the universe?)            

i. x]lnof];]lG6«s l;4fGt (Heliocentric theory) ii. lhof];]lG6«s l;4fGt (Geocentric theory) 

iii. Go'6gsf] l;4fGt (Newton's theory)              iv. lau Aofª l;4fGt (Big Bang theory)  

i.  lbOPsf] /f;folgs k|ltlj|mofdf X n] s]nfO{ hgfpF5 < (What is  denoted by X in the given reaction 

?)   

 

 i. pTk|]/s (Catalyst) ii. tfk (Heat)     iii. rfk (Pressure)  iv. k|sfz (Light) 
 

j.   tn Pp6f syg / b'O{cf]6f ts{ lbOPsf] 5 . (A statement and two arguments are given below.) 

syg M sfo{ k|s[ltsf cfwf/df cfGtl/s ljiffbL Pp6f k|sf/ xf] . (Statement: Stomach pesticide is 

a type of pesticide based on mode of action.)  

ts{ 1 M o; k|lj|mofdf ljiffbL nfu]sf la?jfsf kft jf kmnkm"n ls/fn] vfFbf ls/fx¿ d5{g\ .  

           (Argument 1: In this process the insects die when they eat leaves and fruits of the 

plants treated by pesticides.) 

ts{ 2 M o:tf ljiffbL xfjfsf] ;Dks{df cfPkl5 ljiffn' UofF; lgl:sG5 h;sf sf/0fn] ls/f d5{g\ . 

(Argument 2: When these pesticides come contact with air, poisonous gas is released, 

due to which the insects die.) 

i. syg / ts{ 2 ;xL t/ ts{ 1 unt  (Statement and argument 2 is correct but argument 1 is 

incorrect)  

ii. syg / ts{ 2 unt t/ ts{ 1 ;xL (Statement and argument 2 is incorrect but argument 1 is 

correct)  

iii. syg / ts{ 1 ;xL t/ ts{ 2 unt  (Statement and argument 1 is correct but argument 2 is 

incorrect)   

iv. syg / ts{ 1 unt t/ ts{ 2 ;xL  (Statement and argument 1 is incorrect but argument 2 is 

correct) 

 2KClO3 
X 2KCl + 3O2↑ 

CURRIC
ULU

M D
EVELO

PMENT C
ENTRE



4 
 

v08 -v_ (Section B) 

2= clt 5f]6f] pQ/ cfpg] k|Zgx¿ . -Very short answer type questions.)      (9  1 = 9) 

a. lgolGqt r/x¿ lsg dxTjk"0f{ x'G5g\ <(Why are controlled variables important?)  

b. cfls{ldl8hsf] l;4fGt n]Vg'xf];\ . (State Archimedes' principle.)  

c. cg'n] /ftf] / xl/of] /ª 5'6\ofpg ;lSbgg\ . pSt ;d:ofsf] d"Vo sf/0f s] xf] < 

(Anu cannot distinguish red and green colour. What is main cause of this problem?)  

d. s'g} sIffdf Ps hgf ljBfyL{sf] cufl8sf] a]Grdf a:bf z}Ifl0fs kf6Ldf n]lVfPsf cIf/x¿ :ki6 b]Vg] / 

clGtd a]Grdf a:bf wldnf] b]Vg] ;d:of 5 . pSt sdhf]/L x6fpg s'g n]G;sf] k|of]u ug'{k5{ < (A 

student of the class can see letters written on instructional board 

when s/he sits on first bench and cannot see clearly when s/he sits 

on last bench. What type of lens is used to remove this defect?)  

e. lbOPsf] lrqdf 58 r'DasnfO{ ;f]n]GjfO8leq l:y/ /fVbf s] x'G5 < 

(What happen when bar magnet is placed inside solenoid at 

rest?)  

f. a|x\df08sf] eljio lgwf{/0f ug]{ k|d'v sf/s tŒj s] xf] < 

(What is the main cause of determination of future of universe?)  

g. kmnfdsf] k|d'v wfpsf] gfd n]Vg'xf];\ . (Write the name of main ore of iron.)  

h. k|ltsn] k|of]uzfnfdf l/8S;gaf6 k|fKt tfdfnfO{ z'4 agfpg On]S6«f]l/kmfOlgª ljlw 5gf]6 u/] / pgn] 

cz'4 tfdfnfO{ ;]nsf] C0ffTds w|'jdf / z'4 tfdfnfO{ ;]nsf] wgfTds w|'jdf hf]8] / On]S6«f]nfO6sf 

¿kdf sk/ ;Nkm]6 k|of]u u/] . pgn] of] ljlwdf u/]sf] q'l6 s] xf] < (In the laboratory Pratik chose 

electro-refining process to purify copper obtained from reduction process. He connected 

impure copper to negative terminal of cell and pure copper to positive terminal of cell and 

copper sulphate is used as electroplating. What is the mistake he made in this process?)  

i. lbOPsf] xfO8«f]sfa{glar ;lj|motfsf] cfwf/df Pp6f km/s n]Vg'xf];\ .  

(Write a difference between the given hydrocarbons on the 

basis of reactivity.)  

  

 

 

 

 

 

 

 

 

 

 

Fig A                   Fig B 
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v08 u (Section C) 

5f]6f] pQ/ cfpg] k|Zgx¿ . (Short answer type questions.)        (14  2 = 28) 

 
3. ljB't\ cj/f]wsf] PsfO cf]xd\ (Ω) = 𝑘𝑔𝑚2𝑠−3𝐴−2 x'G5 egL k|dfl0ft ug'{xf];\ . (Prove that electric 

resistance (Ω) = 𝑘𝑔𝑚2𝑠−3𝐴−2.)   
 

4. peor/ ju{sf s'g} b'O{ ljz]iftf n]Vg'xf];\ . (Write any two characteristics of the class amphibia.)   

5. lbOPsf] cjwf/0ff lrq cWoog u/L A / B sf] gfd n]Vg'xf];\ . (Study the given concept map and 

name A and B.)                          

 

 

  

 

 

 

6. ;f]dfl6s  /  k|hgg\  j|mf]df]hf]dsf] lardf s'g} b'O{ km/s n]Vg'xf];\ . (Write any two differences 

between somatic chromosome and sex chromosome.)  

7. z'4 sfnf] d';f (BB)  / l7dfxf sfnf] d';f (Bb) lar ;dfud eO{ cfpg] kl/0ffdsf] rf6{ agfpg'xf];\ . 

(Draw a chart of the result obtained by crossing black mouse (BB) and hybrid black mouse 

(Bb).)   

 

8. /]g'sf] /ut hfFr u/fpFbf ;]tf] /Stsf]ifsf] dfqf 2500 kfOof] . o;sf s'g} b'O{ sf/0f s] s] x'g ;S5g\ < 

n]Vg'xf];\ . (White blood cell of Renu's blood is found 2500 after examining her blood. What 

are the possible causes of this? Write any two causes.)  

 

9. xfd|f] :yfgLo :t/df ljleGg lsl;dsf h8La'6L kfOG5g\ . t/ xfdL ;fdfGo /f]usf] pkrf/df cfofltt 

cf}ifwLdf e/ k5f}F+ . o;sf] Pp6f sf/0f n]Vg'xf];\ . :yfgLo h8La'6Lsf] clwstd k|of]u ug{sf nflu s] 

ug'{k5{ < s'g} Ps a'Fbf n]Vg'xf];\ .  (Despite the medicinal herbs in our locality, we are dependent 

upon imported medicines. Write its one cause and what can we do to increase the use of 

medicinal herbs? Write a point.)  

 

10. u'?Tjansf b'O{cf]6f c;/ n]Vg'xf];\ . (Write any two effects of gravity.)   

 

11. sljgn] 49 ld6/ cUnf] 6fj/af6 Pp6f 9'ª\uf v;fNf] . Ps ;]s]G8kl5 pgn] csf]{ 9'ª\uf v;fn] . b'a} 

9'ª\uf Ps} ;dodf hldgdf 7f]lSsP . pgn] s'g ultn] bf];|f] 9'ª\uf v;fn] . lx;fa u/]/ kQf nufpg'xf];\ 

. (Kabin droped a stone from a tower of 49 m high. One second later, he threw another 

stone. They both hit the ground at the same time. Find out the velocity with which he threw 

the second stone.)  

 

12. lbOPsf] lrq cWoog u/L tnsf k|Zgsf] pQ/ n]Vg'xf];\ . (Study 

the given figure and answer the following questions.)  

i. lrqdf s'g k|sf/sf] 6«fG;kmd{/ b]vfOPsf] 5 < (What type of 

transformer is shown in the figure?) 

ii. o;sf] k|of]u ljB't\ u[xdf lsg ul/G5 <(Why is this used in 

power station?) 

A.............

........... 

kfy]{gf]h]g]l;;  

Parthenogenesis 
df}/L 

Honey 

bee 

ue{wf/0f 

Fertilization 

 

k|hgg of]Uo 

Fertile 

B..................

........... 
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13. lgefn] lrqdf lbOPsf] h:t} pks/0f agfOg\ t/ SjfOnsf] 3'Dg] b/ sd 

kfOg\ . pSt SjfOnsf] 3'Dg] b/ a9fpg s] s] ug'{knf{ < s'g} b'O{ pkfo 

n]Vg'xf];\ . (Niva made the device as shown in figure but rate of 

rotation of coil is found less. What should be done to increase 

rate of rotation of coil? Write any two methods.)  

 

14. dfgf}+F sf]lgsn ˆnfS; A, B / C df a/fa/ cfotgsf] xfO8«f]Snf]l/s 

cDn /flvPsf] 5 . olb A / C df  10 g r'g9'ª\ufsf] w'nf] / B df  10 

g g} r'g9'ª\ufsf] 6'j|mf xflnof] eg] s'g sf]lgsn ˆnfS;df /;folgs 

k|ltlj|mofsf] b/ a9L x'G5 < sf/0f;lxt n]Vg'xf];\ . (Suppose equal 

volume of hydrochloric acid is kept in conical flask A, B and 

C. If 10 g powder limestone is kept in A and C, and piece of 

10 gram limestone is kept in B, in which conical flask rate of 

chemical reaction is fast? Write with reason.)  

 

15. tnsf] tflnsfdf s'g} Ps xfO8«f]sfa{gsf] of}lussf] u'0f / k|of]u lbOPsf] 5 . (The property and use 

of a hydrocarbon compound in the given table below.)  

u'0f (Property) k|of]u (Use) 

/ªxLg / u'lnof] :jfb ePsf] afSnf] t/n 

(Colourless and viscous fluid with sweet 

taste) 

ld7fO{nfO{ u'lnof] agfpg (Use as 

sweetening agent in confectionery) 

 

i. pSt of}lussf] IUPAC gfd n]Vg'xf];\ . (Write down IUPAC name of that compound.) 

ii. pSt of}lusnfO{ k|z:t xfO8«f]hg;Fu k|ltlj|mof ubf{ aGg] of}lussf] ;+/rgf ;"q n]Vg'xf];\ . (Write 

the structural formula of compound formed by reaction between that compound with 

plenty of hydrogen.) 

16. clk|n 28, 2023 df "My Republica" df k|sflzt clez]s v8\sfsf] ljrf/sf] s]xL c+z oxfF lbOPsf] 

5 M ========== "g]kfnn] ;g\ !(^& sf] vfB P]gcg';f/ kmnkm"n ksfpg k|of]u x'g] SoflN;od sfaf{O8sf] 

k|of]u lgif]w u/]sf] 5 . SoflN;od sfaf{O8 h:tf /;fog k|of]u u/]/ s[lqd ¿kdf kmnkm"n ksfpFbf 

ljiffSttf / Go"/f]nf]lhsn Iflt;lxt dfgj :jf:Yodf xflgsf/s k|efj x'g ;S5 ." (A part of opinion 

of Mr. Abhisekh Khadka published in The "My Republica" on 28 April 2023 is given here-

…………"In Nepal, the use of calcium carbide to ripen fruits is prohibited under the Food 

Act of 1967. Artificial ripening using chemicals such as calcium carbide can have 

detrimental effects on human health, including poisoning and neurological damage.")  

    o; c+zsf] cfwf/df lgDglnlvt k|Zgsf] pQ/ n]Vg'xf];\ . (Answer the following questions on the 

basis of this part.)              
i. o; k|sf/sf] /;fogn] dfgj :jf:Yodf b]lvg] dfly lbOPsf afx]s s'g} Ps c;/ n]Vg'xf];\ . (Write 

an effect seen in human health except above mentioned by such chemical.) 

ii. k/Dk/fut ¿kdf kmnkm"n ksfpg k|of]u x'g] s'g} Ps ljlw n]Vg'xf];\ . (Write a process to 

ripening food by traditional method.) 
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v08 -3_ (Section D) 

nfdf] pQ/ cfpg] k|Zgx¿ . (Long answer type questions.)     7  4 = 28 

17. https://www.celebree.com/blog/resources/the-pros-and-cons-of-technology-in-education/ 

df ;Daf]wg ul/Psf] Anun] n]V5 M æ=========== 6]Sgf]nf]hL xfd|f] b}lgs hLjgsf ;fy} xfd|f afnaflnsfsf] 

w]/} If]qdf cfwf/e"t 36s ePsf] 5 . sIffsf]7f / l;sfO jftfj/0fsf] ;Lldttfleq k|ljlw ljBfyL{sf 

nflu nfebfos / ;d:ofu|:t b'j} x'g ;S5............"    

(A blog addressed at https://www.celebree.com/blog/resources/the-pros-and-cons-of-

technology-in-education/ writes:  

"....... Technology has become a foundational component in many areas of our daily lives, 

as well as our children’s. Within the confines of the classroom and learning environment, 

technology can be both beneficial and problematic for students. .............")           

i. Anun] s'g 6]Sgf]nf]hLsf] j0f{g u/]sf] xf] < (Which technology does the blog describe?) 

ii. Anudf pNn]v ul/Psf] 6]Sg]nf]hLsf a]kmfObf klg 5g\ . s'g} b'O{ a]kmfObf n]Vg'xf];\ . (The technology 

mentioned in the blog also has disadvantage. Write any two disadvantages.) 

iii. dfly plNnlvt k|ljlwdf AI sf] s'g} Ps k|of]u pNn]v ug{'xf];\\ . (Mention any one use of AI 

in the technology mentioned above.) 

18. ;dfrf/kqdf ePsf] cfn]v k9]/ tn ;f]lwPsf k|Zgsf] pQ/ lbg'xf];\ . (Read the newspaper 

article and answer the questions that follow.)  
hLjx¿sf] kmf]6f]skL -gSsn_ ug]{ oGq < 

olb hgfj/x¿sf nflu ;g\ !((& df r'gfj ePsf] eP 8nL ljhoL x'g]df s'g} b'Odt lyPg . tkfOF{n] 

lrqdf b]Vg'ePsf] e]8L :s6n]G8sf] xf] . h;sf] gfd 8nL xf] t/ 8nL Pp6f ;fwf/0f e]8L eg] kSs} klg 

xf]Og . pgL csf]{ e]8Lsf] Snf]g x'g\ . Snf]gsf] cy{ b'?:t p:t} xf] . Pp6f dfpaf6 b'?:t p:t} hLj 

lgsfNg] ljlw Snf]lgª xf] . j}1flgsx¿n] dfp hLj h:t} u'0f ePsf] e]8L agfpg ;kmn ePsf 5g\ . 

h'g 8nL xf] . 

o;/L e]8fsf nflu b'?:t} agfpg ;Sg] oGq lgdf{0f ug{ ;kmn :sl6; j}1flgs Oog ljNd6 lyP . pgn] 

Pp6f jo:s e]8Lsf]  -! g= e]8L_ sf] y'gaf6 Psbd} ;fgf] c+z lnP . To; ;fgf] c+zaf6 pgn] Go'lSnP; 

5'6\ofP/ csf]{ e]8L -@ g= e]8L_ sf] l8Da sf]if;Fu ldnfP . l8Da sf]if;Fu ld;fpg'clu pgn] To; l8Da 

sf]ifdf ;f] e]8Ldf ePsf u'0f af]s]sf ;a} j:t' x6fP . o;/L ld;fPsf] l8Dasf]ifnfO{ Oog ljNd6n] t];|f] 

e]8L -# g= e]8L_ sf] kf7]3/df k|Tof/f]k0f u/] . t];|f] e]8L ue{jtL eO{ / 8nL e]8LnfO{ hGd lbO{ . 

s]xL j}1flgsx¿n] s]xL jif{leqdf dflg;df klg Snf]g ;Dej 

ePsf] ;f]lr/x]sf] 5g\ . t/ w]/} b]zsf ;/sf/n] dflg;sf] 

Snf]lgªnfO{ sfg'gL ¿kaf6 /f]s nufPsf 5g\ . 
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A copying machine for living beings? 

 

Without any doubt, if there had been From that small piece he removed the 

elections for the animal of the year 1997, nucleus, then he transferred the nucleus 

Dolly would have been the winner! Dolly into the egg-cell of another (female) sheep 

is a Scottish sheep that you see in the (sheep 2). But first he removed from that 

   photo. But Dolly is not just a simple sheep.     egg-cell all the material that would have 

She is a clone of another sheep. A clone determined sheep 2 characteristics in a 

means: a copy. Cloning means copying lamb produced from that egg-cell. Ian 

‘from a single master copy’. Scientists Wilmut implanted the manipulated egg- 

succeeded in creating a sheep (Dolly) that cell of sheep 2 into yet another (female) 

     is identical to a sheep that functioned as a     sheep (sheep 3). Sheep 3 became pregnant 

‘master copy’. and had a lamb: Dolly. 

It was the Scottish scientist Ian Wilmut Some scientists think that within a few 

who designed the ‘copying machine’ for years it will be possible to clone people as 

sheep. He took a very small piece from the well. But many governments have already 

     udder of an adult sheep (sheep 1).     decided to forbid cloning of people by 

 

i. 8nL;Fu b'?:t} e]8f s'g xf] < (Which sheep is Dolly identical to?)   1 
ii. cfn]vdf e]8Lsf] y'gsf] Psbd} ;fgf] c+z elg pNn]v ul/Psf] 5 . o;sf] cfwf/df tkfO{F ;f] Psbd} 

;fgf] c+zsf] cy{ ;f]Rg ;Sg'x'g] 5 . Tof] Psbd} ;fgf] c+z s] xf] < In the text,  part of the udder 

that was used is described as “a very small piece”. From the article text you can work 

out what is meant by “a very small piece”.   1 

iii. cfn]vsf] clGtd jfSodf o;cl3 g} w]/} d'n'sn] dflg;sf] Snf]lgªnfO{ sfg'gL ¿kdf /f]s nufPsf] 

pNn]v 5 . o;sf nflu ;Defljt d'Vo b'O{ sf/0f tn pNn]v ul/Psf] 5 . s] oL sf/0f j}1flgs 

sf/0fx¿ x'g t < k|To]s sf/0fsfnflu “Yes”  jf “No” df uf]nf] nufpg'xf];\ . In the last 

sentence of the article it is stated that many governments have already decided to forbid 

cloning of people by law. 
Two possible reasons for this decision are mentioned below. Are these reasons 

scientific reasons? Circle either “Yes” or “No” for each.  (2) 

Reason: ions Scientific? 

Snf]g ul/Psf dflg; lglZrt /f]usf nflu ;fdfGo dflg;eGbf a9L 

;+j]bgzLn x'G5g\ . Cloned people could be more sensitive to certain 
diseases than normal people.         

Yes / No  

dflg;x¿n] ;[li6stf{sf] e"ldsfnfO{ cf]em]ndf kfg{' x'Fb}g . People should 

not take over the role of a Creator. Yes / No 

  

 

19. pRr /Strfksf b'O{cf]6f nIf0f / b'O{cf]6f aRg] pkfo n]Vg'xf];\ . (Write any two symptoms of high 

blood pressure and any two preventive measures.) 
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20. lbOPsf] u|fkmdf kfgLsf] cfotg / tfkj|mdsf] ;DaGw b]vfOPsf] 5 . pSt 

u|fkm cWoog u/L tnsf k|Zgsf] pQ/ n]Vg'xf];\ . (The relation between 

volume of water and temperature is shown in the given graph. 

Study the graph and answer the following question.)   

i. lrqdf b]vfOPsf] kfgLsf] ljz]if u'0fnfO{ s] elgG5 < (What is the special 

property of water shown in the picture called?)    (1) 

ii. kfgLnfO{ 00C b]lv100C ;Dd ttfpFbf 3gTjdf b]lvg] kl/jt{g n]Vg'xf];\ . (Write the change that 

takes place in density of water on heating from 00C to 100C.)      (2) 

iii. kfgLsf] pSt ljz]if u'0fsf] s'g} Ps c;/ n]Vg'xf];\ . (Write an effect of this special property 

of water.)     (1) 

21.   tnsf k|Zgsf] pQ/ lbg'xf];\ . (Answer the following questions.) 

i. sGs]e n]G; / sGe]S; n]G;lar s'g} b'O{ km/s n]Vg'xf];\ . (Write any two differences between 

concave lens and convex lens.)  

ii. xfjf / sfFrdWo] xfjfnfO{ lj/n dfWod / sfFrnfO{ ;3g dfWod elgG5, lsg < (Between air and 

glass, air is called rarer medium and glass is called denser medium, why?)  

22. lbOPsf tŒjx¿ A / B sf] On]S6«f]g ljGof; cWoog u/L lbOPsf k|Zgsf] pQ/ n]Vg'xf];\ . (Answer the 

following questions on the basis of electronic configuration of element A and B given 

below.)  

A = 1s2, 2s2 2p6 , 3s2 3p6, 4s1            B = 1s2,  2s2 2p4 

i. tŒj A k]l/of]l8s tflnsfsf] s'g u|'kdf k5{ < (In which group element A belongs in periodic 

table?) 

ii. tŒj B k]l/of]l8s tflnsfsf] s'g lkl/o8df k5{ < (In which period element B belongs in 

periodic table?) 

iii. A / B ldn]/ aGg] of}lussf] c0f';"q n]Vg'xf];\ . (Write down molecular formula of compound 

formed by combination of A and B.) 

iv. tŒj B nfO{ lsg k]l/of]l8s tflnsfsf] p Ansdf /flvPsf] xf] < (Why is element B kept in p 

block of periodic table?) 

23. k|of]uzfnfdf Pdf]lgof UofF; agfpg] ljlwsf] gfdfª\lst lrq sf]g'{xf];\ . UofF; hf/df of] UofF; k/LIf0f 

ug]{ Pp6f tl/sf n]Vg'xf];\ . (Draw well labeled diagram of laboratory preparation of ammonia 

gas and write down a method to test this gas in the gas jar.)         (1+2+1) 
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Answer Key and Marking Scheme 

Section A 

1. Multiple Choice Question: Key answer 

a. Key: C l8df]8\o'n]6/ (Demodulator) 

b. Key: D o;df km"nsf] ;6\6f sf]0f x'G5, kmnlagfsf] gfª\uf] lap x'G5 . (It has cone instead of 

flower, seed is naked) 

c. Key: A hLj A peolnª\uL xf] eg] hLj B Pslnª\uL xf] . (Organism A is unisexual whereas 

organism B is hermaphrodite) 

d. Key: B k/hLjL (Parasitic) 

e. Key: B 4.002 m/s2 

f. Key: A. gbLsf] kfgLsf] eGbf ;d'b|sf] kfgLsf] 3gTj a9L  (Density of sea water is more than 

river water) 

g. Key: C.𝑣𝑔 < 𝑣𝑦 < 𝑣𝑟 > 𝑣𝑣 

h. Key: D lau Aofª l;4fGt (Big Bang Theory) 

i. Key: A. pTk|]/s(Catalyst) 

j. Key: C. syg / ts{ 1 ;xL t/ ts{ 2 unt  (Statement and argument 1 is correct but argument 

2 is incorrect)   

 

Section B 

2. Very Short type question: Marking scheme 

a. k|of]usf] lgisif{nfO{ dfGo agfpg÷glthfnfO{ ljZj;gLo agfpg lgolGqt r/ dxŒjk"0f{ x'G5 n]v]df    

            ! cª\s 

b. s'g} j:t'nfO{ cf+lzs jf k"0f{ ¿kdf t/n kbfy{df 8'afpFbf nfUg] pWj{rfk pSt j:t'n] lj:yflkt ug]{ 

t/nsf] tf}n;Fu a/fa/ x'G5  n]v]df       ! cª\s 

c. j+zf0f'j|md n]v]df         ! cª\s 

d. sGs]e n]G;sf] k|of]u ug'{k5{ n]v]df       ! cª\s 

e. UofNefgf]ld6/sf] ;'O{sf] rfnsf] lbzf kl/jt{g xF'b}g n]v]df     ! cª\s 

f.  u'?Tjan n]v]df         ! cª\s 

g.  x]df6fO6 n]v]df         ! cª\s 

h.  cz'4 tfdfnfO{ ;]nsf] wgfTds w|'jdf ghf]l8g' n]v]df     ! cª\s 

i. Fig A  sf] xfO8«f]sfa{g sd ;lj|mo /  Fig B  sf] xfO8«f]sfa{g a9L ;lj|mo n]v]df  ! cª\s 
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Section C 

Short Answer Type Question: Marking scheme 

3. 𝑅 =
𝑉

𝐼
=

𝑊

𝑄×𝐼
=

𝐹×𝑑

𝐼×𝑡×𝐼
 n]v]df        ! cª\s 

 =
𝑘𝑔𝑚2𝑠−2×𝑚

𝐴×𝑆×𝐴
= 𝑘𝑔𝑚3𝑠−3𝐴−2  n]v]df       ! cª\s 

4. i.  logLx¿sf] 5fnf cf]l;nf] x'G5 n]v]df                 ! cª\s 

ii.  logLx¿sf] z/L/nfO{ 6fpsf] / 9f8 u/L b'O{ efudf 5'6\ofOPsf] x'G5 n]v]df  ! cª\s 

jf cGo ;xL @ cf]6f pQ/ n]v]df       @ cª\s 

5.  A efn] df}/L n]v]df         ! cª\s 

       B /fgL df}/L n]v]df         ! cª\s 

6. i.  ;f]dfl6s j|mf]df]hf]dn] z/L/sf ;Dk"0f{ agf]6sf u'0f hfx]/ u5{ . ;]S; j|mf]df]hf]dn] hLjsf] lnª\u lgwf{/0f 

u5{ n]v]df         ! cª\s 

ii.   ;f]dfl6s j|mf]df]hf]dx¿sf] hf]8Lsf] agfj6 p:t} x'G5  . ;]S; j|mf]df]hf]dx¿sf] hf]8Lsf] agfj6 km/s 

km/s x'G5  n]v]df        ! cª\s 

jf cGo ;xL @ ljsNk n]v]df           @ cª\s 

7. tn lbOPsf] rf6{ agfPdf          @ cª\s 

 

 

 

 

 

 

 

 

8. i.  efO/n ;ª\j|md0f (Viral Infection)  n]v]df      ! cª\s 

ii.  af]g Dof/f] l8:c8{/÷c6f] ODo'g l8lhh\   n]v]df     ! cª\s 

jf cGo ;xL @ pQ/ n]v]df            @ cª\s 

9. sf/0f /;folgs cf}ifwL ;:tf], ;lhn};+u k|of]u ug{ ;Sg] n]v]df      ! cª\s 

pkfo M /f;folgs cf]ifwLsf] c;/ u5{ n]v]df      ! cª\s  

10. i.  u'?Tjann] ubf{ j:t'sf] tf}n x'G5 n]v]df      ! cª\s 

ii.  o;n] ubf{ prfOaf6 v;fn]sf j:t' k[YjLsf] s]Gb|lt/ v:5g\ n]v]df   ! cª\s 

   jf cGo ;xL @ pQ/ n]v]df          @ cª\s 

11. lbOPsf] 

 klxnf] 9'ª\ufsf] ;'?sf] ult (u)= 0m/s 

 6fj/sf] prfO (h)= 49 m 

 u'?Tj k|j]u (g)= 9.8 m/s2 

 We know that, 

ℎ = 𝑢𝑡 +
1

2
𝑔𝑡2 

𝑜𝑟, 49 = 0 × 𝑡 +
1

2
× 9.8 × 𝑡2 

𝑜𝑟, 49 = 0 + 4.9 × 𝑡2 

Gamete 

Phenotype   Pure black    Hybrid black 

Genotype       BB             Bb 

B B 
B b 

F1 generation BB           Bb           BB              Bb 

Meiosis Meiosis 
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𝑜𝑟, 𝑡 = 3.16 𝑠 

Again, 

bf];|f] 9'ª\ufnfO{ hldgdf k'Ug nfu]sf] ;do (t1)= (3.16-1)s=2.16 s 

 6fj/sf] prfO (h)= 49 m 

 u'?Tj k|j]u (g)= 9.8 m/s2 

bf];|f] 9'ª\ufsf] ult (v1)= ? 

We know that, 

ℎ = 𝑢𝑡 +
1

2
𝑔𝑡2 

𝑜𝑟, 49 = 𝑢 × 2.16 +
1

2
× 9.8 × 2.162 

𝑜𝑟, 49 = 𝑢 × 2.16 + 4.9 × 4.67 

𝑜𝑟, 49 = 𝑢 × 2.16 + 22.88 

𝑜𝑟, 49 − 22.88 = 𝑢 × 2.16 

𝑜𝑟, 𝑢 =
26.12

2.16
= 12.09 𝑚/𝑠 

∴ 𝑢 = 12.09 𝑚/𝑠 

lbOPsf] / ;"q ;xL n]v]df           ! cª\s 

PsfO;lxt lx;fa ;xL u/]df           ! cª\s 

12.i.  :6]k ckm 6«fG;kmd{/ n]v]df        ! cª\s 

ii.  nfdf] b'/Ldf ljB't\ k|;f/0f ubf{ ljB't\sf] ;fdYo{ g36fpgsf nflu n]v]df  ! cª\s 

13.i.  ef]N6]h a9fpg'k5{ n]v]df        ! cª\s 

ii.  r'Dassf] zlSt a9fpg'k5{ n]v]df       ! cª\s 

jf cGo ;xL pQ/ n]v]df        @ cª\s 

14.i.  sf]lgsn ˆnfS; C sf] /;folgs k|ltlj|mof a9L x'G5 n]v]df    ! cª\s 

ii.  sf]lgsn ˆnfS; A sf] eGbf C sf] df 3f]nsf] uf9fkg / tfkj|md a9L 5 . t/ B sf] eGbf C sf] 

3f]nsf] uf9fkg a9L / k|ltlj|mof/t kbfy{sf] If]qkmn klg a9L 5 . cGo sf]lgsn ˆnfS;sf] t'ngfdf 

sf]lgsn ˆnfS;  C  df k|ltls|of/t kbfy{x¿sf] c0f'x¿sf] 7f]sfOsf] b/ (Rate of collision) a9L 

x'G5 / c0f'x¿sf] 7f]sfOsf] b/ a9L x'Fbf /;folgs k|ltlj|mofsf] b/ klg a9L x'G5 n]v]df    ! cª\s 

15. i. Propane-1,2,3-triol  n]v]df         ! cª\s 

n]v]df             ! cª\s ii.                     

 

 

16. i.  5fnf lrnfpg]÷5fnfdf /ftf kmf]sf cfpg]÷kmf]S;f]df kfgL hDg] jf cGo ;xL pQ/ n]v]df ! cª\s 

ii.  h'6sf] af]/fn] a]/]/ /fVg]÷c;'/fsf] kft k|of]u ug]{ jf cGo ;xL pQ/ n]v]df ! cª\s 
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Section D  

Long Questions 

17.i.  l8lh6n 6]Sgf]nf]hL n]v]df        ! cª\s 

  ii. a.  Psf]xf]/f] cgnfOgdf Jo:t x'g] JolStsf nflu Ps csf{;+u cGt/lj|mof ug]{ z}nLdf kl/jt{g cfpF5 . 

b.  ;fdflhs ;~hfnaf6 x'g] ck/fwn] JolStut, kfl/jfl/s tyf ;fdflhs hLjgdf c;/ kf5{ .  

    jf cGo ;xL pQ/ n]v]df k|To]s a'Fbfsf] !÷! cª\s lbO{ hDdf     @ cª\s 

   iii.  af}l4s 6\o'zg÷er{'cn lzIff jftfj/0f÷:df6{ ;fdu|L÷ cGo ;xL pQ/ n]v]df ! cª\s 

18. i.  e]8L ! n]v]df       ! cª\s 

ii. sf]if  n]v]df ! cª\s 

iii.  klxnf]df xf] / bf];|f]df xf]Og n]v]df  !  / ! cª\s u/]/ hDdf @ 

19. nIf0fx¿ 

i.  6fpsf] b'Vg], nfdf] Zjf; lng g;Sg] 

ii.  kl;gf cfpg], lzlyntf x'g] jf cGo ;xL pQ/  n]v]df    @ cª\s 

aRg] pkfo 

i.  lrNnf] kbfy{ / g'gsf] dfq sd vfg'k5{ . 

ii.  w'd|kfg / dWokfg ug'{x'Fb}g jf cGo ;xL pQ/  n]v]df    @ cª\s 

20. 

i. kfgLsf] c;fwf/0f k|;f/ n]v]df        ! cª\s 

ii. kfgLnfO{ 00C b]lv 40C ;Dd ttfpFbf 3gTj a9\b} hfG5 / 40C b]lv100C ;Dd ttfpFbf 3gTj 36\b} 

hfG5 . 40C df kfgLsf] ;a}eGbf a9L 3gTj x'G5 . n]v]df     @ cª\s 

iii. hf8f]ofddf kf]v/Lsf] ;txdf kfgL hd]klg a/kmd'lgsf] kfgLdf df5f hLljt /xG5g\ jf hf8f]ofddf 

kfgLsf] kfOkx¿ km'6\g ;S5 jf cGo ;xL pQ/ n]v]df     ! cª\s 

21. 

i. a. sGe]S; n]G;sf] 5]pdf eGbf lardf afSnf] x'G5 eg] sGs]e n]G;sf] lardf eGbf 5]pdf kftnf] x'G5  

    b. sGe]S; n]G;sf] s]Gb|Ls/0f laGb' jf:tljs / sGs]e n]G;sf] s]Gb|Ls/0f laGb' cjf:tljs x'G5 n]v]df jf 

cGo ;xL @ pQ/ n]v]df        @ cª\s 

 ii. xfjfdf k|sfzsf] j]u a9L (3 × 108 𝑚/𝑠) / sfFrdf k|sfzsf] j]u sd (2 × 108 𝑚/𝑠) x'G5 . k|sfzsf] 

j]u a9L ePsf] dfWodnfO{ lj/n / k|sfzsf] j]u sd ePsf] dfWodnfO{ ;3g dfWod elgG5 n]v]df @ 

cª\s 

22. i. tŒj A k]l/of]l8s tflnsfsf] IA  ;d"xdf k5{ n]v]df     ! cª\s 

   ii. tŒj B k]l/of]l8s tflnsfsf] 2 lkl/o8df k5{ n]v]df     ! cª\s 

   iii. tŒj A / B ldn]/ aGg] of}lussf] c0f';"q K2O  n]v]df    ! cª\s 

   iv. tŒj B nfO{ lsg p Ansdf /flvPsf] xf] lsgls o;sf] clGtd On]S6«f]g p ;a;]ndf k5{ n]v]df ! 

cª\s 

23. ;kmf gfdfª\lst lrq sf]/]df        # cª\s 

leh]sf] /ftf] ln6d; k]k/ UofF; hf/leq 3';fpFbf lgnf]df 

kl/jt{g ePdf UofF; hf/df Pdf]lgof UofF; el/Psf] 

x'G5 jf s8f xfO8«f]Snf]l/s cDndf 8'afOPsf] sfFrsf] /8 

UofF; hf/leq 3';fpFbf ;]tf] ˆo'D;\ cfPdf Pdf]lgof 

UofF; el/Psf] x'G5 n]lvPdf   ! cª\s 

 

Hard glass test tube 

Burner 

Cork 

Stand 

Gas 
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ljlzi6Ls/0f tflnsfcg';f/ k|Zgkq lgdf{0f ubf{ k|of]u ug{ ;lsg] gd'gf r]slni6÷d]l6«S; ! 

-Checklist/Matrix-1_ 

j|m=;= PsfO sfo{306f ;+1fgfTds If]q ;d"xut 

cª\sef/ 

PsfOut 

cª\sef/ 1fg 

-!%%_ 

af]w  

-#)%_ 

k|of]u  

-#)%_ 

pRr bIftf  

-@%%_ 

!= j}1flgs cWoog  %  VSQ SQ  

* 

# 

!#= ;"rgf tyf ;~rf/ k|ljlw !) MCQ  LQ  % 

@= ;hLjx¿sf] juL{s/0f ( SQ MCQ MCQ  

@# 

$ 

#= hLjg rj|m $    SQ @ 

$= j+zfg'j|md !^  SQ 1SQ LQ * 

%= zf/Ll/s ;+/rgf / hLjg k|lj|mof !@ LQ SQ    ^ 

^= k|s[lt / jftfj/0f &  MCQ SQ  # 

&= rfn / an !) SQ  MCQ SQ 

@% 

% 

*= rfk % VSQ MCQ   @ 

(= tfk zlSt !)    LQ $ 

!)= t/ª\u !%  LQ, VSQ VSQ MCQ & 

!!= ljB't\ tyf r'DasTj !@  SQ SQ/VSQ   % 

!@= a|x\df08 % MCQ VSQ   @ 

!$= tTjx¿sf] juL{s/0f  (  LQ   

!( 

$ 

!%= /f;folgs k|ltlj|mof ^  MCQ  SQ # 

!^= UofF;x¿ *   LQ  $ 

!&= wft'  % VSQ   VSQ @ 

!*= xfO8«f]sfa{g / o;sf of}lusx¿ ^  VSQ  SQ # 

!(= b}lgs hLjgdf k|of]u x'g] /;fogx¿ ^   SQ 1MCQ # 

hDdf !^)      &%  &% 

MCQ = Multiple Choice Question, VSQ = Very Short Question, SQ = Short Question, LQ = Long Question 
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ljlzi6Ls/0f tflnsfcg';f/ k|Zgkq lgdf{0f ubf{ k|of]u ug{ ;lsg] gd'gf r]slni6÷d]l6«S; @ 

-Checklist/Matrix-2_ 

j|m=;= PsfO sfo{306f     ;d"xut 

cª\sef/ 

PsfOut 

cª\sef/ 
1fg 

-!%%_ 
af]w -#)%_ 

k|of]u 

 -#)%_ 

pRr bIftf  

-@%%_ 

!= j}1flgs cWoog  %   1S  

* 

@ 

!#= ;"rgf tyf ;~rf/ k|ljlw !) 1MCQ 1VS 1L  
^ 

@= ;hLjx¿sf] juL{s/0f ( 1S  1MCQ 1S 

@# 

% 

#= hLjg rj|m $ 
 1S   

@ 

$= j+zfg'j|md !^ 
 1MCQ 1S 1L & 

%= zf/Ll/s ;+/rgf / hLjg k|lj|mof !@ 1L 1MCQ    
% 

^= k|s[lt / jftfj/0f & 
 1S 1S  

$ 

&= rfn / an !) 1S 1MCQ 1MCQ  

@% 

$ 

*= rfk % 1VS   1S # 

(= tfk zlSt !) 
 1VS  1L % 

!)= t/ª\u !% 
 1L 1VS 1MCQ ^ 

!!= ljB't\ tyf r'DasTj !@ 1MCQ 1VS 1S   
$ 

!@= a|x\df08 % 
 1S 1VS  

# 

!$= tTjx¿sf] juL{s/0f  ( 
 1MCQ  1S 

!( 

# 

!%= /f;folgs k|ltlj|mof ^ 
 1L   

$ 

!^= UofF;x¿ * 
  1L  

$ 

!&= wft'  % 1VS   1S # 

!*= xfO8«f]sfa{g / o;sf of}lusx¿ ^ 
 1VS  1VS @ 

!(= b}lgs hLjgdf k|of]u x'g] /;fogx¿ ^ 
  1S 1MCQ # 

hDdf !^)      &%  &% 

MCQ = Multiple Choice Question, VSQ = Very Short Question, SQ = Short Question, LQ = Long Question 
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ljlzi6Ls/0f tflnsf 

ljifoM ;fdflhs cWoog 

sIff M  !)

  ;doM # 306f        

  k"0ff{ª\s M &% 

PsfO 

 sfo{ 

306f 

clt 5f]6f] pQ/ cfpg] k|Zg 5f]6f] pQ/ cfpg] k|Zg nfdf] pQ/ cfpg] k|Zg 

PsfOut 

cª\s 

ljefhg 

1fg / 

af]w 

kof]u / 

l;h{gfTds 

l;k 

pRr 

bIftf 

1fg / 

af]w 

kof]u / 

l;h{gfTds 

l;k 

pRr 

bIftf 

1fg 

/ 

af]w 

k|of]u / 

l;h{gfTds 

l;k 

pRr 

bIftf 

!= xfdL / xfd|f] ;dfh * 

! -!_ ! -$_

% 

@=ljsf;sf k"jf{wf/ !) 

 !-!_  !-$_ 

% 

#=xfd|f] k/Dk/f Pjd\ 

;fdflhs d"No / 

dfGotf 

!$ 

! -$_ ! -$_

* 

$= ;fdflhs ;d:of / 

;dfwfg 

!@   ! 

-!_   !-!_ !-$_ 

^ 

%=gful/s r]tgf !* 

! -$_ ! -&_

!! 

^= xfd|f] k[YjL !* 

! -$_ !-&_ 

!! 

&= xfd|f] ljut !$ 

 !-!_ !-!_ 

 !-

&_ 

( 

*= xfd|f cfly{s 

lj|mofsnfk 

!% 

  !-!_   !-!_  !-&_ 

( 

(= xfd|f] cGt/f{li6«o 

;DaGw / ;xof]u 

!! 

!-!_   !-!_ !-$_ 

^ 

!+)= hg;ª\Vof / 

o;sf] Joj:yfkg 

* 

!-!_  !-$_ 

% 

hDdf !@* 

% # # $ @ # ! @ ! 

&% 
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k|Zgsf lsl;d k|Zg ;ª\Vof hDdf cª\s ef/ 

Nffdf] pQ/ cfpg] k|Zg $ $ X &Ö @* 

5f]6f] pQ/ cfpg] k|Zg ( ( X $ Ö #^ 

clt 5f]6f] pQ/ cfpg] k|Zg !! !! X ! Ö !! 

hDdf @$ &% 

b|i6JoM 1fg / af]w If]qaf6 k|Zg ;f]Wbf 1fg / af]wsf] ;Gt'ng ldnfpg' kg]{ 5 .  

pRr bIftfdf ljZn]if0f, ;dfnf]rgfTds lrGtg, d"No / clej[lQ;Fu ;DalGwt k|Zgx¿ ;f]Wg ;lsg] 5  

1fg af]waf6 #& k|ltzt, k|of]u / l;h{gzLntfaf6 ## k|ltzt / pRr bIftfaf6 #) k|ltzt cª\sef/ 

/xg] 5g\  

xfd|f] k[YJfL PsfOaf6 ;f]lwg] nfdf] pQ/ cfpg] k|Zgdf j}slNks k|Zg ;f]lwg] h;df g]kfnsf] gS;f jf 

dxfb]zsf] gS;f agfP/ eg{'kg]{ 5 . 

xfd|f cfly{s lj|mofsnfkaf6 ;f]lwg] nfdf] pQ/ cfpg] k|Zg l;h{gfTDfs l;k;Fu ;DalGwt x'g] 5 . 

 

 

 

 

 

sIff !)                                            k"0ff{ª\s M &% 

ljifoM  ;fdflhs cWoog                            ;doM # 306f 

;d"x -s_ 

clt 5f]6f] pQ/ cfpg] k|Zgx¿                                 !! X !Ö!! 

!= xfd|f] /fli6«o uf}/jsf] s'g} Ps dxŒj n]Vg'xf];\ . 

@=  ljsf;sf k"jf{wf/nfO{ lbuf] / l6sfp agfpg s] ug'{k5{ < s'g} Ps a'Fbfdf :ki6 kfg'{xf];\ . 

#= 3/]n' lx+;fsf] s'g} Ps kfl/jfl/s c;/ n]Vg'xf];\ . 

$= cGwljZjf; x6fpg pko'St x'g] Ps ;Gb]zd"ns Kn]sf8{ tof/ kfg'[{xf]];\ . 

%= lj=;+ @))& df ePsf] lbNnL ;Demf}tf s'g s'g kIfsf lardf ePsf] lyof] < 

^= lk:s/ xTofsf08 kl5 g]kfnsf] /fhgLltdf tTsflng c;/ s] k/]sf] lyof] <  

&= s/ 5nL ug'{ u}/sfg'gL sfo{ xf] . o; ;DaGwdf cfkm\gf] ljrf/ Ps jfSodf k|:t't ug'{xf];\ . 

*= j}b]lzs /f]huf/Ldf uP/ kms]{sf cfkm\gf gft]bf/nfO{ pxfFn] ljb]zdf l;s]/ cfPsf 1fg / l;knfO{ 

cfkm\g} 7fpFdf pkof]u ug{ s] ;Nnfx lbg'x'G5 < tkfO{Fn] lbg] s'g} Ps ;Nnfx pNn]v ug'{xf];\ . 

(= cGt/f{li6«o Gofofnosf] k|d'v sfo{ n]Vg'xf];\ . 
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!)= :yfgLos/0fn] df}lns klxrfg hf]ufO/fVg s;/L dbt u5{ < cfkm\gf] ts{;lxt Ps jfSodf k'li6 

ug'{xf];\ . 

!!= u'0f:t/Lo hLjg k|fKt ug{ tkfO{Fsf] kl/jf/n] u/]sf] s'g} Ps Jofjxfl/s cEof; pNn]v ug'{xf];\ . 

;d"x -v_ 

5f]6f] pQ/ cfpg] k|Zgx¿                                      ( X $Ö#^ 

!@=  g]kfnsf] hftLo, eflifs / ;f+:s[lts ljljwtf clezfk geO{ cj;/ xf], o; egfOnfO{  

pbfx/0f;lxt k'li6 ug'{xf];\ . 

!#= g]kfndf ;+ª\3Lotfn] NofPsf ;sf/fTds kl/jt{g pNn]v ug'{xf];\ . 

!$= s'g} Ps /fli6«o lbj;nfO{ eJo / ;Eo ¿kdf dgfpgsf nflu tkfO{Fsf ljBfnodf ul/g] sfo{j|mdsf] 

of]hgfsf] 5f]6f] ¿k/]vf tof/ kfg'{xf];\ . 

!%_ tkfO{Fn] cGt/f{li6«o JolStTjsf] of]ubfgaf6 k|fKt ug'{ePsf] k|]/0ffnfO{ cfkm\gf] hLjgdf s;/L pkof]u 

ug'{ePsf] 5 < 

cyjf 

xfd|f nf]s uLt, nf]safhf / nf]sg[TonfO{ nf]k x'g glbg :yfgLo ;d'bfonfO{ a9L lhDd]jf/ agfpg'kb{5 

eGg] ;Gbe{nfO{ cfkm\gf] ts{åf/f k'li6 ug'{xf];\ . 

!^= ;fdflhs ;d:of ;dfwfgsf nflu ;/sf/, ljleGg /fli6«o Pjd\ cGt/f{li6«o ;ª\3;+:yfsf] 

lj|moflzntf /xFb} cfP klg ;fdflhs ;d:ofsf] k|efjsf/L lg/fs/0f x'g g;Sg'df s'g s'g kIf a9L 

lhDd]jf/ 7fGg'x'G5 / lsg < 

!&= Gofokflnsfsf k|d'v sfo{x¿ pNn]v ug'{xf];\ . 

!*= ;dlztf]i0f d?:ynLo xfjfkfgL / ;dlztf]i0f t[0fe"ldsf] xfjfkfgLlar s'g} rf/cf]6f leGgtf pNn]v 

ug'{xf];\ . 

!(= ljZj hnjfo' ;ª\u7gn] g]kfnsf] df};d / hnjfo'sf If]qdf s:tf sfo{x¿df ;xof]u k'¥ofpg ;S5 

. cfkm\gf ;'emfj k|:t't ug'{xf];\ . 

@)= :j:y hLjgz}nL sfod /fVg] pkfosf] ;"rL tof/ kfg"[xf];\ . 

 

;d"x -u_ 

nfdf] pQ/ cfpg] k|Zgx¿                                       $ X& Ö@* 

@!= Pp6f ;r]t / lhDd]jf/ pkef]Stfsf ¿kdf tkfO{Fn] lgjf{x ub}{ cfPsf] e"ldsfsf] ;dLIff ug'{xf];\ . 

@@_ k[i7 e/Lg] u/L g]kfnsf] gSzf lgdf{0f u/L lgDg tYox?nfO{ ;+s]tdf b]vfpg'xf];\ . 

clk lxdfn, bfdf]b/ s'08, s6f/L, lrtjg /fli6«o lgs'~h 

cyjf 

blIf0f cd]l/sfsf] gS;f lgdf{0f u/L lgDg tYox¿nfO{ pko'St ;ª\s]tdf b]vfpg'xf];\ . 
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PlG8h kj{tdfnf, cf6fsfdf d?e"ld, kDkf; 3fF;] d}bfg, l6l6sfsf tfn 

@#= k|yd ljZjo'4sf] tTsfnLg sf/0fx¿ pNn]v ug'{xf];\ . o; o'4sf] kl/0ffd :j¿k clwgfosjfbsf] 

pbo x'g uof], s;/L < cfkm\gf ljrf/ k|:t't ug'{xf];\ . 

@$=  hLjg ladf / o;sf] dxŒj bzf{pFb} ljb]z /x]sf bfh'nfO{ Pp6f lr7L n]Vg'xf];\ .  
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sIff !) sf] kf7\os|ddf cfwfl/t dfWolds lzIff k/LIff 
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g]kfn ;/sf/ 

lzIff, lj1fg tyf k|ljlw dGqfno

kf7\os|d ljsf; s]Gb| 

;fgf]l7dL, eStk'/
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k|sfzsM
g]kfn ;/sf/ 

lzIff, lj1fg tyf k|ljlw dGqfno

kf7\os|d ljsf; s]Gb|

;fgf]l7dL, eStk'/

     kf7\os|d ljsf; s]Gb|

k|yd ;+:s/0fM @)&^

d"NoM

o; ;fdu|Lsf] ;jf{lwsf/ o; s]Gb|df ;'/lIft /x]sf] 5 . lnlvt :jLs[lt ljgf o;sf] k"/} jf cf+lzs 
efu x'ax' k|sfzg ug{, kl/j{tg ug{, s'g} ljB'tLo ;fwg jf cGo k|ljlwaf6 /]s8{ ug{ / k|ltlnlk 
lgsfNg kfOg] 5}g . 

C
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s|=;+= ljifo k[i7 
!= ljlzi6Ls/0f tflnsfsf] kl/ro !
@= cy{zf:q %
#= Oltxf; !@
$= sDKo'6/ lj1fg !*
%= ul0ft @^
^= hg;ª\Vof lzIff ##
&= gful/s lzIff #(
*= kmf]6f]u|fkmL $^
(= e'uf]n %!
!)= n]vfk/LIf0f %*
!!= jftfj/0f lj1fg ^*
!@= lj1fg &$
!#= :jf:Yo tyf zf/Ll/s lzIff &(
!$= lzIff *%
!%= ;dfhzf:q (!
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ljlzi6Ls/0f tflnsf (Specification grid)

kl/ro
lzIffsf /fli6«o p2]Zo kl/k"lt{ ug]{ dxŒjk"0f{ ;fwg kf7\oqmd xf] . kf7\os|dsf] k|efjsf/L sfof{Gjog 
x'g ;s]df dfq lzIffsf] u'0f:t/ clej[l4 x'g ;Sb5 . kf7\os|dsf] ;xL ¿kdf sfof{Gjog ug{sf 
nflu k|efjsf/L lzIf0f l;sfO k|ls|ofsf ;fy} d"Nofª\sg k|0ffnLsf] cxd\ e"ldsf /x]sf] x'G5 . t;y{ 
kf7\os|dsf] k"0f{ sfof{Gjogdf d"Nofª\sg k|0ffnL k|efjsf/L x'g h?/L x'G5 . 

kf7\oqmdsf lglb{i6 p2]Zox¿ k"lt{ eP ePgg\ eGg] s'/fsf] n]vf hf]vf ug]{ k|ls|of d"Nofª\sg xf] eg] 
d"Nofª\sg k|lqmofnfO{ of]hgfa4 tyf k|efjsf/L agfpg] dxŒjk"0f{ ;fwg ljlzi6Ls/0f tflnsf klg Ps 
xf] . lzIfsf] u'0f:t/ / k|efjsfl/tf clej[l4 ug{ d"Nofª\sg k|0ffnLdf ;'wf/ ug{ cTofjZos x'G5 . 
d"Nofª\sg k|0ffnLdf ;'wf/ ug{ kf7\qmdsf ;Dk"0f{ kIf ;d]6]/ d"Nofª\sgsf ;fwg lgdf{0f u/L d"Nofª\sg 
k|lqmof ;~rfng ug'{ ckl/xfo{ x'G5 . xfd|f] jt{dfg z}lIfs k|lqmofdf d"Nofª\sgsf] cleGg cª\usf 
¿kdf k/LIffnfO{ lnOg] ul/Psf] 5 . kf7\oqmdsf p2]Zo k|fKt x'g] u/L kf7\oqmdsf ;a} ljifoj:t' 
;d]6]/ kf7\oqmdåf/f lglb{i6 d"Nofª\sg k|lqmof ckgfO{ d"Nofª\sgsf ;fwgsf ¿kdf k/LIffnfO{ k|of]udf 
Nofpg ljlzi6Ls/0f tflnsfsf] dxŒjk"0f{ /x]sf] x'G5 . k/LIff ;~rfng ug'{cufl8 k|Zgkqx¿ s:tf 
agfpg, s'g PsfO jf kf7af6 s'g k|sf/sf] k|Zg ;f]Wg], s'g p2]Zosf] d"Nofª\sg ug{ s:tf] k|Zgkq 
tof/ ug]{, k|Zgsf] cª\sef/ slt lbg], s'g k|ZgnfO{ slt ;do lgwf{/0f ug]{ h:tf s'/fx¿ ljrf/ 
u/]/ k|Zgkq lgdf{0f ug{ cfjZos x'G5 . o;/L x/]s lzIfsn] k/LIff ;~rfng ug'{cufl8 log} 
s'/fx¿ ;dfj]z u/L tof/ kfl/g] tflnsfnfO{ g} ljlzi6Ls/0f tflnsf elgG5 . o;/L pSt tflnsfdf 
kf7\qmdsf p2]Zo, ljifoj:t', cª\sef/, ;do cflbnfO{ Vofn u/L s'g PsfOaf6 s:tf / sltcf]6f 
k|Zgx¿ ;f]Wg], s'g k|Zg slt cª\ssf] /fVg], s'g k|ZgnfO{ slt ;do lbg] k|Zgdf 1fg, l;k / pRr 
IfdtfnfO{ s'g s'g k|Zgaf6 d"Nofª\sg ug]{ h:tf s'/fx¿ ;dfj]z ul/Psf] x'G5 . ljlzi6Ls/0f 
tflnsfs} cª\usf ¿kdf gd'gf k|Zgkq / To;sf] pQ/s'l~hsfnfO{ klg lng ;lsG5 . o;/L x]bf{ 
ljlzi6Ls/0f tflnsf k|Zgkq lgdf{0fstf{ / pQ/k'l:tsf k/LIfssf nflu Psk|sf/sf] dfu{bz{g jf 
lgb]{lzsf klg xf] . lzIfsn] lzIf0f k|lqmof ;~rfng ubf{ klg s'g ljifoj:t'nfO{ s;/L / s'g p2]Zo 
k|flKtsf nflu ug]{ eGg] dfu{lgb]{z klg o; tflnsfn] ub{5 . 

ljlzi6Ls/0f tflnsfn] lzIfs tyf k|Zgkq lgdf{0fstf{nfO{ k|Zgkq agfpFbf ljifoj:t'ut j}wtf 
lgwf{/0f ug{ lgb]{lzt ub{5 . o;df kf7\oqmdsf] p2]Zocg';f/ k/LIff / d"Nofª\sg k|ltljlDat ePsf] 
x'G5 . k/LIffsf] :t/Ls/0f, Ps¿ktf / j}wtfsf nflu ljlzi6Ls/0f tflnsfn] dxŒjk"0f{ e"ldsf v]n]sf] 
x'G5 . o;df l;sfOsf ;Dk"0f{ kIf ;d]l6Psf] x'g'k5{ . kf7\oqmdsf ;Dk"0f{ If]qaf6 k|Zg lgdf{0f ug{ 
;lsg] u/L 1fg, af]w / cGo txsf k|Zgx¿ lgdf{0f ug{, k|Zg ;ª\Vof, ;do / cª\s lgwf{/0f ug{ 
tyf d"Nofª\sg ug]{ k|lqmof ;d]tnfO{ lgwf{/0f ug]{ x'Fbf lzIf0f l;sfO k|lqmofdf o;sf] cxd\ e"ldsf 
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/x]sf] x'G5 . 

s'g} klg ljifosf] kf7\oqmdcg';f/ ljlzi6Ls/0f tflnsf km/s km/s 9ª\un] lgdf{0f ug{ ;lsG5 . 
To:t} ljifosf] k|s[lt / :j¿kcg';f/ klg ljlzi6Ls/0f tflnsf lgdf{0f x'g ;Sb5 . t}klg ;fdfGotof 
ljlzi6Ls/0f tflnsf lgdf{0f ubf{ lgDglnlvt s'/fx¿ ljrf/ ug{ cfjZos x'G5M

!= kf7\oqmdsf ;Ifdtf

@= ljifoj:t'sf If]q  jf ljwfx¿

#= l;sfOsf ljleGg txx¿M ;DemfO, a'emfO, k|of]u, ljZn]if0f, d"Nofª\sg, l;h{gf cflb kIfx¿

$= kf7\oqmdåf/f lglb{i6 kf7\oef/ / ljifoj:t'sf] Jofkstf

%= k/LIfdf ;f]lwg] k|Zgsf k|sf/, k|Zgsf :t/, k|Zgsf ;ª\Vof, cª\sef/ / ;do

^= k|Zg lgdf{0fsf nflu :ki6 dfu{lgb]{zg

&= ljlzi6Ls/0f tflnsfcg';f/sf] gd'gf k|Zgkq Pjd\ To;sf] pQ/s'l~hsf 

k|Zgkq lgdf{0f ubf{ k|ofu x'g] lqmofkbx¿

k|Zgkq lgdf{0f ubf{ k|ZgnfO{ dfkgLo, j:t'ut,  ljZj;gLo / j}w agfpg w]/} s'/fdf Wofg k'¥ofpg 
cfjZos x'G5 . To:t} 1fg, af]w / cGo txsf k|Zgx¿ lgdf{0f ug{ lglZrt lqmofkbx¿sf] k|of]u 
ug'{kb{5 . t;y{ k|Zgkq lgdf{0f ubf{ s'g txsf] k|Zgdf s:tf lqmofkb k|ofu ug{ pko'St x'G5 eGg] 
hfgsf/Lsf nflu oxfF s]xL lqmofkbx¿ pbfx/0f:j¿k k|:t't ul/Psf] 5 M 

-s_ 1fg txsf nflu M 1fg txsf k|Zgdf ljifoj:t'sf] 1fgnfO{ hf]8 lbOg] x'gfn] To;cg'¿ksf 
lqmofkbx¿ /fvL k|Zg lgdf{0f ug'{kb{5 . h:t}M kl/efiff lbg', JofVof ug'{, klxrfg ug'{, ;"rL tof/ 
ug'{, t'ngf ug'{, gfd lbg', /]vfª\sg ug'{, pNn]v ug'{, n]Vg' cflb . 

-v_ af]w txsf nflu M s'g} klg ljifo cWoog u/]/, ;'g]/ jf k9]/ a'em\g]  Ifdtf jf  l;k g}  af]w  
xf] . cWoogsf cfwf/df s'g} 1fg ;Lk u|x0f u/L c?nfO{ a'emfpg] jf af]w ug]{ Ifdtf klg o;df 
kb{5 . t;y{ o; vfnsf] k|Zgdf 5'6\ofpg', b]vfpg', 5fGg', ;"lrt ug'{, ¿kfGt/ ug'{, lg0f{o lbg', 
k'li6 ug'{, pbfx/0f lbg', JofVof ug'{, t'ngf ug'{ h:tf lqmofkb k|of]u u/L k|Zg lgdf{0f ug'{kb{5 . 

-u_ cGo tx M 1fg, af]weGbf pRr bIftf / Jofjxfl/s l;k;Fu ;DalGwt k|Zg txnfO{ oxfF cGo tx 
elgPsf] xf] . o; txdf ;fdfGo 1fg / a'em\g]eGbf pRr bIftf / Ifdtfsf] k/LIf0f ul/g] x'gfn] 
To:t} vfnsf lqmofkbx¿ k|Zgkqdf k|of]u ul/g'kb{5 . h:t}M kl/jt{g ug'{, k|bz{g ug'{, vf]h 
ug'{, ;'wf/ ug'{, JofVof ug'{, tof/ ug'{, ;DaGw b]vfpg', ;dfwfg ug'{, ljefhg ug'{, km/s b]vfpg', 
5gf]6 ug'{, lj:tf/ ug'{, lgdf{0f ug'{, k'gn]{vg ug'{, ;f/f+z n]Vg', ljj]rgf ug'{, ljZn]if0f ug'{ ;dLIff 
ug'{, k'li6 ug'{, d'Nofª\sg ug'{, 5nkmn ug'{, lrq agfpg', l;h{gf ug'{ cflb . 

ljlzi6Ls/0f tflnsfsf] k|of]u
jt{dfg d"Nofª\sg k|lqmofdf ;'wf/ u/L kf7\oqmdsf] d'Nofª\sg k|lqmofcg'¿k ljlzi6Ls/0f tflnsf 
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lgdf{0f ug]{, ljlzi6Ls/0f tflnsfcg';f/ gd'gf k|Zgkq agfO{ k/LIff ;~rfng ug]{ / tbg'¿k lzIfs 
tyf ljBfyL{x¿df o;sf] k|ofu ub}{ hfg] afgL a;fNg' cfh ckl/xfo{ eO;s]sf] 5 . kf7\oqmdn] lgwf{/0f 
u/]sf nIo tyf p2]Zo k"/f ug{sf nflu ljlzi6Ls/0f tflnsfsf] lgdf{0f u/L ;Dk"0f{ kIfnfO{ ;d]6\g] 
u/L k|Zgkq tof/ u/]/ ;f]cg';f/ k/LIff ;~rfng k/LIf0f / k[i7kf]if0f ug{ cTofjZos ePsfn] 
o;sf] dxŒjk"0f{ e"ldsf /x]sf] 5 . d"ntM ljlzi6Ls/0f tflnsfsf] k|of]u lgDglnlvt sfo{sf nflu 
ug{ ;lsG5 M

!= of]hgf lgdf{0f ug{

x/]s k|sf/sf z}Ifl0fs of]hgf lgdf{0f ug{ ljlzi6Ls/0f tflnsfn] ;xof]u k'¥ofpF5 . ljBfyL{x¿sf 
l;sfO pknlAw dfkg ug{ cfjZos d"Nofª\sg ;fdu|L s:tf] vfnsf], slt ef/sf] x'g] / k|Zg ;ª\Vof 
h:tf s'/fx¿ cWofkg of]hgfdf /fVg ;xof]u k'Ug] x'Fbf d"Nofª\sgsf] cleGg cª\usf ¿kdf of]hgf 
lgdf{0fdf ljlzi6Ls/0f tflnsfsf] k|of]u ug'{kb{5 . 

@= pko'St k|Zg kqsf] lgdf{0f ug{

Ps lglZrt ;dofjlwleq kf7\oqmd jf p2]Zocg¿k ljBfyL{x¿sf l;sfO pknlAw d"Nofª\sg ug{ 
l;sfOsf txcg'¿k k|Zgkqsf lglZrt k|sf/ / ;ª\Vof, cª\sef/, ;do cflb o;df /flvg] x'Fbf 
k|Zgkq lgdf{0f ug{ o;n] ;3fpF5 . t;y{ d"Noffª\sgnfO{ k|efjsf/L ¿kdf k|of]u ug{ o;n] ;3fpF5 . 

#= ljBfyL{x¿sf] l;sfOdf clej[l4 ug{

o; tflnsfdf l;sfOsf s'gs'g txx¿nfO{ dfkg ug]{ / x/]s txsf l;nfOnfO{ slt ef/ lbg] eGg] 
h:tf s'/fx¿ /flvPsf] x'G5 . t;y{ lzIf0fl;sfO lqmofsnfkdf oL s'/fx¿nfO{ ;fd~h:o sfod 
u/fpg ;lsPdf ljBfyL{sf] l;sfOdf clej[l4 x'g hfG5 . o; tflnsfdf 1fg, af]w, Jofjxfl/s l;k 
tyf pRr bIftf dfkg ug]{ u/L k|Zgx¿ txcg';f/ lgdf{0f ug]{ k|lqmof pNn]v x'g] x'gfn] klg o; 
tflnsfsf] k|of]u ;xL ¿kdf ePdf ljBfyL{sf] l;sfO clej[l4df ;xof]u k'Ug hfG5 . 

dfly pNn]v ul/Psf cfwf/df aF'bfut ¿kdf ljlzi6Ls/0f tflnsfn] lzIfs, ljBfyL{ / k|Zgkq 
lgdf{0fstf{nfO{ k/LIff / d"Nofª\sg sfo{ ;~rfng ug{ lgDgfg';f/sf] ;xof]u k'¥ofpF5 M

•	 kf7\qmdsf p2]Zo Pjd\ ljifoj:t'sf ;Dk"0f{ If]q / ljwf ;d]6]/ k|Zg lgdf{0f ug{

•	 ;do, k"0ff{ª\s tyf k|Zg ;ª\Vof olsg ug{

•	 s'g ljwf jf If]qaf6 s:tf / slt k|Zg lgdf{0f ug]{ eGg]af/]df lgb]{z ug{

•	 ;a} l;k / bIftf ;d]6\g] u/L k|Zgkq lgdf{0f ug{

•	 k|Zgkq lgdf{0fstf{ / lzIfsnfO{ kyk|bz{g ug{

•	 k|ZgkqnfO{ j}1flgs / Jojl:yt agfO{ Ps¿ktf Nofpg

•	 k/LIffdf ljZj;gLotf Nofpg / ljBfyL{ ljBfyL{ larsf] pknlAw t'ngf ug{

•	 kf7sf] p2]Zo / ljBfyL{sf] pknlAwsf lar t'ngf ug{
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•	 ljBfyL{df ;Dk"0f{ If]q / ljwf ;d]6]/ k9\g] afgLsf] ljsf; ug{

•	 z}Ifl0fs of]hgf lgdf{0fdf d"Nofª\sgsf k|Zg to ug{ 

o;/L dfly pNn]v ePsf a'Fbfn] ljlzi6Ls/0f tflnsfsf] k|of]u dxŒjnfO{ :ki6 kfb{5 . 
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cy{zf:q
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k|Zgsf k|sf/x¿

j|m=;= k|Zgsf] lsl;d cª\s ;do

! clt ;ª\lIfKt pQ/fTds k|Zg ! x !) = !) !% ldg]6

@ ;ª\lIfKt pQ/fTds k|Zg % x !@ = ^) ! 3G6f $% ldg]6

#= nfdf] pQ/ cfpg] k|Zg !) x # = #) ^) ldg]6

hDdf !)) # 3G6f

b|i6JoM

!= 	;ª\lIfKt pQ/fTds k|ZgcGtu{t PsfO ! -nfut tyf cfo jqm /]vfx¿_ / PsfO $ -d'b|f, 
a}ª\lsª tyf u}/a}ª\lsª ljQLo ;+:yf_ af6 ljsNk k|Zg ;f]lwg] 5 .

@= 	nfdf] pQ/ cfpg] k|ZgcGtu{t PsfO !) -tYofª\sLo cf}hf/x¿_ af6 ljsNk k|Zg ;f]lwg] 5 .
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dfWolds lzIff k/LIff
gd'gf k|Zgkq

ljifo M cy{zf:q							       ;doM # 306f

k"0ff{ª\sM !))

;d"x s Group ‘A'

tnsf k|Zgx¿sf] clt 5f]6f] pQ/ lbg'xf];\ M                             !)×!=!)

Give very short answer to the following questions.	

!=	 pTkfbg kl/df0f %% PsfOaf6 ^% df j[l4 x'“bf s'n nfut ?= !&*) af6 a9]/ !(#) 		
	 x'G5 	

	 eg] ;LdfGt nfut slt xf] <

	 What is the marginal cost if production change from 25 to 65 units causes to 
change the total cost from Rs. 1780 to 1930?

@= 	 nfut eg]sf] s] xf] <

	 What is cost?

#=	 pTkfbg ;Gt'ngsf nflu cfjZos ;t{ n]Vg'xf];\ . 

	 Write the conditions for output determination.

$=	 ;LdfGt e"ld s:tf] e"ld xf] <

	 What type of land is marginal land?

%=	 s:tf] d'b|fnfO{ k|fdfl0fs wft' d'b|f elgG5 <

	 What type of money is called standard coin?

^=	 k|ltufdL s/ k|0ffnLsf] cy{ k|:6 kfg'{xf];\ . 

	 Clear the meaning of regressive tax system.

&=	 dfgj ljsf; ;"rsfª\s eg]sf] s] xf] <

	 What is human development index?

*=	 Jofkf/ ;+/If0f s;/L sfod ul/G5 <

	 How is the protected trade created?

(=	 l/sf8f]{sf cg';f/ s:tf] j:t'sf] cfoft ul/G5 <
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	 What types of goods are imported as per Ricardo?

!)=	 g]kfndf k|b]zcGtu{t of]hgfsf] lgdf{0f / kl/rfng s'g lgsfon] ub{5 <

	 Which authority is responsible to prepare and implement economic planning in 
state in Nepal?

;d"x v Group ‘B'

tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\M	        !@×%=^)

Give short answer to the following questions.	

!!=	 tnsf] tflnsf k"/f u/L s'n nfut / s'n kl/jt{gzLn nfutsf] ;DaGw n]Vg'xf];\ . 

	 Complete the table below and write the relation of total variable cost and total 
cost.

kl/df0f (Quantity)
0 1 2 3 4 5 6

s'n nfut (TC)
12 18 20 21 22 	26 33

s'n kl/jt{gzLn nfut (TVC)

s'n l:y/ nfut (TFC) 10

cyjf 

	 ck"0f{ k|lt:kwf{df ;LdfGt / s'n cfosf] ;DaGw rrf{ ug'{xf];\ . 

	 Discuss the relation of marginal and total revenue under perfect competition.

!@=	 Psflwsf/L ahf/sf ljz]iftfx¿ n]Vg'xf];\ . 

	 Write the features of monopoly market.

!#=	 df}lb|s / jf:tljs Hofnflarsf] leGgtf k|:6 kfg'{xf];\ . 

	 Differentiate between nominal and real wage.

!$=	 kq d'b|fsf k|sf/x¿ rrf{ ug'{xf];\ . 

	 Discuss the types of paper money.

cyjf
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	 hLjg / lghL{jg ladflar leGgtf 5'6\ofpg'xf];\ .

	 Differentiate between life and non life insurance.

!%=	 ah]6sf d'Vo cª\ux¿ s] s] x'g\ < n]Vg'xf];\ . 

	 What are the major components of budget? Discuss.

!^=	 ;/sf/L vr{sf] dxŒj pNn]v ug'{xf];\ . 

	 Mention the importance of public expenditure.

!&=	 dfgj ljsf; ;"rsfª\sn] cfly{s ljsf;nfO{ s;/L ;"lrt ub{5 < 

	 How does human development index represent economic development?

!*= 	 cfly{s ljsf;sf] zf:qLo l;4fGtsf] 5f]6f] rrf{ ug'{xf];\ . 

	 Briefly discuss the classical approach of economic development.

!(=	 cGt/f{li6«o Jofkf/sf] dxŒj 5f]6s/Ldf rrf{ ug'{xf];\ . 

	 Briefly discuss the importance of foreign trade.

@)=	 g]kfnsf] rfn' of]hgfsf /0fgLltx¿ n]Vg'xf];\ . 

	 Write the strategies of current plan of Nepal.

@!=	 b'O{ u'0f tflnsfnfO{ pbfx/0f;lxt JoSt ug'{xf];\ . 

	 Present the two way table with the help of example.

@@=	 tnsf] tYofª\ssf nflu ax'u'0fL :tDelrqsf] /rgf ug'{xf];\ . 

	 Construct a multiple bar diagram for the data below.

	                                      -pTkfbg lSj÷MT)

      jif{ lj=;+=  (Year B.S.)

afnL (Crops)

2070 2071 2072

wfg (Paddy) 100 90 120

ds} (Maize) 150 200 100

ux'“ (Wheat) 80 60 90
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;d"x u Group ‘C'

tnsf k|Zgx¿sf] nfdf] pQ/ lbg'xf];\  M 		 #×!)=#)

Give long answer to the following questions.	
@#=	 Aofhsf] zf:qLo wf/0ff ;lrq JofVof ug'{xf];\ . 

	 Explain the classical theory of interest.

@$=	 jfl0fHo a}ª\ssf sfo{x¿sf] rrf{ ug'{xf];\ . 

	 Discuss the functions of commercial bank.

@%=	 tnsf] cf“s8faf6 ldnfg lrx\gsf] k|of]u u/L juf{Gt/ !) ePsf] af/Daf/tf tflnsf lgdf{0f 
u/L cª\sul0ftLo dWos u0fgf ug'{xf];\ .

	 Construct a frequency distribution table using tally bars with class interval of 10 
and calculate arithmetic mean.	

	 5, 22, 28, 32, 35, 27, 24, 15, 17, 12, 31, 13, 23, 29, 40, 17, 27, 
	 37, 47, 53, 61, 77, 66, 53, 52, 62, 71, 44, 29, 18, 17, 33, 41, 57, 

63	
cyjf

	 lbOPsf] cf“s8faf6 n]l:ko/ / kf:r]sf] ljlw k|of]u u/L rfn' jif{ @)&^ sf] d"No ;"rsfª\s 
lgdf{0f ug'{xf];\ . 
Construct price index for the current year 2076 using Laspeyere's and Paasche's 
method.

j:t'x¿ (Goods)
cfwf/ jif{ (2073) rfn' jif{ @)&^ (Current Year, 

2076)

d"No ?= 

(Price Rs./unit)

kl/df0f s]=hL=  
(Quantity/kg)

d"No ?= 

(Price Rs./unit)

kl/df0f 
(Quantity)

sk8f (Clothes) 1200 3 1500 5
oftfoft (Transport) 700 2 900 4
vfgf (Food) 400 5 700 6
lzIff (Education) 700 2 850 2
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Oltxf;
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k|Zgsf k|sf/x¿

k|Zgsf k|sf/ ;f]lwg] ;ª\Vof ;do ljefhg k"0ff{ª\s

clt ;ª\lIfKt k|Zg !! !% ldg]6 !!

5f]6f pQ/ cfpg] k|Zg * ! 306f !% ldg]6 $)

Nffdf] pQ/ cfpg] k|Zg # $% ldg]6 @$

hDdf @@ @ 306f !% ldg]6 &%
b|i6Jo M ;a} k|Zg clgjfo{ x'g] 5g\  . 5f]6f pQ/ cfpg] k|Zgdf b'O{ / nfdf] pQ/ cfpg] k|Zgdf 
Ps ljsNk lbg ;lsg] 5 .
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dfWolds lzIff k/LIff
gd'gf k|Zgkq

ljifo M Oltxf;

k"0ff{ª\s M &%                                           ;do M @ 3G6f !% ldg]6 

				    ;d"x s Group ‘A'					   

tnsf k|Zgsf] clt 5f]6f] pQ/ lbg'xf];\ M 				    !! ×!=!!

Give answer of the following questions in one sentence.
!=	 PsLs/0f k"j{ g]kfndf sltcf]6f /fHox¿ lyP < (K)
	 How many kingdoms were there in Nepal before unification?
@=	 g]kfnsf] PsLs/0fdf axfb'/ zfxsf] of]ubfgsf] Ps jfSodf d"Nofª\sg ug'{xf];\ . (U)
	 Evaluate the role of BahadurSaha in unification of Nepal .
#=	 “aflns dtflwsf/" eGgfn] s] a'lemG5 < Ps jfSodf n]Vg'xf];\ . (U)
	 What do you mean by ‘Adult Franchise'? Write in a sentence.
$=	 æhgdt ;ª\u|x tTsfnLg cj:yfsf] dfu lyof] .Æ  s;/L < Ps jfSodf k|:6\ofpg'xf];\ 

.(H.A.)
	 “Referendum was the demand of that time." How?  Clarify in a sentence.
%=	 s;sf] zf;gsfnnfO{ /f]dsf] Oltxf;df :j0f{o'u eg]/ lrlgG5 < s'g} Ps sf/0f lbg'xf];\ .(K)
	 Which ruling period is known as golden age in the history of Rome? Give a 

reason.
^=	 ljZj ;Eotfsf] ljsf;df d];f]kf]6fldofsf] Oltxf;n] k'¥ofPsf] of]ubfgnfO{ Ps jfSodf pNn]v 

ug'{xf];\ . (H.A.)
	 Mention the contribution of Mesopotamia in promotion of world civilization in 

on sententce.
&=	 ?;L j|mflGtdf cNk;ª\Vos hfltx¿ hf/ zf;gsf] lj/f]wdf lsg Psh'6 x'g yfn] < cfkm\gf] 

ljrf/ Ps jfSodf n]Vg'xf];\ . (H.A.)
	 Why did minorities start uniting to oppose the Czar ruler in Russian 

Revolution? Write your opinion in a sentence.
*= 	 k|yd ljZj o'4sf] s'g} Ps d'Vo sf/0f jtfpg'xf];\ . (K)
	 State the one key factor of first world war.
(=	 låtLo ljZjo'4df hfkfgsf] xf/ x'gfsf] s'g} Ps sf/0f n]Vg'xf];\ . (K)



16ljlzi6Ls/0f tflnsf

	 Mention the one major factor that make japan  to lose the second world war.
!)=	 /fi6«;ª\3sf] c;kmntf g} bf];|f] ljZjo'4sf] sf/0f lyof] eGg] egfOnfO{ Ps jfSodf k|:6 

kfg'{xf];\ . (A)
	 “Failure of League of Nation was the cause of the Second World War." Clarify 

this statement in a sentence.
!!=	 ;+o'St /fi6« ;ª\3sf] s'g} Ps p2]ZonfO{ ;dy{g ug]{ Kn]sf8{ tof/ kfg'{xf];\ . (A)
	 Prepare a placard to support any one objectives of the UNO.	

					     ;d"x v Group ‘B'			 

tnsf k|Zgsf] 5f]6f] pQ/ n]Vg'xf];\ M 				    *×%=$)
Give short answer of the following questions. 
!@=	 l;d|f}gu9 ;Eotfsf] ;fdflhs tyf /fhgLlts cj:yfsf] pNn]v ug'{xf];\ . (U)
	 Mention the social and political condition of Simraungadh Civilization.
!#=	 dWosfnLg cj:yfdf afO;] tyf rf}la;] /fHox¿ larsf] ;DaGwsf] d"Nofª\sg ug'{xf];\ .
 	 Evaluate the relationship between the  Baise and Chaubise States at medival 

period ? 				 

						      cyjf

  	 afO;] / rf}la;] /fHodf ePsf kfFr ÷kfFrcf]6f ;sf/fTds pknlAwx¿sf] ;dLIff ug'{xf];\ . (H 
A)

          Analyze the five /five positive achievement during the Baise and    	    
Chaubise State of Nepal.

!$=	 lj=;+= @)$^ b]lv @)%^ ;fn;Ddsf s'g} kfFr d'Vo P]ltxfl;s 36gf / ldltnfO{ ;do /]vfdf 
b]vfpg'xf];\ .(A)

	 Construct a time-line showing major any five historical dates and events from 
2046 B.S. to 2056 B.S.

!%=	 k|yd hgcfGbf]ng ;+:yfut gx'Fb} bf];|f] hgcfGbf]ng lsg eof] < cfkm\gf] ljrf/nfO{ kfFr a'Fbfdf 
k|:t't ug'{xf];\ . (H.A.)

	 Why did People's Movement-II take place without institutionalizing the 
People's Movement-I? Present your opinion in five points.

!^=	 cfw'lgs g]kfnsf] ljsf; s|ddf kl5Nnf] r/0fdf ePsf k|d'v kfFr ljsf; s|dx¿sf] ;ª\lIfKt 
j0f{g ug'{xf];\ . (U)

	 Explan the major five evolutionary steps in latest period of modernNepal.
!&=	 ef/tLo :jtGqtf ;ª\u|fdsf s'g} kfFr sf/0fx¿ 5f]6s/Ldf j0f{g ug'{xf];\ . (K)



17ljlzi6Ls/0f tflnsf

	 Describe briefly any five causes of Indian War of Independence.
!*=	 bf];|f] ljZjo'4sf s'g} kfFr kl/0ffdnfO{ 5f]6s/Ldf j0f{g ug'{xf];\ . (K)
	 Write in brief any five consequences of the Second World War.
!(=	 ;+o'St /fi6« ;ª\3df g]kfnn] v]n]sf] s'g} kfFr e"ldsfnfO{ a'Fbfut ¿kdf k|:t't ug'{xf];\ . 

	 Present point wise any five roles that Nepal has played in the United Nations 
Organization. 

 						      cyjf 

	 ;+o'St /fi6ª;ª\3n] ljZjdf zflGt sfod ug{ u/]sf ;sf/fTds kxnx¿ rrf{ ug'{xf];\ . (V)
	 State the positive intervention done by UNO to maintain the global peace.

;d"x u Group ‘C'

tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M					    #×*=@$

Give long answers of the following questions.
@)=	 bf];|f] hgcfGbf]ngsf] cf}lrTo k|:6\ofpFb} o;sf] pknlAwnfO{ ;+:yfut ug{ To;kl5 rflnPsf 

sbdx¿ k|efjsf/L eP gePsf] lja]rgf ug'{xf];\ . 
	 What is federalism ? crifically analyze the co-relation between the Federal, 

Province and Local level.
cyjf

	 ;ª\3Lo zf;g k4lt eg]sf] s] xf] < ;ª\3, k|b]z / :yfgLo txsf cGt/;DaGwsf] ljj]rgf 
ug'{xf];\ . (H.A.)

	 Justifying the significance of People's Movement-II, assess the effectiveness of 
the measures taken after it to institutionalize its achievements.

@!=	 lu|; ;Eotfsf] kl/ro lbFb} of] ;Eotfn] cfw'lgs ljZjnfO{ s] s:tf] of]ubfg lbPsf] 5 < kfFr 
a'Fbfdf ;ª\lIfKt j0f{g ug'{xf];\ . (K)

	 Introduce the Greece Civilization. How has it contributed to the modern world? 
Describe in five points.

@@=	 ?;L j|mflGtsf sf/0fx¿ 5f]6s/Ldf pNn]v ub}{ o;n] lgDTofPsf c;/x¿sf] rrf{ ug'{xf];\ . (V)
	 Mention briefly about the causes of Russian Revolution and explain its impacts 

in brief.
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sDKo'6/ lj1fg



19ljlzi6Ls/0f tflnsf

lj
lz

i6
Ls

/0
f 
tf
ln

s
f, 

@)
&^

;}4
flG

ts
 d

"No
fª
\s
g 

  
 

lj
ifo

 M
 s

DK
o
'6
/ 
lj
1
fg

k"0
ff{ª

\s
 M
 %

)											















;d

o 
M 
! 

3
06

f 
#)

 ld
g]6

	

k|Z
g 

of
]hg

f 
ty

f 
cª

\s
ef

/ 
lj
t/

0f
Ps

fO
If
]q÷

Ps
fO

Kff
7\o

 
ef

/
1f

g 
Aff

]w
k|o

f]u
 

pR
r
 b

If
tf
 

 h
Dd

f 
c
ª\s

e
f/

cl
t 

5
f]6
f]

5
f]6
f]

nf
df

]
cl

t 
5
f]6
f]

5
f]6
f]

nf
df

]
cl

t 
5
f]6
f]

5
f]6
f]

nf
df

]
cl

t 
5
f]6
f]

5
f]6
f]

nf
df

]
cl

t 
5
f]6
f]

5
f]6
f]

nf
df

]

!
C

om
pu

te
r F

un
da

-
m

en
ta

l
34

3
2

3
2

1
6

4
1

D
ta

ba
se

 m
an

ag
e-

m
en

t s
ys

te
m

42
1

2
1

2
2

4

#
Pr

og
ra

m
m

in
g 

in
 

Q
ba

si
c

61
1

2
2

2
3

2
2

$
In

tro
du

ct
io

n 
to

 C
 

La
ng

ua
ge

29
1

1
1

1

To
ta

l
17

0
6

4
4

3
2

4
1

3
12

11
4



20ljlzi6Ls/0f tflnsf

k|Zgsf k|sf/x¿

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg k'0ff{ª\s

clt ;ª\lIfKt k|Zg 12 @% ldg]6 12
5f]6f pQ/ cfpg] k|Zg 11 #% ldg]6 22
Nffdf] pQ/ cfpg] k|Zg 4 #) ldg]6 16
hDdf 27 ! 306f #) ldg]6 50
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dfWolds lzIff k/LIff

gd'gf k|Zgkq

ljifoM sDKo'6/ lj1fg      
k"0ff{ª\s M %)						            ;do M ! 306f #) ldg]6	

;d"x s Group ‘A' 

!= 	tnsf k|Zgx¿sf] Ps jfSodf pQ/ lbg'xf];\ M		  -^×!Ö ^_

    	 Answer the following questions in one sentence:			 
-s_ 	;r{ OlGhg eg]sf] s] xf] < 
     	 What is search engine?
-v_ 	OG6/g]6dfkm{t ul/g] Jofkf/nfO{ s] elgG5 <

    	 What is the business done through the internet?
-u_ 	Pd=P;= PS;];df s'g 8f6f 6fOkn] cNkmf Go'd]l/s Sof/]S6/ jf :k];n l;Daf]N;nfO{ cg'dlt 

lbG5 < 

     	 Which data type is used to store numeric characters or special symbols in 
MS-Access?

-3_ 		Pd=P;= PS;];df 6]ansf]] structure nfO{ modify ug{ s'g rflxF view sf] k|of]u ul/G5 
<

	 Which view is used to modify a table in MS-Access?

-ª_ 	df]8\o'n/ k|f]u|fldª eg]sf] s] xf] < 			 

   	 What is Modular Programming?
-r_ 	C language s'g} b'O{cf]6f ljz]iftf n]Vg'xf];\ .  	
	 Write any two features of C language.
@= 	 pko'St k|fljlws zAb n]Vg'xf];\ M		  -@×!Ö @_

     	 Write appropriate technical term for the following:			 
-s_ 	;fOa/ :k];;DaGwL sfg'gL k|lqmof 	
         Law that governs the legal issues of cyberspace.	
-v_ 	 SjfG6d sDKo'6/sf] ;"rgfsf] ;a}eGbf ;fgf] PsfOsf] ¿k 
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	  The smallest unit to represent information on quantum compute.
#= 	 k"/f ¿k n]Vg'xf];\ M	 -@×!Ö @_
	 Write the full form of the following:

I.	 STP
II.	 WAP

;d"x v Group ‘B' 

$= 	tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\ M 		  (×@Ö!*

Answer the following questions:		
-s_ 	sDKo'6/ g]6js{ eg]sf] s] xf] < o;sf s'g} b'O{cf]6f kmfObfx¿ pNn]v ug'{xf];\ .

	 What is computer network?  Enlist any two advantages of it.
-v_ 	sDKo'6/ g}ltstf eg]sf] s] xf] < o;sf s'g} b'O{ gLltx¿ n]Vg'xf];\ .
	 What is computer ethics?  Write any two of them.
-u_ 	;ˆ6j]o/ ;'/Iff eg]sf] s] xf] < xf8{j]/ ;'/Iffsf s'g} b'O{ pkfox¿ n]Vg'xf];\ .  

What is software security?  Write any two measures of hardware security.

-3_ 	Pd sd;{ eg]sf] s] xf] < o;sf b'O{ dxŒjk"0f{ ;]jfx¿ n]Vg'xf];\ .
	 What is m-Commerce?  Write its two important services.
-ª_	 OG6/g]6 ckm lyª\; (IoT)  eg]sf] s] xf] < o;sf s'g} b'O{ dxŒjx¿ n]Vg'xf];\ .

	 What is IoT? Write any two importance of it.
-r_ 	8f6fa]; eg]sf] s] xf] < s'g} b'O{cf]6f pbfx/0f lbg'xf];\ .
     	 What is database ? Give any two examples.
-5_ 	k|fOd/L sL eg]sf] s] xf] < o;sf s'g} b'O{cf]6f kmfObfx¿ pNn]v ug'{xf];\ . 
     	 What is primary key? List any two advantages of it.
-h_ 	8f6f ;l6{ª eg]sf] s] xf] < o;sf] k|of]uaf6 x'g] s'g} b'O{cf]6f  kmfObfx¿ pNn]v ug'{xf];\ .
     	 What is data sorting? List any two advantages of using it.
-em_ 	s:tf] sfo{ ug{ PS;];df Sj]/L / kmd{ cAh]S6sf] k|of]u ul/G5 <
     	 What types of work is done in MS-Access using Form and query object?
%.	 tn lbOPsf] k|f]u|fdsf] cfp6k'6 n]Vg'xf];\ . Dry run 6]andf b]vfpg'xf];\ .			   -@_
	 Write down the output of the given program. Show with dry run in table.
	 DECLARE SUB SHOW (A)
	 CLS
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	 N = 87
	 CALL SHOW (N)
	 END
	 SUB SHOW (A)
	 DO
	 B = A MOD 6 + 3
	 IF B MOD 4 = 0 THEN GOTO AA
	 PRINT B;
	 AA:
	 A = A - 10
	 LOOP WHILE A >= 50
	 END SUB
^= 	 tn lbOPsf] k|f]u|fddf /x]sf uNtLx¿nfO{ ;RofP/ k'gM n]Vg'xf];\ M 		  -@_
	 Re-write the given program after correcting the bugs:
	 REM to add record in an existing file 
	 CLS
	 OPEN “Record.Dat” FOR OUTPUT AS #1
	 AA:
	 INPUT “Enter Name, Class and  Roll No. “; Nm$, Cl, Rn
	 INPUT #2, Nm$, Cl, Rn
	 INPUT “More records “; Y$
	 IF UCASE$(Y$) = “Y” THEN GOTO aa
	 CLOSE “Rrecord.dat”
	 END
&= 	 tn lbOPsf] k|f]u|fdnfO{ cWoog u/L lbOPsf k|Zgx¿sf] pQ/ n]Vg'xf];\ M 		  -@×!Ö @_
	 Study the following program and answer the given questions:	
	 OPEN “Detail.dat” FOR INPUT AS #1 
	 OPEN “Temp.dat” FOR OUTPUT AS #2 
	 INPUT “Enter name of the students “; Sn$ 
	 FOR I = 1 TO 10 
	 INPUT #1, Nm$, Cl, A 
	 IF Sn$ < > Nm$ THEN 
	 WRITE #2, Nm$, Cl, A 
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	 END IF 
	 NEXT I 
	 CLOSE #1, #2 
	 KILL “Detail.dat” 
	 NAME “Temp.dat” AS “Detail.dat” 
	 END
-s_ 	dfly lbOPsf] k|f]u|fdsf] d'Vo p2]Zo s] xf] <
	 What is the main objective of the program given above? 
-v_ 	olb “KILL” statement nfO{ k|f]u|fdaf6 x6fpg] xf] eg] dflysf] k|f]u|fddf s]xL ;d:of cfpF5 

ls cfpFb}g < sf/0f n]Vg'xf];\ . 

	 Do you get any problem in the above program if “Kill” statement is removed? 
Give reason.

;d"x u Group ‘C' 
*= 	 lgb{]zfcg';f/ ¿kfGt/ / lx;fa ug'{xf];\ M		  -$×!Ö $_
   	 Convert / calculate as per the instruction: 

i)	 (11001101)2 = (?)16

ii)	 (524)10 = (?) 2

iii)	 iii) (1010) 2 x (110) 2 – (1011) 2 = (?) 2

iv)	 iv) (10110) 2 ÷ (101) 2

(= 	 -s_ s'g} Pp6f sf]7fsf] nDafO{, rf}+8fO{ / prfO{ dfuL pQm sf]7fsf] If]qkmn / cfotg kQf 
nufpg] k|f]u|fd So'j]l;s efiffsf] k|of]u u/L n]Vg'xf];\ . If]qkmn u0fgf ug{ o'h/ l8kmfOG8 km+S;g 
/ cfotg u0fgf ug{ ;a k|f]u|fd agfpg' xf];\ . 			   -$_

	 Write a program in QBASIC that asks length, breadth and height of room and cal-
culates its area and volume. Create a user-defined function to calculate area and 
sub-program to calculate volume.	                    Hint: [A = LxB], [V = LxBxH]	

-v_  	 “Record.dat” eGg] sequential data file df Roll No., Name, Gender, English, 
Nepali, Maths / Computer field x¿df data e08f/ u/]/ /flvPsf] 5 . To; data file 
af6 Gender ‘F' x'g] / sDKo'6/ ljifodf cª\s () eGbf dfly ePsf ljBfyL{x¿sf] ;Dk"0f{ /]s8{ 
lk|G6 ug]{ k|f]u|fd n]Vg'xf];\ .			   -$_

	 A sequential data file called “Record.txt” has stored data under the field heading 
Roll No., Name, Gender, English, Nepali, Maths and Computer. Write a program 
to display all the information of those students whose gender is ‘F' and obtained 
marks in computer is more than 90.
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!)=	 s'g} Pp6f ;ª\Vof dfuL pSt ;ª\Vof hf]8 jf ljhf]8 s] xf], ;f] kQf nufpg] k|f]u|fd ;L Nofª\j]hdf 
n]Vg'xf]; .			   -$_

	 Write a program in C language that asks a number and check whether it is odd 
	 or even.	

cyjf 

	 l; Nofª\j]h sf] k|of]u u/L lbOPsf] cg's|dsf] of]ukmn ;lxt b]vfpg] k|f]u|fd n]Vg'xf];\ . 
1,2,3,4,….., bzf}+ kb;Dd .

	 Write a program in ‘C' language to display the series with their sum. 1,2,3,4,….., 
	 up to 10th terms.



26ljlzi6Ls/0f tflnsf

ul0ft



27ljlzi6Ls/0f tflnsf

lj
lz

i6
Ls

/0
f 
tf
ln

s
f, 

@)
&^

;}4
flG

ts
 d

"No
fª
\s
g 

  
 

Su
bj

ec
t:

 M
at

h 
(O

pt
io

na
l)

Fu
ll 

m
ar

ks
: 1

00
											

Ti
m

e:
 3

 h
ou

rs
S.

N
.

C
on

te
nt

s
To

pi
cs

K
no

w
le

dg
e

U
nd

er
st

an
di

ng
A

pp
lic

at
io

n
H

ig
he

r 
ab

.
To

ta
l 

Q
ue

st
io

ns
To

ta
l 

m
ar

ks
ea

ch
 o

f 1
 

m
ar

ks
ea

ch
 o

f 2
 

m
ar

ks
ea

ch
 o

f 4
 

m
ar

ks
ea

ch
 o

f 
5 

m
ar

ks

2
3

2
1

8
21

1 
jL
hu

l0f
t 

A
lg

eb
ra

2 
;L

df
Gt

 d
fg
 /

 lg
/G
t/

tf
  

L
im

it 
an

d 
co

nt
in

ut
y

1
1

2
5

3 
d]l
6«S

; 
M

at
ri

x
1

2
1

4
9

4
lg
b]{z

fª
\s
 H

of
ld
lt
  
 C

o-
or

di
na

te
 G

eo
m

et
ry

2
2

1
1

6
15

5
lq
s
f]0
fld

lt
 T

ro
go

no
m

et
ry

2
3

3
8

20
6

e]S
6/

 V
ec

to
rs

1
2

1
4

10
7

:y
fg
fGt

/0
f T

ra
ns

fo
rm

at
io

n
1

1
1

3
10

8
tY

of
ª\s

 z
f:q

 S
ta

tis
tic

s
1

2
3

10
To

ta
l

10
13

11
4

38
10

0

cª
\s
 e

f/
 

M
ar

ks
10

26
44

20
10

0



28ljlzi6Ls/0f tflnsf

dfWolds lzIff k/LIff
gd'gf k|Zgkq

Subject: Optional Mathematics				    	

Fullmarks: 100							       Time: 3 hours 

					     ;d"x v Group ‘A'		  5 × (1 + 1) = 10

;a} k|Zgx¿ clgjfo{ 5g\ 
Attempt all the questions.
1.(a)  	 lqsf]0fldtLo kmngsf] kl/efiff n]Vg'xf];\ . 

	 Define trigonometric function.

   (b) 	 b'O{ ;ªVofx¿ a / b larsf] cª\sul0ftLo dWos slt x'G5 <
	 What is arithmetic mean between two numbers a and b.

2. (a)  	 cljlR5Gg ;ª\Vofx¿sf] ;d"xsf] gfd n]Vg'xf];\ . 

	 Write the name of the set of numbers which is continuous.

    (b) 	 olb d]l6«S; A =eP, |A| sf] dfg slt x'G5 <

	 If matrix A = what is the value of |A|?

3. (a) 	 olb b'O{ l;wf /]vfx¿sf larsf] sf]0f θ / em'sfj j|mdz\M m1 / m2 
eP tanθ sf] dfg 		

	 kQf nufpg] ;"q n]Vg'xf];\ .
	 If the angle between two straight lines is θ and their slopes are m1and m2 			 

	 respectively, write the formula to find the value of tanθ.

    (b)  	 Pp6f ;f]nLnfO{ ;dtnLo ;txn] cfwf/;Fu ;dfgfGt/ x'g] u/L k|ltR5]bg ubf{ s:tf] cfs[lt 	
	 aG5 < n]Vg'xf];\ .
	 Which geometric figure will be formed if a plane intersects a cone parallel to 		
	 its base? write it.

4.  (a)  	 Sin 2A nfO{ TanA sf] ¿kdf JoSt ug'{xf];\ . 

	 Express Sin2A in terms of TanA.

    (b) 	 pGgtf+z sf]0fsf] kl/efiff n]Vg'xf];\  . 

	 Define angle of elevation.

5.  (a)  	olb a ⃗ / b ⃗ larsf] sf]0f θ eP a ⃗ / b ⃗ sf] :s]n/ u'0fg s] x'G5 <
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	 What is the scalar product of two vectors a⃗and b⃗and  if the angle between them is θ?

     (b) 	 s]Gb|laGb' O / cw{Jof; r ePsf] j[Qdf s'g} OGe;{g :yfgfGt/0fdf P sf] k|ltlaDa P' eP 
OP, 	 OP' / r sf] ;DaGw n]Vg'xf];\.

	 In an inversion transformation if P' is image of P and r is radius of circle with centre 	

	 O, write the relation of OP,OP' and r.	

			   ;d"x v Group ‘B'     	 3× (2 + 2 +2) + 2 × (2 + 2) = 26

6. (a) 	 olb f(x) =  4x + 5 eP f -1(x) sf] dfg kQf nufpg'xf];\ .
Find f -1(x) if f(x) =  4x + 5.

    (b) 	 olb g(x) = 2x -1 / f (x) = 4x, eP gof(x) sf] dfg kQf nufpg'xf];\ .
If g(x) = 2x -1 and f (x) = 4x, find the value of gof(x).

    (c) 	 f(x) = x2 – 1 / f(x) = 3 k|ltR5]lbt x'g] laGb'x¿ kQf nufpg'xf];\ .
What will be the points of intersection of the curve f(x) = x2 - 1 and f(x) = 3.

7.  (a) 	 olb A = 2	 -1
3	 1( ) eP |A| kQfnufO{ A−1 kl/eflift x'G5, x'Fb}g n]Vg'xf];\ .

If A = 2	 -1
3	 1( ) , find |A| and write A−1 is defined or not.

     (b) 	 j|mfd/sf] lgodcg';f/ ax + by = c / px + qy = r df D1 / D2 sf] dfg kQf nufpg'xf];\ .
According to Cramer's rule, find the values of D1 and D2 for ax + by = c and px + qy = r.

8.  (a) 	 ;dLs/0fx¿ 3x + 4y + 5 = 0 / 6x + 8y + 7 = 0 ePsf /]vfx¿sf em'sfj kQf nufO{ tL 
/]vfx¿sf] ;DaGw n]Vg'xf];\ .
Find the slopes of two straight lines having equations 3x + 4y + 5 = 0 and 6x + 8y + 7 
= 0 and write the relationship between them.

     (b) 	 hf]8f /]vfx¿ 3x +2y = 0 / 2x -3y = 0 nfO{ hgfpg] Psn ;dLs/0f kQf nufpg'xf];\ .
Find the single equation for the pair of  lines represented by 3x +2y = 0 and 2x - 3y = 0.

9.  (a) 	 olb sin6A.cos4A nfO{ sine jf cosine sf] of]u jf cGt/df ¿kfGt/0f ug'{xf];\  . 
Convert sin6A.cos4A into sum or difference of sine or cosine.

    (b)	
Sin A

1+CosA nfO{ Tangent cg'kftsf] ckjt{ssf] ¿kdf k|:t't ug'{xf];\ .

Express Sin A
1+CosA in term of sub-multiple angle of Tangent.

     (c)	 olb 2Sin2θ = 3  eP θ sf] dfg kQf nufpg'xf];\ . ( 0°≤θ≤ 180° )

If 2 Sin2θ= 3 , find value of θ. (0°≤θ≤ 180°)

10. (a) 	olb |a|⃗=2  , |b⃗|= 12 / a⃗.b⃗ eP e]S6/x¿ a⃗/ b⃗ larsf] sf]0f kQf nufpg'xf];\ .
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Find the angle between vectors a⃗and b⃗ and if , |a|⃗=2  , |b⃗|= 12 and a⃗.b⃗

    (b) 	 lbOPsf] lrqdf AP⃗ kQf nufO{ p⃗ nfO{ a⃗ / b⃗ sf ¿kdf JoSt ug'{xf];\.

In the given figure,find  AP⃗and express p⃗ in terms of a⃗ and b⃗.
 

    (c)  	 s'g} tYofª\ssf] :t/Lo leGgtf 0.25 eP ljr/0fzLntf kQf nufpg'xf];\ .
		  If the standard deviation of a set of data is 0.25, find its variance.

			   ;d"x u Group ‘C' 				    11× 4 = 44
11.	 xn ug'{xf];\ M 

	 Solve: x3− 3x2− 4x + 12 = 0

12.	 ;t{x¿ x – 2y ≤ 1, x + y ≤ 4, x ≥ 0, y ≥ 0 sf cfwf/df P = 5x + 4y sf] clwstd / Go"gtd 
dfg kQf nufpg'xf];\ . 

	 Optimize P = 5x + 4y under the constraints x – 2y ≤ 1, x + y ≤ 4, x ≥ 0, y ≥ 0

13. 	 jf:tljs kmng f(x) = 2x + 3 sf nflu
	 For a real valued function f(x) = 2x + 3

   (a)  	f(2.95), f(2.99), f(3.01), f(3.05) / f(3) sf dfgx¿ kQf nufpg'xf];\ M
	 Find the values of f(2.95), f(2.99), f(3.01), f(3.05) and f(3).

   (b)  	s] of] kmng x = 3 df cljlR5Gg x'G5 <
	 Is this function continuous at x = 3?

14. 	 d]l6«S; ljlwsf] k|of]u u/L tn lbOPsf ;dLs/0fx¿ xn ug'{xf];\ M
	 By using matrix method solve the following systems of equations:
	 3x + 5y = 11, 2x − 3y =  1

15. 	 pb\ud laGb'af6 hfg] / 2x2 − 5xy + 2y2 = 0 n] k|ltlglwTj ug]{ ;/n /]vfx¿;Fu nDa x'g] 
;/n /]vfx¿sf] Psn ;dLs/0f kQf nufpg'xf];\ M

	 Find the single equation to represent the equations of pair of straight lines passing 	
	 through the origin and perpendicular to the lines  represented by 2x2 − 5xy + 2y2 = 0 .

16.  	 dfg kQf nufpg'xf];\ . 

	 Find the value of:  sin 20° . sin 30° . sin 40° . sin 80°
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17. 	 olb A + B + C = πc  eP k|dfl0ft ug'{xf];\ M 

	 If A + B + C = πc, prove that: sin2 A − sin2B + sin2C = 2sinAcosBsinC

18 .	 Pp6f w/x/fsf] l7s cufl8 hldgsf] ;txdf /x]sf] s'g} Ps :yfgaf6 w/x/fsf] dfly 
78\ofOPsf] 6m  cUnf] Wjhb08sf]  6'Kkf] /  km]bsf pGgtf+z sf]0fx¿ j|mdzM 60° / 45° 
kfOof] . w/x/fsf] prfO / w/x/fsf] km]baf6 ;f] laGb';Ddsf] b'/L kQf nufpg'xf];\ . 

	 From a place at the ground level in front of a tower the angle of elevations of the top 
and bottom of flagstaff 6m high situated at the top of a tower are observed 60° and 
45° respectively. Find the height of the tower and the distance between the base of the 
tower and point of observation.

19. 	 PsfO ju{nfO{ ;dfgfGt/ rt'e{'h 







1100
1430

sf ¿kdf :yfgfGt/0f ug]{ 2×2 d]l6«S; 	
kQf nufpg'xf];\ .

Find the 2×2 matrix which transforms unit square to a parallelogram 







1100
1430

.

20. 	 lbOPsf] tYofª\ssf] dWosaf6 dWosleGgtf / o;sf] u'0ffª\s kQf nufpg'xf];\ .
Find the mean deviation and its coefficient from mean of the given data.

21. 	 lbOPsf] tYofª\saf6 :t/Lo leGgtf / ljr/0fzLntfsf] u'0ffª\s kQf nufpg'xf];\ .
Find the standard deviation and coefficient of variation from given data.

				  

				    ;d"x 3 ‘Group D' 				    4× 5 = 20
22.	 Pshgf 7]s]bf/n] s'g} sfd lglZrt ;do eGbf l9nf] u/]afkt klxnf] lbgsf] ?= 200, bf];|f] 	

lbgsf] ?= 250 ub}{ k|To]s kl5Nnf] lbgdf klxnf] lbgsf] eGbf ?= 50 a9L hl/jfgf ltg'{k5{ . 	
olb pSt 7]s]bf/n]  s'g} sfd 30 l bg l9nf  u/]df hDdf  slt hl/jfgf ltg'{knf{ < kQf 
nufpg'xf];\ <

k|fKtfª\s (Marks 
obtained)

0-10 10-20 20-30 30-40 40-50

ljBfyL{ ;ª\Vof(No. 
of students)

2 3 6 5 4

pd]/ (Age) 0-4 4-8 8-12 12-16 16-20 20-24

dflg;sf] ;ª\Vof 
(No. of Persons)

7 7 10 15 7 6
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	 A contract on construction job specifies a penalty for delay of completion beyond 
a certain date as follows: Rs 200 for the first day, Rs 250 for the second dayetc, 
the penalty for each succeeding day being Rs 50 more than for the preceding day. 
How much money the contractor has to pay as penalty, if he has delayed the work 
by 30 days? find it.

23. 	 Pp6f kfª\u|fsf] kl/lwdf /x]sf tLgcf]6f laGb'x¿  (5,7) , (−1,7)  / (5,-1) Pp6f lgZlrt 	
	 laGb'af6 a/fa/ 	b'/Ldf kb{5g\ . pSt lglZrt laGb'sf] lgb]{zfª\s kQf nufpg'xf];\ . ;fy} 	

	 pSt tLg laGb'x¿ kg]{ u/L laGb'ky kQf nufpg'xf];\ .
	 On the circumference of a wheel there are three points (5,7), (−1, 7) and 	

(5,−1) 	located such that the distance 	from a fixed point to these points is al-
ways equal. Find coordinates of the fixed point. Also, find equation represent-
ing the locus that contains all three points.

24. 	 e]S6/ ljlwsf] k|of]u u/L s'g} klg rt'e'{hsf] e'hfx¿sf dWolaGb'x¿ j|mdzM hf]8\b} hfFbf 	
	 aGg] rt'e{h ;dfgfGt/ rt'e'{h x'G5, egL k|dfl0ft ug'{xf];\ .
	 By using vector method, prove that the quadrilateral formed by joining the 	
	 midpoints of adjacent sides of a quadrilateral is a parallelogram?

25. 	 rt'e'{h ABCD sf zLif{laGb'sf lgb]{zfª\sx¿ A(1,1), B(2,3), C(4,2) / D(3, −2) 5g\ . 	
	 pSt rt'e'{hnfO{ pb\ud laGb'sf] jl/kl/ 180° df kl/j|md0f ug'{xf];\ . k|ltlaDa rt'e'{hnfO{ 	
	 y = −x df k/fjt{g ug'{xf];\ . dflysf b'O{ :yfgfGt/0fsf] ;+o'St :yfgfGt/0fnfO{ hgfpg] 	
	 :yfgfGt/0f n]Vg'xf];\ .
	 The coordinates of vertices of a quadrilateral ABCD are A(1,1), B(2,3), C(4, 2) and 	
	 D(3,−2). Rotate this quadrilateral about origin through180°. Reflect this image of 	
	 quadrilateral about y = 	 −x. Write the name of transformation which denotes the 		
	 combined transformation of above two 	 transformations.
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hg;ª\Vof lzIff
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k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg k"0ff{ª\s

clt ;ª\lIfKt k|Zg !! !% ldg]6 !!

5f]6f] pQ/ cfpg] k|Zg * ! 306f !% ldg]6 $)

Nffdf] pQ/ cfpg] k|Zg # $% ldg]6 @$

hDdf @@ @ 306f !% ldg]6 &%
b|i6Jo M

;a} k|Zg clgjfo{ x'g] 5g\ t/ PsfO # / $ af6 5f]6f pQ/ cfpg] k|Zgdf Ps÷Ps / nfdf] pQ/ 
cfpg] k|Zgdf PsfO ^ af6 Ps ljsNk /xg] 5 .
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dfWolds lzIff k/LIff
gd'gf k|Zgkq

ljifo M hg;ª\Vof 

k"0ff{ª\s M &%                                           ;do M @ 3G6f !% ldg]6 

;d"x s Group  ‘A'

tnsf k|Zgsf] Ps jfSodf pQ/ lbg'xf];\ M	 	  -!!×! Ö !!_

Answer The following questions in one sentence.

!=	 hg;ª\VofnfO{ kl/eflift ug'{xf];\ . (K)
	 Define Population.

@=	 WHO sf cg';f/ lszf]/fjf:yf eGgfn] s'g pd]/ ;d"x xf] < (K)
	 According to WHO, what age group refers to adolescence?

#=	 a;fOF;/fOnfO{ k|efj kfg]{ s'g} Ps tŒj klxrfg ug'{xf];\ . (U)
	 Identify one of the factors that influence migration.	
$=	 xfd|f] ;dfhdf n}ª\lus ;dfgtf sfod /fVg] Ps pkfo klxrfg lbg'xf];\ .(A)
	 Identify a way to maintain gender equality in our society.
%=    cfsl:ds ue{ lg/f]ws rSsL s:tf] cj:yfdf k|of]u ug{ ;lsG5 <
	 In which situation, emergency contraceptive pills can be used?
^=	 k|fylds tYofª\ssf] s'g} Pp6f ;|f]t pNn]v ug'{xf];\ . hgu0fgf tYofª\ssf] s'g ;|f]tcGtu{t 

kb{5 . (U)
	 Specify one of the primary data sources. Under what source does the census 

fall?
&=	 afnljjfx /f]syfd ug{ tkfO{Fn] ckgfpg ;Sg] s'g} Pp6f ;'emfj n]Vg'xf];\ . (HA)
	 Write down one of the ways that  you can adopt to prevent child marriage.
*=	 kfl/jfl/s hLjg lzIffn] s;/L ;'vL hLjg agfpgdf ;xof]u ub{5 <
	 How family life education helps to build a happy life?
(=	 hLjgdf 36\g] k|d'v 36gf btf{ ug{ hgr]tgf hufpg] Pp6f gf/f n]Vg'xf];\ . (HA)
	 Write a slogan to raise awareness about registration of vital events in life.
!)=	 lbuf] ljsf;sf] cy{ atfpg'xf];\ . (K)
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	 Explain the meaning of sustainable development.
!!=	 hg;ª\Vof lzIffdf dWossf] k|of]u lsg ul/G5 < pNn]v ug'{xf];\ . (A)
	 Mention why median is used in population education?

cyjf

	 n}ª\lus d'2f eGgfn] s] a'em\g'x'G5 < g]kfndf n}ª\lustf;DaGwL d'2fsf] ;Daf]wg ug{ ePsf 	
	kxnx¿ rrf{ ug'{xf];\

	 What is Genter issues ? Mention the initiative steps done in Nepal to 
	   address the genter issues.

;d"x v Group ‘B'

tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\M				    *×%Ö$)_
Give short answer of the following questions.

!@=	 hg;ª\Vof kl/jt{gsf tŒjx¿ s] s] x'g\ < s'g} b'O{ cf]6fsf] 5f]6s/Ldf JofVof ug'{xf];\ . (K) 
	 What are the factors of population change? Explain any two of them in short.
!#=	 g]kfndf ue{ktg;DaGwL ;/sf/L gLltsf] 5f]6s/Ldf ljj]rgf ug'{xf];\ . (HA)
	 Discuss the government policy on abortion in Nepal.
!$=	 g]kfnsf] hg;ª\Vof ;g\ @))! / ;\g @)!! df j|mdzM @,#!,%!,$@# / @,^$,($,%)$ lyof] 

eg] k|jw{s j[l4b/ Pt= Po
ert  ljleGg k|of]u u/L ;g\ @)@! sf] hg;ª\Vof k|If]k0f ug'{xf];\ .

	 Population of Nepal in 2001 and 2011 was 2, 31, 51,423 and 2, 64, 94,504 
respectively. Use exponential growth rate (pt=po

ert) method for population 
projection of 2021 AD.

cyjf

	 hg;ª\Vof k|If]k0f eg]sf] s] xf] < o;sf] cfjZostf lsg kb{5 < k|If]k0fsf k|d'v ljlwx¿sf] gfd 
pNn]v ug'{xf];\ .  (A)

	 What is population projection? Why it is necessary mention the major methods of 
projection.

!%=	 tkfO{Fsf] ;dfhdf dlxnf ;zStLs/0fsf nflu s] s:tf k|of;x¿ eO/x]sf 5g\ < kfFr a'Fbfdf 
n]Vg'xf];\ .

	 In your society, what are the efforts for women empowerment? Enlist any five 
efforts.

!^=	 ue{ Joj:yfkgsf nflu ckgfOg] k|fs[lts ljlwsf] kfFrcf]6f kmfObfx¿ k|:6 kfg'{xf];\ . (U)
	 Explain any five benefits of using natural methods of contraceptive method.
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!&=	 kfl/jfl/s hLjg pRr agfpg tkfO{Fn] ug{ ;Sg] s'g} kfFrcf]6f k|of;x¿ pNn]v ug'{xf];\ . (HA)
	 Mention five steps you can take to improve family life.

!*=	 g]kfndf k~hLs/0f k|0ffnLnfO{ s;/L Jojl:yt ug{ ;lsG5 < s'g} kfFr a'Fbfdf ;'emfj lbg'xf];\ .  
(A)

	 How can the registration system be managed in Nepal? Suggest any five ways

!(=	 lbuf] ljsf; / hg;ª\Voflarsf] cGt/;DaGw JofVof ug'{xf];\ . (K)
	 Explain the correlation between sustainable development and population.

;d"x u Group ‘C'

tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M					    #×*Ö@$

Give Long answer of the following questions

@)=	 g]kfnsf] kGw|f}+ of]hgfsf] hg;ª\Vofdf gLlt tyf sfo{j|mdx¿sf] nIo, p2]Zo / /0fgLltx¿ k|:t't 
ug'{xf];\ . (HA)

	 Present the goals, objectives and strategies of policies and programs to the pop-
ulation of the Fifteenth  Plan of Nepal.

@!=	 dlxnf k|hgg k|0ffnL;Fu ;DalGwt leqL cª\ux¿sf] sfo{sf] ;lrq JofVof ug'{xf];\ .

	 Explain the functions of the internal organs of  female reproductive system along 
with its figure.

or

	 afFemf]kgfsf] sf/0f, k|efj / Joj:yfkgsf pkfox¿sf] ;ª\lIfKt rrf{ ug'{xf];\ .  (U)
	 Briefly mention the causes, impact and management of infertility.

@@=	 tkfO{+sf] kl/jf/df Ho]i7 gful/sx¿sf] Joj:yfkg ug{ s:tf] e"ldsf lgjf{x ug'{x'G5 < s'g} 
rf/cf]6f a'Fbfdf j0f{g ug'{xf];\ . (A)

	 What role can you play to manage senior citizens in your family? Explain in any 
four points
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gful/s lzIff
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k|Zgsf k|sf/

qm=;+= k|Zgsf k|sf/ ;f]lwg]  k|Zg 
;ª\Vof

cª\sef/ ;do

!= clt 5f]6f] pQ/ cfpg] k|Zg !! !!x!Ö !! !% ldg]6

@= 5f]6f] pQ/ cfpg] k|Zg * *x% Ö $) ! 306f !% ldg]6

#= nfdf] pQ/ cfpg] k|Zg # #x* Ö @$ $% ldg]6

hDdf   @@ &% !#% ldg]6
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dfWolds lzIff k/LIff

gd'gf k|Zgkq

ljifoM gful/s lzIff	 	

k"0ff{ª\s M &%							       ;doM @ 306f !% ldg]6

;d"x s Group ‘A'

tnsf k|Zgx¿sf] Ps jfSodf pQ/ n]Vg'xf];\ M		 !! ×! Ö!!
Aanswer the following questions in one sentence                          
!= 	 gful/s eGgfn] tkfOF{ s] a'em\g'x'G5 < Ps jfSodf n]Vg'xf];\ . 
 	  What do you mean by citizen? Write in a sentence.
@= 	 dfgf}F, lad:6]s lzv/ ;Dd]ng g]kfndf cfof]hgf x'Fb} 5 . To; ;Dd]ngsf nflu Ps gf/f to 

ug'{xf];\ . 
	 Imagine, BIMSTEC Summit Conference is going to be held in Nepal, Prepare a 

slogan for it. 
#= 	 g]kfnsf] jt{dfg ;+ljwfgsf] k|efjsf/L sfof{Gjog ug{ tkfO{F s] e"ldsf lgaf{x ug{ ;Sg'x'G5 <
	 What role can you play for the effective execution of the present constitution of 

Nepal?
$= 	 ;ª\3Lo nf]stflGqs u0ftGqfTds zf;g Joj:yf eg]sf] s] xf] <
	 What is meant by Federal, Democratic, Republican State governance?
%= 	 :jtGq Gofokflnsfsf] dxŒj pNn]v ub{} Ps Kn]sf8{ tof/ kfg'{xf];\ .
	 Prepare a placard mentioning the importance of independent judiciary.
^= 	 ;f/jfg sfg'g eGgfn] s] a'‰g'x'G5 <
	 What is meant by substantive law?
&= 	 tkfO{Fsf] cfkm\gf] ufpFm 6f]ndf ePsf] ljjfb lg¿k0f ug{sf nflu ljjflbt kIfx¿nfO{ s'g 

lgsfodf hfg ;Nnfx lbg'x'G5 <
	 What agency do you recommend the conflicting parties to go for the resolution of 

the conflict that occurred in our village / tole ?
*= 	 tkfO{F hgdt ;ª\u|xaf/] ljleGg ;|f]tx¿ cWoog u/]sf] x'g'kb{5, pSt cWoogsf] cfwf/df 

hgdt ;ª\u|xaf6 k|fKt ePsf] /fhgLlts kl/jt{g n]Vg'xf];\ . 
	 You might have studied the different sources of Referendum, now present the 
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political achievement got from referendum on the basis of the study. 
(= 	 /fHo lgdf{0fsf s'g} b'O{ tŒjx¿ n]Vg'xf];\ .
	 Write any two elements of nation building. 
!)= 	tkfO{Fn] JolStut :jtGqtf kfpg'ePg eg] s] ug'{x'G5 < 
	 What would you do in case you don't get individual freedom<

!!= 	 g]kfndf bf];|f] hgcfGbf]ng slxn] ;'? ePsf] lyof] < k"/f ldlt n]Vg'xf];\ .
	 When was Second mass movement commenced? Write full date

;d"x v Group ‘B'

tnsf k|Zgsf] 5f]6f pQ/ n]Vg'xf];\	 M                          *×% Ö$)
Give Short answer of the following questions.
!@=	 tkfO{Fsf] ;d'bfodf a;f]af; u/]sf] s'g} JolStn] g}lts st{Ao kfngf gul//x]sf] cj:yfdf 

tkfO{F s] egL ;Demfpg'x'G5 < a'Fbfdf hjfkm lbg'xf];\ .
	 In what ways do you convince to a person of your community not following 

moral duties? Answer in points. 
!#= 	 /fHosf cª\ux¿lar zlSt lgoGq0f / ;Gt'ng s;/L sfod x'G5 < pbfx/0f;lxt k|:t't 

ug'{xf];\ . 
	 How is the power, check and balance maintained among the organs of the state? 

Present with examples.
!$= 	g]kfnsf] ;+ljwfgsf d'Vo ljz]iftfx¿ pNn]v ub}{ Ps b}lgs klqsfsf nflu ;DkfbsLo tof/ 

ug'{xf];\ . 
	 Prepare an editorial for a national daily mentioning the chief features of the 

constitution of Nepal.
 !%= 	tkfO{F Gofokflnsfsf] pRr cf]xf]bfdf /xg'eof] eg] Gofokflnsfsf] :jtGqtfnfO{ s;/L ;+/lIft 

ug{x'G5 < kfFrcf]6f a'Fbfdf n]Vg'xf];\ .  
	 How would you protect the essence of independent judiciary if you happen to 
	 hold the dignitary post of judiciary? Write in five points. 
	                                  cyjf

	 ;+;bLo zf;g k|0ffnL / cWoIffTds zf;g k|0ffnLaLrsf ;dfgtf / leGgtfx¿ tflnsf agfO{ 
k|:t't ug'{xf];\ . 

	 Present the similarities and defferences between Parliamentary and Presidential 
system of governments in a table. 

!^= 	hgdtsf dfWodx¿ s] s] x'g\ < ;"rL lgdf{0f ug'{xf];\ . 
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	 What are the mediums of public opinions? Make a list of them. 
!&= 	g]kfndf ;dfj]lztfsf] k|of]un] s] s:tf ;sf/fTds k|efjx¿ b]vf k/]sf 5g\ < tflnsf agfO{ 

k|:t't ug'{xf];\ . 
	 What positive impacts have been resulted due to application of inclusion in 

Nepal? Present it making a table.
!*= 	nf]stGq ;'b[9Ls/0fsf nflu /fhgLlts bnn] lsg g]t[TjbfoL e"ldsf lgjf{x ug'{kb{5 <
	 Why should the political parties play leadership role to strengthen democracy?
		  cyjf

	 æ/fhgLlts bnx¿ hgtf / ;/sf/ ljrsf ;]t' x'g\ .Æ s;/L < k|:6 kfg'{xf];\ . 
	 “Political parties are the bridge between people and government.” How ? Justify 

it.
!(= 	;fs{sf p2Zox¿ k|:t't ug{‘xf];\ .	
	 Present the objectives of SAARC.

;d"x u Group  ‘C'
tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M 	                           #×*Ö@$
Give long answer of the following questions
@)= 	g]kfnsf] jt{dfg ;+lawfg / g]kfn clw/fHosf] ;+ljwfg, @)$& lar t'ngfTds cWoog 

ug'{xf];\ .
	 Make a comparative study between the present constitution of Nepal and the 

constitution of the kingdom of Nepal, 2047 B. S.
		  cyjf

	 g]kfnsf] ;+j}wflgs ljsf;s|daf/] ;ª\lIfKt rrf{ ug'{xf];\ .
	 Explain in frief about the constitutional development of Nepal.
@!= 	g]kfndf sfg'gL pkrf/df b]lvPsf ;d:ofx¿ / ltgsf] ;dfwfg ug]{ pkfox¿af/] rrf{ ub}{ 

b}lgs klqsfsf] nflu Ps n]v tof/ kfg'{xf]; .
	 Prepare an article fora newspaper daily explaining the problems and their solution 

inthe field of legal remedies in Nepal. 
@@= 	;+o'St /fi6« ;ª\3af/] tkfO{Fn] cWoog cg';Gwfg u/]sf] x'g'kb{5 . To;sf cfwf/ / lgDglnlvt 

pkzLif{sx¿sf] cfwf/df Ps 5f]6f] k|lta]bg tof/ kfg'{xf];\ . 
	 You might have studied or made research about the United Nations Organization. 

Now, prepare a short report on the basis of  thefollowing sub-headings.
	 -s_ kl/ro -Introduction_ 	 M -!_
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	 -v_ k|d'v p2]Zox¿ -Chief  Objectives_ 	 M -@_

	 -u_ jt{dfg ;dodf em]Ng' k/]sf ;d:ofx¿ M  -The problems faced in the  present time_ M -#_

	 -3_ lgisif{ / ;'emfa -Conclusion and suggestion_ M -@_



46ljlzi6Ls/0f tflnsf

kmf]6f]u|fkmL
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k|Zgsf k|sf/x¿

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg cª\sef/

clt 5f]6f] pQ/fTds k|Zg * !* ldg]6 *

5f]6f] pQ/ cfpg] k|Zg ^ #) ldg]6 !*

Nffdf] pQ/ cfpg] k|Zg # $@ ldg]6 @$

hDdf !& ! 306f #) ldg]6 %)
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dfWolds lzIff k/LIff 

gd'gf k|Zgkq

ljifo M kmf]6f]u|fkmL

k"0ff{ª\s M %)							       ;do M ! 306f #) ldg]6

;d"x s (Group ‘A')

tnsf k|Zgsf Ps jfSodf pQ/ lbg'xf];\ M 			   *×!Ö*
 Answer the following question in one sentence.			 

!=  	x\jfO6 Aofn]G; ;]l6ª eg]sf] s] xf] < 

	 What is White balance settings?
@=	 kmf]6f] kqsfl/tf eGgfn] s] a'lemG5 < 

	 What do you understand by photojournalism?
#=	 kmf]6f]u|fkmLsf cfwf/e"t tŒjx¿ s] s] x'g\ < 

	 What are the elements of Photography?
$= 	 cfOP;cf]sf] k"/f ¿k s] xf] < 

	 What is the full form of ISO?
%= 	 Pkfr{/ k|fcf]l/6L df]8 eGgfn] s] a'lemG5 < 
	 What do you  mean by Aperture priority mod?
^=	 kmf]sl;ª eg]sf] s] xf] < 

	 What do you mean by focusing?
&= 	 tl:a/df k|fOd]/L sG6]G6 eGgfn] s]nfO{ hgfpF5 <

	 What is primary content in photograph?
*=	 rdstf eg]sf] s] xf] < 

	 What do you mean by brightness in photographs?

;d"x v Group ‘B'

tnsf k|Zgsf] 5f]6f] pQ/ lbg'xf];\ M 					    ^×#Ö!*
Give short answer of the following questions				  
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(=	 Gofgf] / lr;f] /ªsf] km/s n]Vg'xf];\ . 
	 Write down the difference between warm and cool colour?
!)= 	;dfhdf kmf]6f]sf] cfjZostf / dxŒj s] 5 < 

	 What is the need and importance of the photo in society?
!!=	 rfndf /x]sf] s'g} j:t'sf] kmf]6f] lvRbf s] s] s'/fdf Wofg lbg'kb{5 < 

	 What are the things we consider while taking pictures of moving object?
!@= 	;6/ l:k8 eg]sf] s] xf] < 5f]6s/Ldf n]Vg'xf];\ .  

	 What do you mean by shutter speed write in short
!#= 	Dofg'cn kmf]s; / c6f] kmf]s;sf leGgtfx¿ n]Vg'xf];\ . 
	 Write the differences between manual focus and auto focus ?
!$=	 kmf]6f]u|fkmLdf ;+of]hgsf] s] e"ldsf /xG5 < 

	 What is the role of composition in photogrphy?

;d"x u (Group ‘C')

tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M   				    #×*Ö@$
Give long answer of the following questions
!%= 	8]Ky ckm lkmN8 eg]sf] s] xf] < o;nfO{ c;/ kfg]{ sf/sx¿ ;lj:tf/ j0f{g ug'{xf];\ . 

	 What do you mean by depth of field? Write about the causes that affects it.
!^== 	Sofd]/f df]8 eg]sf] s] xf] < Dofg'cn ck/]l6ª l;:6ddf kmf]6f]u|fkmL ug]{ tl/sf ;lj:tf/ j0f{g 

ug'{xf];\ . 

	 What do you mean by camera mode? write the process of photography under 
manual operating system.

!&=	 Jofj;flos kmf]6f]u|fkmL eGgfn] s] a'lemG5 < j}jflxs kmf]6f]u|fkmL ug]]{n] Wofg lbg'kg]{ s'/fx¿ 
;lj:tf/ j0f{g ug'{xf];\ .  

	 What do you mean by commercial photography? Write down the things to be 
considered foron weeding photogrphy
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k|Zgsf k|sf/x¿

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg k"0ff{ª\s

clt ;ª\lIfKt k|Zg !! !% ldg]6 !!

5f]6f] pQ/ cfpg] k|Zg * ! 306f !% ldg]6 $)

Nffdf] pQ/ cfpg] k|Zg # $% ldg]6 @$

hDdf @@ @ 306f !% ldg]6 &%

b|i6Jo M

;a} k|Zg clgjfo{ x'g] 5g\ t/ PsfO @ / $ af6 5f]6f pQ/ cfpg] k|Zgdf Ps÷Ps / nfdf] pQ/ 
cfpg] k|Zgdf PsfO # af6 Ps ljsNk /xg] 5 .
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dfWolds lzIff k/LIff
gd'gf k|Zgkq

ljifo M e"uf]n

k"0ff{ª\s M &%  						      ;do M @ 3G6f !% ldg]6 

;d"x s (Group ‘A')

tnsf k|Zgx¿sf] clt 5f]6f] pQ/ lbg'xf];\ M	 		  !! ×! Ö!!

Give answer of the following questions in one sentence.

!= 	 e"uf]nnfO{ lsg ;dli6ut ljifo elgPsf] xf] <U

	 Why Geography is called holistic subject?

@=	 k[YjLsf] e"dWo/]vLo kl/lw slt 5 <K

	 What is equatorial circumstance of the Earth?
#= 	 Ps l8u|L cIff+zn] slt b'/LnfO{ k|ltlglwTj ub{5 <K

	 What is the distance represented by 1-degree latitude?
$= 	 cd]l/sfdf lsg PseGbf a9L k|fdfl0fs ;dosf] k|of]u ul/G5 <HA

	 Why does USA use more than one standrd time?
%= 	 ;drfk /]vf eg]sf] s] xf] <K

	 What do you mean by isobar?

^= 	 jfo' lsg axG5 < U

	 Why does wind blow?
&= 	 g]kfndf hDdf sltcf]6f :yfgLo tx 5g\ <K

	 How many Local Governments are in Nepal?
*= 	 g]kfndf t];|f] :t/sf gbLx¿nfO{ c:yfoL gbL elgG5 . lsg <U

	 The third grade rivers are called temporary rivers in Nepal why?
(= 	 cfGtl/s a;fOF;/fO eg]sf] s] xf] <K

	 What do you mean by migration?
!)= 	s'n ufx{:y pTkfbgsf] 5f]6f] kl/efiff lbg'xf];\ .K

	 Give short definition of Gross National prouct.
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!!= 	km/]gxfO6 PsfOdf kfgL slt l8u|Ldf hD5 <K

	 In which point the water freezes in Fahrenheit unit.
					   

;d"x s Group ‘B'
tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\ M			     *×% Ö$)

Give short answer of the following questions. 

!@= 	Ct' kl/jt{g s;/L x'G5 < ;lrq k|:t't ug'{xf];\ . U

	 How do seasons change?  Explain with picture. 

					     cyjf

	 pmi0f / ;dzLtf]i0f tfksf k]6Lx¿sf] leGgtf pNn]v ug'{xf];\ .

	 Mention the diffrence between tropical and subtropical tempetate zone.

!#= 	olb &) l8u|L klZrdsf] Go'of]s{ ;x/df laxfgsf] ( aHbf Tolt g} a]nf *% l8u|L k"j{df /x]sf] 

sf7df8f}Fdf slt ah]sf] xf]nf < A÷Pr

	 If the longitude of New York is 70º west and time is 9 AM, then what is the time

	  of Kathmandu 85ºEast longitude at the same time?

!$= 	gbLsf] IfoLs/0f, kl/jxg / lgIf]k0f sfo{sf] 5f]6f] kl/ro lbg'xf];\ . K

	 Give short introduction of the functions of river like erosion, transportation and 
deposition.

!%= 	e"sDk cfkm}Fn]  dflg; dfb}{g . dflg; cfkm\g} sf/0fn] hf]lvddf kb{5 . o; egfOnfO{ k'li6 ub}{ 

e"sDkaf6 ;'/lIft x'g] rf/ pkfox¿ pNn]v ug'{xf];\ . HA

	 Earthquake does not kill human but human falls in risk during earthquake because

	 of their activities. Justify this statement and mention any four-safety measures 

	 to be safe from earthquake. 

!^= 	ljZjsf jfo'sf rfk k]6Lx¿sf] gfd n]vL s'g} b'O{ rfk k]6Lx¿sf] lgdf{0f s;/L x'G5 n]Vg'xf];\ . 

	 Write the name of air pressure belts of the Earth and explain the process of any 
two-pressure belts. 
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!&= 	g]kfndf kfOg] 5cf]6f vlgh kbfy{sf] gfd n]vL s'g} Pssf] kl/ro lbg'xf];\ . K

	 Write the name of any six minerals found in Nepal and give introduction of any 
one. 

!*= tkfOF{ a:g] If]qsf] w/ftnLo :j¿ksf] pNn]v u/L pSt w/ftnLo :j¿kn] ToxfFsf] xfjfkfgL, 
jg:klt / hghLjgdf s:tf] k|efj k/]sf] 5 pNn]v ug'{xf];\ . A÷Pr

	 Mention the Geographical region where you reside and mention the affects of 
the region in climate, vegetation, and lifestyle.

!(= 	ef}uf]lns sf/0f lbg'xf];\ M  -@=%±@=%_ HA

	 Give Geographical regions. 

	 -s_ k|foM ;x/x¿ gbL lsgf/f / ;dy/ hldgdf ljsf; ePsf 5g\ . 

	 Generally,most of the cities are developed in the riverbanks and plain land. 

	 -v_ g]kfnsf] t/fO{nfO{ cGgsf] e08f/ elgG5 . 

	 Tarai regionis called granary of Nepal. 

						      cyjf

	 dflg; / k|s[lt;Fusf] Pscsf{sf] cGt/;DaGwsf] pbfx/0f;lxt ljZn]if0f ug'{xf];\ .
	 Analyze the relation between the human and nature with examples.

;d"x u Goup ‘C'
tnsf k|Zgx¿sf] nfdf] pQ/ lbg'xf];\ M			   #×* Ö @$

Give long answers of the following questions.		
@)= 	ljsf;sf k"jf{wf/x¿sf] ljsf; geO{ cGo ljsf;sf sfo{x¿ cl3 a9\g ;Sb}g\ . o; egfOnfO{ 

k'li6 ub}{ g]kfndf ljsf;sf k"jf{wf/x¿sf] tLj| ljsf; ug]{ kfFr pkfox¿ k|:t't ug'{xf];\ . U

	  Any kinds of development are impossible without the development of
	  infrastructure. Justify this statement and present any five measures for rapid 
	  development of infrastructures. 

						      cyjf

	 k|fs[lts ;+;fwgn] dfgj hLjg / cfly{s If]qdf kfg]{ k|efj pNn]v ug'{xf];\ .
	 Mention the impact of natural resource on human life and economic sectors.
@!= 	ljZjdf ;a} b]zx¿ cfly{s¿kn] cufl8 5}gg\ . o;f] x'g'sf rf/ sf/0fx¿ pNn]v ub}{ ljZjsf 
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;a} /fi6«x¿nfO{ ljsl;t agfpg] rf/ pkfox¿ n]Vg'xf];\ . HA

	 All nations are not economically forward equally in the world. Mention any four 
reasons of this situation and write any four ways to develop the nations.  

@@= 	;fdfGo cfsf/k|sf/ ldnfO{ g]kfnsf] gS;f tof/ ug'{xf];\ / pko'St ;ª\s]t k|of]u u/L tnsf 
tYox¿ eg'{xf];\ . A÷Pr

	 Draw a map of Nepal with general shape and insert the following geographical facts. 
	 clk lxdfn, aaO{ gbL, uf]vf{, sf7df8f}F lghu9 b|'tdfu{, h'6 pTkfbg If]q 

	 Mount Api, River Babai, Gorakha, Kathmandu Nijgadh Fast Track, Jut Culti-
vation area.
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n]vf k/LIf0f
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k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg k"0ff{ª\s

clt ;ª\lIfKt k|Zg !! !% ldg]6 !!
5f]6f] pQ/ cfpg] k|Zg * ! 306f !% ldg]6 $)
Nffdf] pQ/ cfpg] k|Zg # $% ldg]6 @$
hDdf @@ @ 306f !% ldg]6 &%



61ljlzi6Ls/0f tflnsf

dfWolds lzIff k/LIff 

gd'gf k|Zgkq

ljifo M n]vfk/LIf0f 
k"0ff{ª\s M &%							       ;doM @ 3G6f !% ldg]6 	
				    ;d"x s Group ‘A'	 			 

tnsf k|Zgx¿sf] Ps jfSodf pQ/ lbg'xf];\ M	 	 ! × !! Ö!!
Give answer of the following question in one sentence. 
!=	 a}ª\s clwljsif{ eGgfn] s] a'lemG5 <
	 What do you understand by bank overdraft ?
@=	 clGtd vftf tof/ ubf{ ;dfof]hgdf lbOPsf] clGtd df}HbftnfO{ s'g s'g zLif{sdf k|ljli6  

ul/G5 <
	 In what topics; closing stock is recorded while preparing final account when it 

is given in adjustment?
#= 	 g]kfn /fi6« a}ª\s s'g lsl;dsf] a}ª\s xf] <
	 What type of bank is Nepal Rastra Bank ?
$= 	 ladf eGgfn] s] a'lemG5 <
	 What do you understand by Insurance?
%= 	 /sdfGt/ eg]sf] s] xf] <
	 What is budget transfer?
^ 	 c;f]h dlxgfsf] s'n tna ?=##,))).– df sd{rf/L ;~rosf]if afkt ?=^,))).– s6\6L u/L 

tna e'QfgL ubf{sf] uf]:jf/f ef}r/ tof/ ug'{xf];\ . 
	 Prepare journal voucher of total salaries of Rs. 33,000; Out of which Rs. 6,000 

was deducted for provident fund.
&= 	 ;/sf/L] n]vfk/LIf0fsf s'g} rf/cf]6f p2]Zox¿ ;"rLs[t ug'{xf];\ .
	 List out any four objectives of government audit ?
*= 	 dxfn]vf k/LIfs sfof{nosf s'g} rf/cf]6f sfd, st{Jo / clwsf/x¿ ;"rLs[t ug'{xf];\ .
	 List out any four rights and duties of Auditor General? 
(= 	 cf;fdLaf6 k|fKt /sdsf] ef}r/ k/LIf0f s;/L ul/G5 <
	 How do you vouching for the amount received from debtors?
!)= 	s'g cj:yfdf n]vfk/LIfsn] gsf/fTds n]vfk/LIf0f k|ltj]bg tof/ ub{5 <
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	 In what situation; auditor prepares adverse audit report?
!!= 	 n]vfk/LIf0f dfgb08cGtu{t ;fdfGo dfgb08leq kg{] dfgb08x¿dWo] s'g} rf/ dfgb08x¿ 

;"rLs[t ug'{x]f;\ .
	 List out any four general audit standards? 

;d"x v Group ‘B'
tnsf k|Zgsf] 5f]6f] pQ/ lbg'xf];\ M 			   *× %Ö$)
Give Short answer of the following questions.
!@= 	cNkmf la6f Joj;fosf] #) cfiff9 @)&) ;fnsf] ;Gt'ng k/LIf0fsf] cfwf/df Jofkf/ vftf / 

gfkmf gf]S;fg vftf tof/ ug'{xf];\ . 
	 Prepare Trading account & Profit and Loss account on basis of trial balance on 
	 30th Ashadh 2070 of Alfa Beta Business.

ljj/0f 
Particulars

vf=kf=g+= 
LF

8]la6 -/sd_ 
Debit 
Rs.

s|]|l86 -/sd_
Credit Rs.

;'? df}Hbft Opening  Balance
vl/b Purchase
OGwg Fuel
Hofnf Wages
:6];g/L Stationery
las|L Sales
Aofh k|flKt Interest Received
lj1fkg vr{ Advertisement
x|f; s6\6L Depreciation
las|L lkmtf{ Sales Return
vl/b lkmtf{ Purchase Return
l:y/ ;DklQ Fixed Assets
k'FhL Capital
v/fa C0f Bad Debt

@),)))

%!,)))

!%,)))

@%,)))

*,)))

!@,)))

&,)))

%,)))

!,)),)))

$,)))

!,@),)))

!),)))

@,)))

!,!%,)))

s'n Total @,$&,))) @,$&,)))
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!#= 	 jfl0fHo a}ª\s eGgfn] s] a'lemG5 < o;sf s'g} tLgcf]6f d'Vo sfo{x¿ JofVof ug'{xf];\ .
	 What do you understand by commercial bank? Write any three functions of 
	 commercial bank.
				    cyjf

	 ;fgf] gubL sf]if eGgfn] s] a'lemG5 < pbfx/0f;lxt AofVof ug'{xf];\ .
	 What do you understand by commercial bank? Write any three functions of 

commercial bank . 
!$=  lhNnf lgjf{rg sfof{no, eStk'/sf lgDglnlvt sf/f]af/x¿sf] cfwf/df uf]:jf/f ef}r/ tof/ 

kfg'{xf];\ .  
	 Prepare journal voucher of District Election Office of Bhaktapur from the 

following transactions.
	 r}q !M zf=c= xl/ >]i7nfO{ ?= @%,))).– sf] r]s kmlg{r/ vl/b ug{sf nflu k]:sL :j¿k 

hf/L ul/of] . 
	 Chaitra 1: Cheque of Rs. 25,000 as an advance issued to section officer Hari 

Shrestha to purchase furniture. 
	 r}q ^M ut dlxgfsf] 3/ef8f jfkt ?= !),))).– r]saf6 e'StfgL ul/of] . 
	 Chaitra 6 : Cheque of Rs. 10,000 issued for the rent of last month.
	 r}q !%M ?= %,))).– /sdsf] ;fgf] gubL sf]if :yfkgf ul/of] .
	 Chaitra 15 : Petty cash fund was established of Rs.5,000.
	 r}q @@M zf=c= xl/ >]i7n] k]; u/]sf] ?= @@,))).– sf] kmlg{r/ vl/b lan / ?= #,)))–. 

sf] gub hDdf u/]sf] a}ª\s ef}r/sf] cfwf/df lghsf] k]:sL km5\of}{6 ul/of] .
	 Chaitra 22 : The advance of furniture purchase was cleared by section officer 

Hari Shrestha by submitting purchase bill of furniture  Rs. 22,000 and cash 
deposit slip Rs.3,000.

	 r}q @*M d;nGb ;fdu|L vl/b afkt ?= #,))).– e'StfgL ul/of] .
	 Chaitra 28 : Payment made for stationery purchase of Rs.3,000.
!%= 	;/sf/L n]vfk/LIf0f eg]sf] s] xf] < o;sf s'g} tLgcf]6f dxŒj af/] pNn]v ug'{xf];\ . 
	 What is government audit? Write any three importance of government audit.
					     cyjf

	 g]kfndf ;/sf/L n]vfk/LIf0fsf] ljsf;af/] 5f]6s/Ldf pNn]v ug'{xf];\ .
	 State briefly about development of gevernment audit in Nepal.
!^= 	dxfn]vf lgoGq0f sfof{nosf] kl/ro lbFb} o;sf s'g} tLgcf]6f sfd, st{Jo / clwsf/x¿ 
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JofVof ug'{xf];\ . 
	 Define Financial Comptroller General Office and explain any three rights and 

duties of Financial Comptroller General Office.
!&=  	n]vfk/LIf0f sfo{df ef}r/ k/LIf0fsf] e"ldsfaf/] ljZn]if0f ug'{xf];\ .
	 Explain the role of vouching in audit work.
!*= 	dxfn]vf k/LIfssf] sfof{noaf6 nfu" ePsf] n]vfk/LIf0f dfgb08x¿af/] aofg ug'{xf];\ . 

Expain audit standards issued by auditor General?
!(= 	lhNnf s[lif ljsf; sfof{no, sf7df8f}+sf] lgDglnlvt sf/f]af/x¿nfO{ a}ª\s gubL lstfadf

	 k|ljli6 ug'{xf];\ . 

	 Prepare Bank Cash Book from the following transactions of District Agriculture 
Development Office, Kathmandu.

	 cfiff9 ! M a}ª\s df}Gbft ?= !!,)),))).–
	 Ashadh 1 : Bank Balance of Rs. 11,00,000.
	 cfiff9 * M lhNnf k|zf;g sfof{noaf6 ?= #,)),))).– ;fk6L k|fKt eof] .
	 Ashadh 8 : Loan  of Rs.3,00,000 received from District Administration Office.
	 cfiff9 !% M df]6/ ;fOsn vl/b jfkt ? %,)),))).– sf] r]s hf/L ul/of] .
	 Ashadh 15 : Cheque  of Rs. 5,00,000 issued to purchase motorcycle.
	 cfiff9 @@ M gf=;'= xl/ dfgGw/nfO{ ;f]kmf ;]6 vl/b ug{ ? $),))).– k]:sL e'StfgL ul/of] 

.
	 Ashadh 22 : Advance paid Rs. 40,000 to Na.Su. Hari Manandhar to purchase 

Sofa Set
	 cfiff9 #) M 7]s]bf/ zdf{nfO{ ? !*,))).– / 7]s]bf/ s'Fj/nfO{ ? !&,))).– w/f}6L /sd 

lkmtf{ ul/of] .
	 Ashadh 30 : Amount of security deposit returned to contractor Sharma Rs. 

18,000 and contractor Kunwar Rs. 17,000.
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;d"x u Group ‘C'
tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M					    *× #Ö@$
Give long answer of the following questions. 
@)= 	ef}r/ k/LIf0f eGgfn] s] a'lemG5 < gubL lstfasf] k|flKt kIfsf] ef}r/ k/LIf0f af/] k|sfz 

kfg'{xf];\ . 

	 What do you understand by vouching?  Explain the vouching of receipts side of 
cash book.

					     cyjf

	 ef}r/ eGgfn] s] a'lemG5 < lgDglnlvt sf/f]af/x¿sf] ef}r/ k/LIf0f tkfO{+ s;/L ug'{x'G5 <

	 -s_ C0fdf Aofh

	 -v_ las|Lsf nflu 7]Ssfdf k7fOPsf] ;fdfg

	 What do you understand by voucher ? How would you vouch the following 
transactions.

	 (i) Interest on loan
	 (ii) Goods sent on consignment
@!= 	n]vfk/LIf0f k|ltj]bg tof/ ubf{ ;dfj]z ug'{kg{] cfjZos tŒjx¿af/] ljZn]if0f ug'{xf];\ . 
	 Expain the important factors that should be considered while preparing audit 

report.
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@@= 	lgGglnlvt ;Gt'ng k/LIf0f / ;dfof]hgsf cfwf/df r}q d;fGt @)&% df cf/ Pg OG6/k|fOh]h 
sf] Jofkf/ vftf, gfkmf gf]S;fg vftf / jf;nft tof/ ug'{xf];\ . 

	 Prepare Trading account, Profit and loss account and Balance sheet on the basis 
of trial balance and adjustments of RN enterprises.

ljj/0f  Particulars vf=kf=g+= LF 8]lj6 -/sd_ Debit 
Rs.

qm]l86 -/sd_ Cred-
it Rs.

;'? df}Hbft Opening Stock

vl/b Purchase

las|L lkmtf{ Sales Return

tna Salary

d]l;g tyf cf}hf/ Machinery And Equip-
ment

cf;fdL Debtor

Aofh vr{ Interest Expenses

kfpg afFsL cfDbfgL Income Receivable

Hofnf Wages

5'6 vr{ Discount Allowed 

n]vfk/LIf0f z'Ns Audit Fee

k'FhL Capital

;fx' Creditor

las|L Sales
sld;g cfDbfgL Commission Income

C0f Loan

k|fKt 5'6 Discount Received
vl/b lkmtf{ Purchase Return
ltg{ afFsL lan Bills Payable
a}ª\s cw{ljsif{ Bank Overdraft

!),)))

*%,)))

!%,)))

#),)))

&),)))

%))))

@))))

@%,)))

#),)))

#,)))

!),)))

!,)),)))

^),)))

!,)),)))

#%,)))

#),)))

#,)))

%,)))

%,)))

!),)))

s'n Total #,$*,))) #,$*,)))
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;dfof]hg 

Adjustment
clGtd df}Gbft ?= @),))) 

Closing Stock of Rs. 20,000.
d]l;g tyf cf}hf/df @)Ü x|f; s6\6L u/Lof] . 

Depreciation on Machinery and Equipment is 20%.
Hofnf ltg{ afFsL ?= !),))) 

Wages Payable of Rs.10,000.
clu|d tna e'StfgL ? %,))) 

Advance Salary paid of Rs.5,000.
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jftfj/0f lj1fg
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k|Zgsf k|sf/x¿

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg -ldg]6_ k"0ff{ª\s

clt ;ª\lIfKt k|Zg !! @) !!×! = !!

5f]6f] pQ/ cfpg] k|Zg * &@ *×% = $)

Nffdf] pQ/ cfpg] k|Zg # $# #×* = @$

hDdf @@ @ 3G6f !% ldg]6 &%

b|i6Jo M
;a} k|Zg clgjfo{ x'g] 5g\  . 

Nffdf] pQ/fTds k|ZgdWo] jftfj/0f k|b"if0f PsfOaf6 cyjf k|Zg (Or question) ;f]lwg] 5 .

5f]6f] pQ/fTds k|Zgx¿dWo] jftfj/0f / hg:jf:Yo tyf  kfl/l:ylts lj1fg / kfl/l:ylts 

k|0ffnL PsfOaf6 cyjf k|Zg (Or question_ ;f]lwg] 5 .



71ljlzi6Ls/0f tflnsf

dfWolds lzIff k/LIff
gd'gf k|Zgkq 

ljifo M jftfj/0f lj1fg                  

k"0ff{ª\s M &%                 				    ;do M @ 3G6f !% ldg]6

;d"x s Group ‘A'
Tfnsf k|Zgsf] clt 5f]6f] pQ/ lbg'xf];\ M  				    !× !!Ö!!
Write very short answers to the following questions. 
!= 	 :jR5 hnLo kfl/l:ylts k|0ffnLsf] b'O{cf]6f gfd n]Vg'xf];\ . 
	 Name two freshwater ecosystems.
@= 	 k/:yfgLo ;+/If0f eg]sf] s] xf] <  

	 What is an ex-situ conservation?
#= 	 h}ljs ljljwtf ;+/If0fsf] s'g} Ps dxŒj n]Vg'xf];\ . 

	 Write any one importance of biodiversity conservation.
$= 	 ljB'tLo kmf]xf]/ eg]sf] s] xf] < 

	 What is an electronic waste?
%= 	 Dffgj :jf:Yodf ljiffSt kmf]x/d}nfn] k'¥ofpg] s'g} Ps c;/ n]Vg'xf];\ .
	 Write one effect of hazardous waste on human health.
^= 	 /fli6«o cg's"ng sfo{j|mdsf s'g} b'O{cf]6f ljifout sfo{If]qx¿ pNn]v ug'{xf];\ . 
	 Name any two working area of the National Adaptation Programof Action. 
&= 	 hnjfo' ;dfg's"ngsf nflu /}yfg] 1fg / l;ksf] s'g} b'O{ k|of]u n]Vg'xf];\ . 
	 Write two applications regarding to indigenous knowledge and skills for climate 	

resilience.
*=  g]kfnsf] pmhf{If]qdf ;~rfngdf /x]sf s'g} b'O{ pmhf{ k|ljlwx¿sf] gfd n]Vg'xf];\ .
	 Write the name of any two technologies used in energy sector of Nepal.
(=  jftfj/0fd}qL sfo{:ynsf] nflu e]lG6n];g cfjZos kg'{sf] Pp6f sf/0f n]Vg'xf];\ .
	 Write any one cause of using the ventilation for eco-friendly work place.
!)=	 ljkt\ eg]sf] s] xf] < 

	 What is disaster?
!!= 	/fd;f/ ;"rLdf k/]sf g]kfnsf b'O{cf]6f l;d;f/x¿sf] gfd pNn]v ug'{xf];\ .
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	 Mention any two wetlands enlisted in Ramsar list.

;d"x v Group ‘B'
Tfnsf k|Zgsf] clt 5f]6f] pQ/ lbg'xf];\ M   		  *× %Ö $)
Write short answers to the following questions.

!@=	 jftfj/0fLo ;d:of pTkGg x'gsf s'g} kfFrcf]6f sf/0fx¿sf] 5f]6s/Ldf j0f{g ug'{xf];\ .
	 Describe briefly about any five causes of environmental causes.
!#= 	l;d;f/ kfl/l:ylts k|0fflnsf s'g} kfFr dxŒjx¿ 5f]6s/Ldf j0f{g ug'{xf];\ .
 	 Describe briefly about any five importance of wetland ecosystem.

cyjf

	 pmi0f jg kfl/l:ylts k|0ffnLsf s'g} ;d:ofx¿sf] 5f]6s/Ldf j0f{g ug'{xf];\ .
 	 Describe briefly about any five problems of tropical forest ecosystem.
!$= 	/}yfg] 1fg tyf l;kx¿sf] ;+/If0fn] ubf{ hnjfo' l;lh{t k|sf]kx¿af6 s;/L aRg ;lsG5 < 

pkfox¿ 5f]6s/Ldf j0f{g ug'{xf];\ .
	 How doesthe conservation of indigenous knowledge and skills prevent us from 

climate induced disasters? Describe preventive measures in brief.
!%=  5f]6f] l6Kk0fL n]Vg'xf];\ M 
	 Write short notes on;
	 -s_ afof]UofF; (Biogas) -v_ n3' hnljB't\ (micro hydropower)
!^= 	s[lif ljsf; / cf}Bf]lus If]qsf] lbuf] ljsf;sf nflu kfFrkfFrcf]6f jftfj/0fd}qL pkfox¿ 

pNn]v ug'{xf];\ .
	 Mentionfive/five environment friendly approaches for sustainable development 

of agriculture and industrial sector.
!&= 	xfd|f] /fi6«sf] bL3{sfnLg ljsf;sf nflu lbuf] ljsf;sf] cjwf/0ffnfO{ lsg Ps pQd ;+oGqsf 

¿kdf lnOPsf] 5 < s'g} kfFr ts{x¿ k|:t't ug{‘xf];\ . 
	 Why the concept of sustainable development is taken as one of the best instru-

ments for developing our country in long run? Present five logical points. 
!*= 	Jfftfj/0f / hg:jf:Yosf] cWoogkl5 tkfO{F cfkm\gf] :yfgLo ;d'bfosf] :jf:YonfO{ ;Gt'ngdf 

/fVg s] ug'{x'G5 < s'g} kfFr pkfox¿ klxrfg ug'{xf];\ .
	 After studying Environment and Public Health, how will you able to maintain 

the health of local people? Identify any five measures.
cyjf 
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Jfftfj/0f d}qL sfo{:yn ;'lglZrt ug{ s] ug'{knf{ < s'g} kfFr pkfox¿ klxrfg ug'{xf];\ .
	 What should be done to ensure environment friendly work place? Identify any 

five ways.
!(= 	ljkb\ x'g] sf/0fx¿nfO{ yfxf kfpFbf o;sf] ;xh tl/sfn] JoJf:yfkg ug{ ;lsG5 . ts{;lxt 

k|:6 kfg'{xf];\ .
	 “After knowing about the causes of disaster, it will be easy to manage it.” Clar-

ify with logic.

;d"x u ‘Group C'

Tfnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M   				    #× *Ö@$
Write Long answers to the following questions. 
@)= 	h}ljs ljljwtf ;+/If0fsf] nflu k/Dk/fut 1fg / l;ksf] k|of]u s;/L ug{ ;lsG5 < s'g} 

rf/cf]6f tl/sfx¿sf] JofVof ug'{xf];\ .
	 How does indigenous knowledge and skills be applied to conserve biodiversity? 

Explain any four ways.
@!=	 ljB'tLo ljiffSt kmf]xf]/n] jftfj/0fdf s:tf] c;/ k'¥ofpF5 < g]kfndf o; lsl;dsf] c;/af6 

aRg ;lsg] pkfox¿ ;DaGwdf ;'emfj lbg'xf];\ .
	 How does electronic hazardous waste affect the environment? Suggest pre-

ventive measures from this type of effect in Nepal.
cyjf

	 ljiffSt kmf]xf]/d}nfsf] Joj:yfkg tyf /]l8of]wdL{ k|b"if0f lgoGq0f ug]{ rf/ rf/cf]6f Jofjxfl/s 
pkfox¿ k|:t't ug'{xf];\ .

	 Present 4/4 behavioral ways to manage hazardous wastes and control radiation 
pollution.

@@= 	Jfftfj/0f ;+/If0fdf ePsf /fli6«o tyf cGt/f{li6«o k|of;x¿sf] 5f]6s/Ldf JofVof ug'{xf];\ .
	 Explain the national and international efforts for conservation of environment in 

brief.
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lj1fg
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ljlzi6Ls/0f tflnsf, @)&^

;}4flGts d"Nofª\sg

Subject:  Science (Optional)
Full Marks :  75                						      Time: 2.15 
Hours	
S.N. Area Topics K U A H.A Remarks

1 Physics 

1 Force 

5×1 4×2 2×3 1×4 23

2 Pressure
3 Energy
4 Heat
5 Light 
6 Electricity and magnetism

2
Chemistry

7 Atomic Structure

5×1 4×2 2×3 1×4 23

8 Periodic table and Periodic law
9 Chemical Bonding
10 Electro chemistry
11 Organic chemistry
12 Metallurgy

3
Biology 

13 Microbiology

5×1 4×2 2×3 1×4 23

14 Cytology
15 Living beings and life process
16 Evolution and Genetics
17 Ecology
18 Behavioral science

4 Geology & 
Astronomy 

19 Earth
20 Universe

Total questions 16 13 7 3 39
Total Marks 16 26 21 12 75

Note :
K = Knowledge
U = Comprehension/Understanding
A = Application 

	 H.A = Higher ability (Analysis, Evaluation and Creation)
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Secondary Education Exam
Model Question

Subject: Optional Science                                                                  
Time: 2 hrs. 15 minutes                  					     Full Marks: 75                                                                     
Candidates are required to show creativity in the answers wherever applicable. The 
figures in the margin indicates full marks.	

Group ‘A'                                                           
Answer the following questions in very short.			   16×1=16
a.	 State Hooke's law.
b.	 Write down any two gases which are primarily present in biogas.
c.	 State principle of calorimetry.
d.	 Define power of lens.
e.	 What is electromagnetic induction? 
f.	 Write down the value of Avogadro's number. 
g.	 Define Ionization potential. 
h.	 What is the value of ionic product of water(Kw) at 25 degree Celsius?
i.	 What are nucleophiles? 
j.	 Write two chief ores of aluminium. 
k.	 Which two monosaccharide do lactose contain? 
l.	 Which enzyme converts protein	 into peptones?
m.	 Write any two examples of sex linked diseases.
n.	 What is biogeochemical cycle? 
o.	 Name the organ that cannot be transplanted till now. 
p.	 Write any two examples of fossils preserved in Natural History Museum (NHM) 

of Nepal.	
Group ‘B'

Answer the Following questions in short.			   13×2=26
1.	 Write any two differences between centrifugal force and centripetal force.
2.	 A sewing needle placed carefully on the water floats even though its density is 

higher than the density of water. Why?  
3.	 Latent heat of vaporization of water is 22.5 x 105 joules per kg. What does it 

mean?
4.	 Distinguish between the nature of image formed by the eye lens and objectivel-
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ens of telescope.
5.	 Write any two differences between sigma and pi bonds. 
6.	 How can we reduce hyperacidity? Describe.
7.	 Which rules govern the given reactions? State the rules too.

CH3-CH2-CH2 –CH2-CHBr–CH3 → CH3-CH2-CH=CH-CH3
 (ii) CH3-CH=CH2  +  HBr →  CH3-CHBr-CH3

8.	 Write down the balanced chemical reaction of gold with aquaregia.
9.	 Why should athletes, labourers,	 etc. need high carbohydrate in their diet? 
10.	Compare monocot and dicot stem with any two points.
11.	“All hormones are chemical signals.” Give reason.
12.	Write short note on biological nitrogen fixation.
13.	The average half-life of radioactive carbon (6C

14) is 5735 years. What does it 
mean?

Group ‘C'
Answer the Following questions.				    7×3=21
14.	The mass of the Earth is 6.0 × 1024 kg and its radius is 6.4 x 106 m. Find the grav-

itational field intensity at a point on its surface. What is the weight of a body of 
mass 100 kg on its surface? (G = 6.67 x  10-11 Nm2/kg2)

15.	How is biogas produced? Explain with diagram.
16.	 Calculate the molecular mass of Ammonium carbonate and Calcium Carbonate.
17.	Explain the formation of sodium chloride molecule with the help of diagram.
18.	Draw the internal structure of monocot stem and label the parts hypodermis and 

metaxylem.
19.	Explain the process of determining blood group with diagram.
20.	How planetarium is formed the images of the stars?



78ljlzi6Ls/0f tflnsf

Group ‘D'
	 Answer the Following long question		  4×3=12
21.	 Wind up an insulated copper wire in the match 

box as shown in the figure. Connect two ends 
of the wire with a galvanometer and move a 
powerful bar magnet in and out of a match 
box very quickly.According to this activity 
answer the following questions.

i.	 On which principle does the above activity 
work?

ii.	 What happens in the needle of galvanometer when the magnet is inserted inside 
the match box? What happens in the needle of galvanometer when the magnet is 
taken out from the match box?

iii.	 At which conditions the needle of galvanometer comes in rest and deflects fast? 
22.	  Hydrogen can be placed in group IA along with the alkali metals and in group 

VIIA   along with the halogens. Justify its position with two points each.
23.	 A homozygous plant having round seed and inflated pods is first cross pollinate 

with a homozygous plant having wrinkled seed and constricted pods and then 
self pollinate. What result will be obtained in second generation? Show your 
result up to F2 generation indicating the phenotype and genotype ration in chart.
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:jf:Yo tyf zf/Ll/s 
lzIff



 
 
 

ljifoM :jf:Yo tyf zf/Ll/s lzIff 

ljlzi6Ls/0f tflnsf, @)&^ 

;}4flGts d"Nofª\sg 

k"0f{fª\sM %) ;doM ! 306f #) ldg]6 
 

PsfO If]q÷PsfO Kff7\oef/ 1fg Aff]w k|of]u pRr bIftf hDdf k|Zg 
clt 
5f]6f] 

5f]6f] nfdf] clt 
5f]6f] 

5f]6f] nfdf] clt 
5f]6f] 

5f]6f] nfdf] clt 
5f]6f] 

5f]6f] nfdf] clt 
5f]6f] 

5f]6f] nfdf] 

! स्वास्थ्य प्रवधर्न र मान�सक 
स्वास्थ्य  

10T !    !        ! !  

@ dfgj z/L/ ;+/rgf / ls|of lj1fg 15 T + 5 P !           ! !  ! 
# a[xt\ of}lgstf lzIff 15T !    !  !      @ !  

$ ljBfno :j:Yo ;]jf / 
समुदाय सहयोग  

10 T + 5 P    !    !  !   @ !  

% /f]u 15T       !     ! !  ! 
^ पोषण र  :j:Yo 10 T + 5 P       !    !  ! !  

& v]n lj1fg 10T  !  !         ! !  

* sjfh tyf zf/Ll/s Jofofd 10P                

( Pyn]l6S; 20P                

!) v]nx¿ 30P                

!! of]u 10 P                
 hDdf 85T + 85P # !  @ !  # !  ! ! @ ( % @ 
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k|Zgsf k|sf/x¿

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg k"0ff{ª\s

clt ;ª\lIfKt k|Zg ( !% ldg]6 (
5f]6f] pQ/ cfpg] k|Zg % $% ldg]6 @%
Nffdf] pQ/ cfpg] k|Zg @ @( ldg]6 !^
hDdf !^ ! 306f #) ldg]6 %)
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dfWolds lzIff k/LIff
gd'gf k|Zgkq

ljifo M :jf:Yo tyf zf/Ll/s lzIff		

k"0ff{ª\s M %)                                           ;do M ! 3G6f #) ldg]6 	
					     ;d"x s (Group ‘A')

tnsf k|Zgx¿sf] Ps jfSodf pQ/ lbg'xf];\ M			   !×(=(
Give very short answer of the following questions.
!= 	 JolStsf] :jf:YonfO{ k|jw{g ug]{ s'g} Pp6f tl/sf n]Vg'xf];\ .   

	 Write any one technique of promotion of individual health(U)
@= 	 lk6\o'6/L ulGyn] pTkfbg ug]{ s'g} Pp6f xdf]{gsf] gfd pNn]v ug'{‘xf];\ .  

	 Mention any one hormone produced by pituitary gland?(K)
#= 	 lduf{}nf :j:y /fVg] d'Vo pkfo kQf nufpg'xf];\ .  

	 Identify the main preventive measure to keep kidneys healthy?(A)
$= 	 c;'/lIft of}gJojxf/sf] s'g} Pp6f pbfx/0f pNn]v ug'{xf];\ .

	 Write any one example of unsafe sexual behavior.(K)
%= 	 of}lgstf lzIffsf] s'g} Pp6f dxŒj n]Vg'xf];\ .

	 Write any one importance of sexuality education.(U)
^= 	 :jf:Yok"0f{ ljBfno jftfj/0fsf] s'g} Pp6f If]qsf] gfd pNn]v ug'{xf];\ .  

    	 Illustrate the name of any one aspect of healthful school environment.(K)
&= 	 ljBfnodf ;d'bfosf] ;xof]u a9fpg ckgfpg] s'g} Pp6f pkfo n]Vg'xf];\ .  

	 Write any one technique to increase community help in schools(U)
*= 	 dw'd]x /f]u nfUg] k|d'v sf/0f n]Vg'xf];\ .   

	 Write main cause of diabetes (K)
(= 	 bd /f]uaf6aRg] s'g} Pp6f d'Vo pkfo kQf nufpg'xf];\ <   

	 Identify the main preventive measure of asthma (A)

;d"x v Group ‘B'
tnsf k|Zgx¿sf] 5f]6f] pQ/ lbg'xf];\ M          			  %×%=@%
Give short answer of the following questions.
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!)= 	:jf:Yo lzIffsf] dfWodaf6 dfgl;s :jf:Yo ;'wf/ ug{ ;lsg] s'g} kFfrcf]6f tl/sfx¿ 
agfpg'xf]; . 

	 Describe any five techniques to promote mental health through health edu-
cation(K)

!!= 	 s;/L a[xt\ of}lgstf lzIffsf dfWodaf6 of}glx+;fnfO x6fpg ;lsG5 < 

	 How can we prevent sexual violence through comprehensive sexuality education? (A)

!@= “;d'bfo ;xof]un] ljBfno :jf:Yo lzIff sfo{s|dnfO{ ;kmn kfg{ ;lsG5ˮ k'li6 ug'{xf];\ .    
	 “Can community cooperation help the success of school health programeˮ 

justify it. HA
!#= 	 d'6';Fu ;DjlGwt /f]ux¿ a9b} hfg'df jt{dfg ;fdflhs / dfgl;s kIf lhDd]jf/ 5g\ . 

o;sf sf/0fx¿ klxrfg ug'{xf];\  .  

	 Identify and describe social and mental factors related to heart diseases.(A)
						      cyjf

	 cj'{b /f]u  eg]sf] s] xf] < s'gs'g sf/0fn] of] /f]u nfUb5 / o;af6 aRgsf nflu s] s:tf  
pkfox¿ ckgfpg'kb{5 . 

	 What is cancer? what are its causes and what are the preventive measure for 
it.(A)

!$= 	v]n dgf]lj1fgsf] eg]sf] s] xf] < o;sf s'g} tLgcf]6f dxŒjx¿ n]Vg'xf]; . 

	 What is sports psychology? write down any three importance of it.(U)

;d"x u Group ‘C'
tnsf k|Zgx¿sf] nfdf] pQ/ lbg'xf];\ M                	 @×*=!^                   
Give long answer of the following questions.

!%=	 dlxnf k|hgg cª\usf] ;kmf lrq agfO{ o;sf efux¿sf] gfdfª\sg ug'{xf];\ / dlxnf k|hgg 
k|0ffnL :j:y /fVg] Jofjxfl/s tl/sf 5nkmn ug'{xf];\ . 

	 Skech the figure of female reproductive organ with labled diagram and discuss 
behevaurial techniques of keeping female reproductive organ healthy.(U)

					     cyjf

	 lduf}{nfsf] ;kmf lrq agfO{ o;sf efux¿sf] gfdª\sg ug'{xf];\ / lduf}{nf :j:y /fVg] tl/sf 
pbfx/0f;lxt JofVof ug'{xf];\ . 

 	 Skech the figure of kidney with labled diagram and discuss behevaurial tech-
niques of keeping kidney healthy.(U)
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!^=	 s'kf]if0fsf] cy{ atfpg'xf];\ . s'kf]if0faf6 ;'/lIft /xgsf nflu cfkm\gf] ;dfhdf pknJw 
vfg]s'/fx¿sf] dfWodaf6 ;Gt'lnt ef]hgsf] kof{Kttf jf ckof{Kttf ljZn]if0f ug'{xf];\ . 

	 Explain the meaning of mal-nutrition.Analysethe sufficiency or insufficiency of 
balanced diet on available foods for the prevention of malnutrition in your soci-
ety.(HA)
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dfWolds lzIff k/LIff

gd'gf k|Zgkq

ljifo M lzIff

k"0ff{ª\sM &%							       ;doM@ 3G6f !% ldg]6

;d"x s Group ‘A'
tnsf k|Zgx¿sf] clt 5f]6f] pQ/ lbg'xf];\ M               !! ×! =!!
Give very short answer to the following questions.		
!= 	 kqfrf/ lzIff eg]sf] s] xf] <

   	 What is correspondence education?

@= 	 cf}krfl/s / cgf}krfl/s lzIfflar s'g} Ps km/s n]Vg'xf];\ .

   	 Write any one difference between formal and Non-formal education.

#= 	 /f0ffsfndf ePsf s'g} b'O{ z}lIfs k|of;x¿ n]Vg'xf];\ .

	 Write any two educational efforts made in Rana Period.

$= 	 lzIf0f l;sfOdf kf7\oj|mdsf] k|of]u ug'{sf] d'Vo b'O{ sf/0fx¿ n]Vg'xf];\ .

	 Write two main causes of using curriculum for teaching learning.

%+ 	 lzIf0f ;fdu|Lsf] s'g} b'O{ dxŒj n]Vg'xf];\ .

   	 List out any two importance of teaching materials.

^= 	 c;n lzIfsdf x'g'kg]{ s'g} b'O{cf]6f k];fut u'0f n]Vg'xf];\ .

	 Mention any two professional qualities of a good teacher.

&= 	 lzIfsdf l;sfO k|lj|mofsf] 1fgsf] h?/t lsg kb{5 <

	 Why is learning process necessary for teacher?

*= 	 ufpF÷gu/ lzIff ;ldlt u7g x'g'sf] d'Vo sf/0f s] xf] <

	 What is the main cause of forming the Village/Metropolitan Education Com-
mittee?

(= 	 ;d'bfodf cfwfl/t ;+:yfn] lzIffsf] ljsf;df v]Ng] d'Vo e"ldsf n]Vg'xf];\ .
	 What is the main role of Community Based Organization in education develop-

ment?
!)= 	ljBfno If]q ljsf; of]hgf Nofpg'sf] d'Vo b'O{ sf/0fx¿ pNn]v ug'{xf];\ .
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	 Mention two main reasons for bringing the School Sector Development Plan.
!!= 	 cfwf/e"t tyf k|fylds lzIff sfo{j|md bf];|f]sf s'g} b'O{ p2]Zox¿ pNn]v ug'{xf];\ .
	 (Mention any two objectives of Basic and Primary Education Program-BPEP II)

;d"x v Group ‘B'

tnsf k|Zgsf] 5f]6f] pQ/ lbg'xf];\ M				   * × % = $)

Give short answer of the following questions.
!@= 	 lj=;+=@))& b]lv @)@& ;Ddsf] lzIffdf ePsf s'g} !) cf]6f k|of;x¿ pNn]v ug'{xf];\ .
	 Mention any ten efforts regarding the educational development from 2007 to 

2027.
!#= 	 kf7\oj|md / kf7\ok':tsljrsf] ;DaGwnfO{ k|d'v kfFr a'Fbfdf k|:6 kfg'{xf];\ .
	 Clarify the relation between curriculum and text book in five points.
!$= 	s'g} b'O{cf]6f cfw'lgs z}lIfs ;fdu|Lsf] k|of]u ug]{ tl/sf n]Vg'xf];\ .
	 Write the procedures of using any two modern educational aids.
!%= 	xflh/L hjfkm k|ltof]lutf s;/L u/fpg'x'G5 < n]Vg'xf];\ .
  	  How do you conduct a quiz contest ?
!^= 	sIffdf pTk|]/0ff a9fpg] s'g} kfFrcf]6f pkfox¿nfO{ 5f]6s/Ldf j0f{g ug'{xf];\ .
	 Describe any five ways to increase motivation in the classroom.
!&= 	 lzIfs tflndnfO{ k|efjsf/L ¿kdf k|of]u ug]{ tl/sfx¿ n]Vg'xf];\ .
	 Write the ways to use teacher training in effective way.

cyjf 

	 lzIf0f cWofkg cg'dltkqsf] k|of]u s]sf nflu ul/G5 < n]Vg'xf];\ .
	 For what purpose is teaching license used ?
!*= 	sIffsf]7fdf ;dfj]zL lzIff lsg cfjZos k5{ < pNn]v ug'{xf];\ .
	 Why is inclusive education necessary in the classroom?Mention.
!(= 	kf7\oj|md ljsf; s]Gb|n] ug]{ s'g} kfFr sfo{x¿nfO{ 5f]6s/Ldf j0f{g ug'{xf];\ .
	 Describe any five functions of Curriculum Development Centre in brief.

cyjf 

lzIff tyf dfgj;|f]t ljsf; s]Gb|n] ug]{ s'g} kfFr sfo{x¿nfO{ 5f]6s/Ldf j0f{g ug'{xf];\ .
	 Describe any five functions of Centre for Education and Human Resource De-

velopment in brief.
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;d"x u Group ‘C'  
tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M					     #×*=@$

Give long answer of the following questions.

@)= 	pQ/afNofj:yfdf b]lvg] gsf/fTds Jojxf/nfO{ s;/L Joj:yfkg ug{ ;lsG5 < pbfx/0f;lxt 
JofVof ug'{xf];\ .

	 How can negative behavior in the late childhoodbe managed ? Specify with an 
example.

@!= 	 sIff kfFr sf] g]kfnL ljifosf] s'g} Pp6f kf7df cfwfl/t Ps 3G6Lsf nflu Pp6f kf7of]hgf 
agfpg'xf];\ .

	 Make a lesson planbased on one ofthe lessonsof Grade 5 in Nepali.

@@‍= 	 ljifout / j:t'ut k|Zglar s'g} kfFrcf]6f cfwf/df km/s 5'6\ofpg'xf];\ . k|efjsf/L ¿kdf 
k/LIff clen]vLs/0f ug'{kg]{ s'g} tLg sf/0fx¿ klxrfg ug'{xf];\ .

	 Write any five differences between subjective and objective question.

	 Identify any three reasons to test record keeping effectively.

cyjf 

	 k|Zgkq lgdf{0f ubf{ ckgfpg'kg]{ cfwf/x¿ JofVof ug'{xf];\ .

	 Explain the criteria of test item construction.
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;dfhzf:q
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k|Zgsf k|sf/x¿

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg k"0ff{ª\s

clt ;ª\lIfKt k|Zg !! !% ldg]6 !!

5f]6f pQ/ cfpg] k|Zg * ! 306f !% ldg]6 $)

Nffdf] pQ/ cfpg] k|Zg # $% ldg]6 @$

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg k"0ff{ª\s

b|i6AoM

;a} k|Zg clgjfo{ x'g] 5g\  t/ Pp6} k|Zgdf ljsNk lbg ;lsg] 5 .
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dfWolds lzIff k/LIff
gd'gf k|Zgkq

ljifo M ;dfhzf:q

k"0ff{ª\s M &%                                           ;do M @ 3G6f !% ldg]6 

					     ;d"x s Group ‘A'
tnsf k|Zgsf] Ps jfSodf pQ/ lbg'xf];\ M			   !!×!=!!
Give answer of the following question in one sentence.

!=	 ;dfhzf:q eg]sf] s] xf] < Ps jfSodf n]Vg'xf]; .

	 What is sociology? Define in a sentence. (K)
@= 	 kz'kfns ;dfhsf] ;fdflhs lhjg emNsfpg] Ps kf]:6/ tof/ ug'{xf];\

	 Prepare a postar to reflect the social life of pastoral society.(A)
#=	 k|s[ltdf lge{/ hLjg k4lt eGgfn] tkfO{F s] a'em\g'x'G5 < n]Vg'xf];\  . 
	 How do you understand nature dependent life system? Write.(U)
$=	 lzsf/L ;dfh / cf}Bf]lus ;dfhlarsf] s'g} Ps leGgtf n]Vg'xf];\ . 
	 Write a difference between a hunting society and an industrial society? (HA)
%=	 dWosfnLg g]kfnL ;dfh eGgfn] s'g cjlwnfO{ hgfpF5 <
	 Which period is indicated by the medieval Nepalese society?(K)
^=	 e"ld;'wf/ P]gn] g]kfnsf] ;fdflhs cfly{s cj:yfdf kf/]sf] k|efjnfO{ s;/L d"Nofª\sg ug'{xf];\

	 How do you evaluae the impact of land roform act in the socio-econocic life of 
condition of Nepal? Write in a senterce. (HA)

&=	 n}ª\lus :t/Ls/0fn] tkfO{Fsf] ;dfhdf kf/]sf] k|d'v k|efj Ps jfSodf n]Vg'xf];\ .
	 Write, in a sentence, the significant impact of gender stratification in your society?(U)

*=	 dflg; s;/L s'ntdf km:5 < Ps sf/0f n]Vg'xf];\ .

	 How does a person fall into addicttion? Give a reason.(U)
(=	 tkfO{Fsf] ;dfhaf6 afndhb'/ pGd"ng ug{ ;xof]u k'¥ofpg] r]tgfd"ns gf/f n]lvPsf] Kn]sf8{ 

tof/ kfg'{xf];\ . 

	 Prepare a comparatively informative poster that could help eradicate the child 
labor from your society.(A)

!)=	 jt{dfg g]kfnL ;dfh ¿kfGt/0fsf lglDt ;'rgf k|ljlwsf ;fwgx¿nfO{ s;/L k|of]u ug{ 
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;lsG5 < Ps jfSodf n]Vg'xf];\ .

	 How can we use the means of information to transform the present society? 
Write in a sentence.(K)

!!= 	olb tkfO{ cfkm\gf] j8f cWoIfnfO{ e]6\g'eof] eg] tkfO{+sf] ;dfh kl/jt{g k|ls|of;DaGwL s] k|Zg 
;f]Wg'x'G5 < Ps gd'gf k|Zg tof/ ug'{xf];\ . 

	 If you meet the chairperson of your ward, what type of question would you 
asked about the changing process of your society. (HA)

					     ;d"x v Group ‘B'
tnsf k|Zgsf] 5f]6f] pQ/ pQ/ lbg'xf];\ M                                  *×%Ö$)

Give short answer of the following questions		
!@=	 af}l4s hfu/0fn] ;dfhzf:q ljifosf] ljsf;df k'¥ofPsf] of]ubfg 5f]6s/Ldf pNn]v ug'{xf];\ . 

	 Write in brief about the contribution of intellectual movement  to develop the 
Sociology subject.) (K)

!#=	 vf]l/of afnL nufpg] ;dfhdf cfly{s, ;fdflhs tyf g]t[Tj ljsf;sf] yfngL ePsf] dflgG5, 
s;/L < cfkm\gf] ljrf/ n]Vg'xf];\ . 

	 ‘The trend of economic, social and leadership growth started in a slash and burn 
agricultural society.' Give your opinion.(U)				  

					     cyjf

	 cf}Bf]lus ;dfhsf] kfFrcf]6f ;sf/fTds kIfx¿sf] rf{ ug'{xf];\  .
	 State the five positive aspects of industrial society.
!$=	 ;dfhsf] ljsf;s|dnfO{ s'g} Ps ljz]iftf;lxt ;do/]vfdf b]vfpg'xf];\ . 

	 Prepare a time line to show the development stage of society of with any one 
feature. (A)

!%=	 g]kfnL ;dfhsf s'g} kfFrcf]6f ljz]iftfx¿sf] 5f]6s/Ldf pNn]v ug'{xf];\ . 

	 Briefly write any five characteristics of a Nepali society.(K)
!^=	 lj=;+= @)$^ kl5 g]kfnL ;dfhn] k|fKt u/]sf dxŒjk"0f{ /fhgLlts tyf ;fdflhs pknlAwx¿nfO{ 

;d]6L Ps k|ltj]bg tof/ ug'{xf];\ .

	 Prepare a report by including the major social and political achievement of Nepal 
after 2046 B.S.(A) 

!&=	 ;dfhdf JofKt /x]sf] n}ª\lus lje]b cGTo ug{sf nflu /fli6«o klqsfdf 5flkg] u/L Pp6f n]v 
n]Vg'xf];\ . 
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	 Write an article for a national newspaper on eradication of the existing gender 
discrimination of the society. (H.A)

!*=	 dfgf}F tkfO{F s'g} Ps k|b]zsf] ;ef;b x'g'x'G5 . To; k|b]zsf] ;fdflhs ;d:ofx¿ lg/fs/0fsf 
lglDt tkfO{Fn] s] s:tf pkfox¿ cjnDag ug'{x'G5 < of]hgf k|:t't ug'{xf];\ . 

	 Suppose you are a member of a provincial assembly. What types of strategies will 
you implement to solve the social problem of your province? Prepare a plan.(H.A)

!(=	 ;d[l4sf] kl/rolbO{ ;dfh ;d[l4sf] lglDt cfjZos kg]{ s'g} rf/ kl/;"rsx¿sf] af/]df 
5f]6s/Ldf n]Vg'xf];\ . 

	 Introduce prosperity, and briefly write about any four indicators required for the 
prosperity of a society.(K)		  	

						      cyjf

	 g]kfnL ;dfhsf] j}jflxs k/Dk/fdf cfPsf ;fdflhs kl/jt{gsf kIfx¿nfO{ kfFr a'Fbfdf k|:6 
kfg'{xf];\ .

	 Clearify the social changes occuring in marrige system of Nepal in five points

						      ;d"x s Group ‘C'
tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M					    *×#=@$
Give Long Answer of the following Questions	
@!=	 g]kfndf ;dfhzf:q ljifosf] P]ltxfl;s ljsf;j|mdsf] ;DaGwdf rrf{ ug'{xf];\ . 

	 Write about the historical development process of sociology in Nepal.)(K)
@@=	 g]kfnsf ;+3Lo k|0ffnLnfO{ lbuf] agfpg /fHo / gful/sn] v]Ng'kg]{ e"ldsf s] s] x'g\ < cfkm\gf] 

ljrf/ n]Vg'xf];\ . 

	 What could be the role of an individual and the state to materialize the federalism 
in Nepal.(U)				  

						      cyjf

	 g]kfnL ;dfhsf] wfld{s, ;f+:s[lts ljljwtfn] g]kfnL hghLjgdf kf/]sf] k|efj j0f{g ug'{xf];\ .
	 Explain the impacts of the religions and cultural diversity in the life style of Nep-

alese people.
@#=	 ljsf;sf ;fdflhs ;"rsx¿ n]vL ;dfhzf:qLx¿n] ljsf;sf] dfkgubf{ s:tf ;fdflhs 

;"rsx¿nfO{ Wofg lbg'knf{ < ;'emfj lbg'xf];\ . 

	 Write the social indicators of development and what types of social indicators need to be 
emphasized by the sociologist to measure the development?
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